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FOREWORD

Classes I and II are very important in school education. We consider them the
foundation. The learning by children at higher classes depends on skills of Language and
Mathematics they acquire at the primary stage. Children have some mathematical concepts
before they come to school. The learning of mathematics must be built on the foundation
of the concepts known to them.

Children use mathematics at every life situation. They estimate, calculate and compare
quantities in an informal way and in meaningful situations. With a view to bidding farwell to
rote learning and beginning to learn mathematics, textbooks for classes I and II were prepared.

Units have been prepared in such a manner that pupils construct knowledge through
investigation, observation and achieve mathematical concepts in accordance with the basic
principles laid down in National Curriculum Framework 2005 and Right to Education 2009.
Meaningful ‘Activities’ and ‘Exercises’ were included such that children understand
mathematical concepts and utilise their knowledge. Mathematical concepts were introduced
in each unit of this book beginning with events in pupil’s life, games they play and so on.
Activities and exercises ensure that pupils acquire skills like understanding concepts, solving
problems in a systematic way, thinking logically, expressing ideas in mathematical language
etc. The book contains a large number of pictures besides different situations and activities
to ensure proper understanding of concepts.

With an intention to help the students to improve their understanding skills in both
the languages i.e. English and Telugu, the Government of Telangana has redesigned this
book as bilingual textbook in two parts. Part-1 comprises 1 to 10 lessons and Part-2
comprises 11 to 19 lessons.

Learning mathematics is every child’s right. Children can achieve mastery over
numbers and the four mathematical operations by utilising these textbooks which have been
prepared to create interest for mathematics and to ensure learning with enthusiasm. The
requisite teaching-learning material should be prepared and ensure proper utilisation of
children’s learning time by organising teaching-learning processes. This is the first step
towards preparing the textbooks in the new system. We wish all the teachers will implement
this and ensure that pupils achieve the mathematical skills specified for classes I and II.

31-03-2011 Smt. B.Seshukumari
Hyderabad Director,

SCERT.,  Hyderabad.
Free Distribution by T.S.Government  2022-23
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bÕsƒ¡XÊ\ $<ä́ ˝À n‘·́ +‘· eTTK´yÓTÆq$ 1, 2 ‘·s¡>∑‘·T\T. M{Ïì |ü⁄Hê~>± uÛ≤$kÕÔ+. ÁbÕ<∏ä$Tø£

kÕúsTT˝À |æ\¢\T kÕ~Û+#˚ uÛ≤wü, >∑DÏ‘ê\ kÕeTsêú́ \ô|’qH˚ ô|’ ‘·s¡>∑‘·T\˝À nuÛÑ́ düq+ Ä<Ûës¡|ü&ç ñ

+≥T+~. ã&çøÏ sêø£eTT+<̊ |æ\¢\T >∑DÏ‘·|üs¡yÓTÆq uÛ≤eq\qT ø£*Zñ+{≤s¡T. á |ü⁄Hê<äT\ô|’qH̊ bÕsƒ¡XÊ\

>∑DÏ‘êuÛÑ́ düq+ ÁbÕs¡+uÛÑ+ ø±yê*.

|æ\¢\T >∑DÏ‘êìï ì‘·́  J$‘· dü+<äsê“¤\˝À n&ÉT>∑&ÉT>∑THê $ìjÓ÷–düTÔ+{≤s¡T.  nHÍ|ü#ê]ø£+>±

(informal) ns¡úe+‘·yÓTÆq düìïẙXÊ\ <ë«sê n+#·Hêẙj·T&É+, ̋ …øÏÿ+#·&É+, sêX̄ó\qT b˛\Ã&É+ e+{Ï$

#˚düTÔ+{≤s¡T. ã{°º $<ÛëHê\≈£î nr‘·+>± ns¡úe+‘·+>± >∑DÏ‘êuÛÑ́ düq+ ÁbÕs¡+uÛÑ+#˚j·T&ÜìøÏ M\T>±

1, 2 ‘·s¡>∑‘·T\  >∑DÏ‘· bÕsƒ¡́  |ü⁄düÔø±\qT s¡÷bı+~+#ês¡T.

NCF 2005 eTÚ[ø£dü÷Á‘ê\ Á|üø±s¡+ eT]j·TT RTE 2009 dü÷∫+∫q $<Ûä+>± nH˚«wüD,

|ü]o\q\<ë«sê >∑DÏ‘· uÛ≤eq\qT Á>∑Væ≤+#·&É+, ìsê∆]+#·&É+, kÕ<Ûës¡D°ø£]+#·&É+ <ë«sê C≤„q ìsêàD+

»]π>˝≤ j·T÷ì≥¢qT s¡÷bı+~+#ês¡T. |æ\¢\T >∑DÏ‘· uÛ≤eq\qT ns¡ú+#̊düTø√e&É+ <ë«sê á  C≤„Hêìï

$ìjÓ÷–+#·Tø=H˚ $<Ûä+>± nuÛ≤´kÕ\T, ø£è‘ê´\T bı+<äT|üsêÃs¡T. bÕsƒ¡́  |ü⁄düÔø±\˝Àì j·T÷ì≥¢qT

ì‘·́  J$‘· düìïy˚XÊ\T, Ä≥, bÕ≥ yÓTT<ä\>∑Tyê{Ï‘√ ÁbÕs¡+_Û+∫ >∑DÏ‘·uÛ≤eq\qT |ü]#·j·T+#˚XÊs¡T.

>∑DÏ‘· uÛ≤eq\T, |ü<ä∆‹ Á|üø±s¡+ düeTdǘ \qT kÕ~Û+#·&É+, ‘ê]ÿø£+>± Ä˝À∫+#·&É+, >∑DÏ‘· uÛ≤wü̋ À

e´ø°Ôø£]+#·&É+ e+{Ï kÕeTsêú́ \T ô|+bı+<̊˝≤ ø£è‘ê´\T, nuÛ≤´kÕ\T bı+<äT|üsêÃs¡T. bÕsƒ¡́  |ü⁄düÔø£+˝Àì

$$<Ûä düìïẙXÊ\T, ø£è‘ê´\‘√bÕ≥T, uÛ≤eq\qT ns¡ú+#̊düTø√e&ÜìøÏ M\T>± u§eTà\qT bı+<äT|üsêÃs¡T.

$<ë´s¡Tú\T ¬s+&ÉT uÛ≤wü\˝À nq>± ‘Ó\T>∑T eT]j·TT Ä+>∑¢ uÛ≤wü\˝À ne>±Vü≤q HÓ’|ü⁄D≤´\qT

ô|+bı+~+#·Tø√>∑\T>∑T‘ês¡H̊ ñ<̊›X̄´+‘√ ‘Ó\+>±D Á|üuÛÑT‘·«+ yê] Ä<̊XÊqTkÕs¡+>± ~«uÛ≤cÕ |ü⁄düÔø£+>±

¬s+&ÉT uÛ≤>±\T>± |ü⁄q:s¡÷|üø£\Œq #˚j·T&É+ »]–+~. uÛ≤>∑+`1˝À 1 qT+&ç 10 bÕsƒê\T eT]j·TT

uÛ≤>∑+`2˝À 11 qT+&ç 19 bÕsƒê\T ñHêïsTT.

>∑DÏ‘·+ H˚s¡TÃø√e&É+ |æ\¢\ Vü≤≈£îÿ. >∑DÏ‘·+ n+fÒ ÄdüøÏÔ ø£̋ ÒZ̋ ≤, ñ‘ê‡Vü≤+‘√ H˚s¡TÃø√&ÜìøÏ

M\T>± s¡÷bı+~+∫q á bÕsƒ¡́  |ü⁄düÔø±\qT $ìjÓ÷–+#·&É+ <ë«sê dü+K´\T, #·‘·T]«<Ûä Á|üÁøÏj·T\ô|’q

|æ\¢\T |ü≥Tº kÕ~Û+#·>∑\TZ‘ês¡T. Ç+<äT≈£î nedüs¡yÓTÆq kÕeTÁ–ì s¡÷bı+~+#·Tø=ì |æ\¢\ nuÛÑ́ düHê

düeTj·T+ dü~«ìjÓ÷>∑eTj˚T´˝≤ >∑DÏ‘· uÀ<ÛäHêuÛÑ́ düq Á|üÁøÏj·T\qT ìs¡«Væ≤+#ê*. q÷‘·q $<Ûëq+˝À

bÕsƒ¡́  |ü⁄düÔø£ s¡÷|üø£\Œq˝À Ç~ ˇø£ ‘=* n&ÉT>∑T. Bìì neT\T|üs¡∫ 1, 2 ‘·s¡>∑‘·T\≈£î ìπs∆•+∫q

>∑DÏ‘· kÕeTsê∆́ \qT kÕ~ÛkÕÔs¡ì n•düTÔHêï+.

‘̊B: 31`03`2011

düú\+ : ôV’≤<äsêu≤<äT.

dü+#ê\≈£î\T

sêh $<ä́ , |ü]XÀ<Ûäq, •ø£åD dü+düú, ôV’≤<äsêu≤<äT.
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Step Description
A. Use  Android mobile phone or tablet to view content linked to QR Code:
 1. Click on Play Store on your mobile/ tablet.
 2. In the search bar type DIKSHA.
 3.

will appear on your screen.
 4. Click Install
 5. After successful download and installation, Click Open
 6. Choose your prefered Language - Click English
 7. Click Continue
 8. Select Student/ Teacher (as the case may be) and Click on Continue
 9. On the top right, click on the QR code scanner icon  and scan a QR code

 printed in your book
OR

Click on the search icon  and type the code printed below the QR code, in the
search bar (        )

 10. A list of linked topics is displayed
 11. Click on any link to view the desired content
B.     Use Computer to view content linked to QR code:
 1. Go to https://diksha.gov.in/telangana
 2. Click on Explore DIKSHA-TELANGANA
 3. Enter the code printed below the QR code in the browser search bar (       )
 4. A list of linked topics is displayed
 5. Click on any link to view the desired content

Energized Text Books facilitate the students in understanding the concepts clearly, accurately and
effectively. Content in the QR Codes can be read with the help of any smart phone or can as well be
presented on the Screen with LCD projector/K-Yan projector. The content in the QR Codes is mostly in
the form of videos, animations and slides, and is an additional information to what is already there in the
text books.

This additional content will help the students understand the concepts clearly and will also help the
teachers in making their interaction with the students more meaningful.

We expect the students and the teachers to use the content available in the QR Codes optimally and
make their class room interaction more enjoyable and educative.

Let us know how to use QR codes

In this textbook, you will see many printed QR (Quick Response) codes, such as 

Use your mobile phone or tablet or computer to see interesting lessons, videos, documents, etc. linked to
the QR code.
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Play Store
DIKSHA

INSTALL
INSTALL OPEN

https://diksha.gov.in/telangana
Explore DIKSHA-TELANGANA 

(       )

á bÕsƒ¡´|ü⁄düÔø£+˝Àì uÛ≤eq\qT düŒwüº+>±, ì]∆wüº+>±, Á|üuÛ≤ee+‘·+>± ns¡ú+ #˚düTø√e&ÜìøÏ QR
(Quick Response) ø√&é̋ ‘√ ã˝Àù|‘·+ #˚j·T&É+ »]–+~. QR ø√&é̋ À #˚s¡Ãã&çq n+XÊ\qT kÕàsYº bǫ̀ Hé̋ À #·÷&Ée#·TÃ

˝Ò<ë LCD ÁbıC…ø£ºsY / ¬ø`j·÷Hé ÁbıC…ø£ºsY <ë«sê ‘Ós¡ô|’ Á|ü<ä]Ù+#·e#·TÃ. QR ø√&é\˝À ñqï düe÷#ês¡+ #ê˝≤ es¡≈£î

M&çjÓ÷\T, j·÷ìy˚TwüHé‡ eT]j·TT ôd¢Ì&é\ s¡÷|ü+˝À ñ+≥T+~. n+‘˚ø±≈£î+&Ü á düe÷#ês¡+, |ü⁄düÔø£+˝À ñqï düe÷#êsêìøÏ

n<äqyÓTÆq~.

á n<äq|ü⁄ düe÷#ês¡+ <ë«sê $<ë´s¡Tú\T uÛ≤eq\qT düŒwüº+>± ns¡ú+ #˚düTø√e&ÜìøÏ eT]j·TT ñbÕ<Ûë´j·TT\T ‘êeTT

ìs¡«Væ≤+#˚ uÀ<ÛäHê ø£è‘ê´\T ns¡úe+‘·+>± »s¡>∑&ÜìøÏ ‘√&ÉŒ&É‘êsTT.

$<ë´s¡Tú\T, ñbÕ<Ûë´j·TT\T QR ø√&é\˝À Çe«ã&çq düe÷#êsêìï $]$>± ñ|üjÓ÷–+∫ ‘·s¡>∑‹>∑~˝Àì Á|üÁøÏj·T\qT

eT]+‘· Äq+<ä<ëj·Tø£+>±, $<ë´e+‘·yÓTÆq$>±qT eT\#·T≈£î+{≤s¡ì Ä•düTÔHêïeTT.

QR

Á|üdüTÔ‘· bÕsƒ¡́  |ü⁄düÔø£+˝À á $<Ûä+>±  ñ+&˚ ≈£L´ÄsY ø√&é\qT bı+<äT|üs¡#·ã&çq$.

á ≈£L´ÄsY ø√&é\qT ñ|üjÓ÷–+∫ ÄdüøÏÔø£s¡yÓTÆq bÕsƒê\qT, M&çjÓ÷\qT, &Ü≈£î´yÓT+{Ÿ‡ yÓTT<ä\>∑T yê{Ïì MTe<ä›>∑\

yÓTTu…’̋ Ÿ, {≤´u…¢{Ÿ Ò̋<ë ø£+|üP´≥sY <ë«sê MøÏå+#·+&ç.
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NOTE TO TEACHERS

Mathematics textbooks for classes I and II were prepared according to the basic
principles suggested in NCF-2005 and the guidelines given under RTE-2009.

Units were prepared in such a manner that pupils can learn mathematics with enthusiasm.

Every unit includes the mathematical concepts known to pupils and new concepts for
the unit concerned besides appropriate exercises.

The exercises have been prepared to ensure introduction of concepts through day – to
– day / meaningful situations, to get pupils to solve problems that involve logical
thinking, to express ideas in mathematical language and so on.

Exercises and activities are so planned that by the end of class I. pupils will be able to
understand the concepts of number, acquire the ability to add and subtract numbers and
by the end of class II, they will be able to add numbers with regrouping subtract numbers
using the technique of borrowing, acquire the basic concepts of multiplication and
division and so on.

At the beginning of any unit, the pupils must helped to observe the pictures given.
Questions must be asked to test their previous knowledge of mathematical concepts
concerned. The concepts of the unit must be introduced accordingly. In this process,
locally – available objects like pebbles, seeds, sticks, beads etc., must be made use of
it must be orgnised as a classroom activity.

Then group activities must be orgnised to solve problems in a systematic manner, to
think logically, to estimate things and other exercises. This book includes certain
instructions / suggestions for the teacher. Those instructions must be followed to take
up questioning the pupils, discussing things with them, getting them to observe pictures,
calculate and recording information etc.

In the same way encourage pupils to understand the instructions given for problems
before they can solve the problems by themselves.

The textbooks have been prepared to help the pupils to take up exploration, observation,
research, confirmation etc., to understand mathematical concepts and apply the
knowledge for solving problems.

Towards this end a number of pictures depicting pupil’s real life situations have been
included.

Children use mathematics extensively in many day – to – day situations consequently
they acquire skills of application. As these textbooks have prepared with this background,
they are to be utilised completely and ensure utilisation of children’s learning time.

Free Distribution by T.S.Government  2022-23
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1, 2 ‘·s¡>∑‘·T\ bÕsƒ¡́  |ü⁄düÔø±\T NCF-2005 eTÚ[ø£ dü÷Á‘ê\T, RTE-2009 e÷s¡Z<äs¡Ùø±\ Á|üø±s¡+

s¡÷bı+~+#ês¡T.

|æ\¢\+<äs¡T >∑DÏ‘êìï ÄdüøÏÔ>± H˚s¡TÃø√&ÜìøÏ M\T>± n<Ûë´j·÷\qT s¡÷bı+~+#ês¡T.

<ë<ë|ü⁄ Á|ü‹ n<Ûë´j·T+˝À <ëìøÏ #Ó+~q uÛ≤eq\T |ü]#·j·T+ #̊j·T&ÜìøÏ |üPs¡«>∑DÏ‘· uÛ≤eq\‘√bÕ≥T

‘·–q nuÛ≤´kÕ\T #˚sêÃs¡T.

ì‘·́  J$‘· / ns¡úe+‘·yÓTÆq düìïy˚XÊ\ <ë«sê >∑DÏ‘· uÛ≤eq\T |ü]#·j·T+ #˚j·T&É+, M{ÏøÏ #Ó+~q

düeTdǘ \T |ü<ä∆‹ Á|üø±s¡+ #˚j·T&É+, ‘ê]ÿø£ Ä˝À#·q≈£î #Ó+~q düeTdǘ \T kÕ~Û+#·&É+, >∑DÏ‘· uÛ≤wü̋ À

e´ø°Ôø£]+#·&É+ nH˚ kÕeTsêú́ \ kÕ<Ûäq≈£î M\T>± nuÛ≤´kÕ\qT neTsêÃs¡T.

1e ‘·s¡>∑‹ |üPs¡Ôj̊T´dü]øÏ ¬s+&É+¬ø\ dü+K´\ dü+U≤´uÛ≤eqqT, kÕ<Ûës¡D ≈£L&çø£, rdæẙ‘·\qT #̊j·T>∑̋ ÒZ̋ ≤.

nfÒ¢ 2e ‘·s¡>∑‹ |üPs¡Ôj˚T´dü]øÏ m‹Ô ≈£L&˚ |ü<äú‹˝À ≈£L&çø£\T, kÕúqe÷]Œ&ç rdæy˚‘·\T, >∑TDø±s¡,

uÛ≤>∑Vü‰s¡ ÁbÕ<∏ä$Tø£ uÛ≤eq\T ne>±Vü≤q #˚düTø√H˚̋ ≤ nuÛ≤´kÕ\T, ø£è‘ê´\T bı+<äT|üsêÃs¡T.

@ j·T÷ì{ŸqT ÁbÕs¡+_Û+∫Hê Ä j·T÷ì{Ÿ≈£î dü+ã+~Û+∫q ∫Á‘ê\qT |ü]o*+|üCÒj·÷*. <ëìøÏ

#Ó+~q |üPs¡«>∑DÏ‘· uÛ≤eq\ô|’ Á|ü•ï+#ê*. ‘·<ë«sê n<Ûë´j·÷ìøÏ #Ó+~q >∑DÏ‘· uÛ≤eq\T |ü]#·j·T+

#˚j·÷*. á Áø£eT+˝À kÕúìø£+>± \_Û+#˚ sêfi¯ó¢, –+»\T, |ü⁄\¢\T, |üPdü\<ä+&É e+{Ï kÕeTÁ–

$ìjÓ÷–+#ê*. Bìì |üP]Ô ‘·s¡>∑‹ >∑~ ø£è‘·́ +>± ìs¡«Væ≤+#ê*.

Ä ‘·<äT|ü] >∑DÏ‘· düeTdǘ \T |ü<ä∆‹Á|üø±s¡+ #˚j·T&É+, ‘ê]ÿø£ Ä˝À#·q, n+#·Hê y˚j·T&É+ e+{Ï

nuÛ≤´kÕ\qT »≥Tº ø£è‘ê´\T>± ìs¡«Væ≤+#ê*. bÕsƒ¡́ |ü⁄düÔø£+˝À ñbÕ<Ûë´j·TTìøÏ #Ó+~q dü÷#·q\T

≈£L&Ü bı+<äT|üsêÃs¡T. Ä dü÷#·q\ Á|üø±s¡+ |æ\¢\qT Á|ü•ï+#·&É+, #·]Ã+#·&É+, ∫Á‘ê\T |ü]o*+|ü#̊j·T&É+,

…̋øÏÿ+#·&É+, qyÓ÷<äT#˚j·T&É+ e+{Ï ø£è‘ê´\T ìs¡«Væ≤+#ê*.

nfÒ¢ |æ\¢̋ Ò nuÛ≤´dü ø£è‘ê´\qT, düeTdǘ \qT kÕ~Û+#·&ÜìøÏ yÓTT<ä≥ ne>±Vü≤q ø£*Œ+∫ |æ\¢\T kı+‘·+>±

#˚ùd˝≤ Áb˛‘·‡Væ≤+#ê*. Ç+<äTø√dü+ dü÷#·q\qT ne>±Vü≤q |üsêÃ*.

|æ\¢\T nH̊«wüD, |ü]o\q, |ü]XÀ<Ûäq, ìsê∆s¡D #̊düTø=ì >∑DÏ‘·uÛ≤eq\T |üP]Ô>± ne>±Vü≤q #̊düTø=H̊˝≤,

á C≤„Hêìï $ìjÓ÷–+#·Tø√&ÜìøÏ M\T>± bÕsƒ¡́  |ü⁄düÔø±\T s¡÷bı+~+#ês¡T.

Ç+<äTø√dü+ nuÛ≤´kÕ\‘√bÕ≥T ÄdüøÏÔø£s¡yÓTÆq |æ\¢\ ì‘·́ J$‘ê\≈£î #Ó+~q u§eTà\qT bı+<äT|üsêÃs¡T.

kÕ<Ûës¡D+>± >∑DÏ‘êìï |æ\¢\T nH˚ø£ ì‘·́  J$‘· dü+<äsê“¤̋ À¢, Ä≥˝À¢ $]$>± ñ|üjÓ÷–düTÔ+{≤s¡T.

‘·<ë«sê $ìjÓ÷>∑ kÕe÷sêú́ ìï bı+<äT‘·T+{≤s¡T. á H̊|ü<Ûä́ +˝ÀH̊ bÕsƒ¡́  |ü⁄düÔø±\T s¡÷bı+~+∫q+<äTq

M{Ïì |üP]Ô>± $ìjÓ÷–+∫ |æ\¢\ nuÛÑ́ düHê düeTj·÷ìï dü~«ìjÓ÷>∑+ #˚j·÷*.
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<ë<ë|ü⁄ Á|ü‹ n<Ûë´j·T+˝À <ëìøÏ #Ó+~q uÛ≤eq\T |ü]#·j·T+ #̊j·T&ÜìøÏ |üPs¡«>∑DÏ‘· uÛ≤eq\‘√bÕ≥T

ì‘·́  J$‘· / ns¡úe+‘·yÓTÆq düìïy˚XÊ\ <ë«sê >∑DÏ‘· uÛ≤eq\T |ü]#·j·T+ #˚j·T&É+, M{ÏøÏ #Ó+~q
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NGANAì‘·́  J$‘· / ns¡úe+‘·yÓTÆq düìïy˚XÊ\ <ë«sê >∑DÏ‘· uÛ≤eq\T |ü]#·j·T+ #˚j·T&É+, M{ÏøÏ #Ó+~q

düeTdǘ \T |ü<ä∆‹ Á|üø±s¡+ #˚j·T&É+, ‘ê]ÿø£ Ä˝À#·q≈£î #Ó+~q düeTdǘ \T kÕ~Û+#·&É+, >∑DÏ‘· uÛ≤wü̋ À

SCERT, T
ELA

NGANA
düeTdǘ \T |ü<ä∆‹ Á|üø±s¡+ #˚j·T&É+, ‘ê]ÿø£ Ä˝À#·q≈£î #Ó+~q düeTdǘ \T kÕ~Û+#·&É+, >∑DÏ‘· uÛ≤wü̋ À

e´ø°Ôø£]+#·&É+ nH˚ kÕeTsêú́ \ kÕ<Ûäq≈£î M\T>± nuÛ≤´kÕ\qT neTsêÃs¡T.
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e´ø°Ôø£]+#·&É+ nH˚ kÕeTsêú́ \ kÕ<Ûäq≈£î M\T>± nuÛ≤´kÕ\qT neTsêÃs¡T.

1e ‘·s¡>∑‹ |üPs¡Ôj̊T´dü]øÏ ¬s+&É+¬ø\ dü+K´\ dü+U≤´uÛ≤eqqT, kÕ<Ûës¡D ≈£L&çø£, rdæẙ‘·\qT #̊j·T>∑̋ ÒZ̋ ≤.
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1e ‘·s¡>∑‹ |üPs¡Ôj̊T´dü]øÏ ¬s+&É+¬ø\ dü+K´\ dü+U≤´uÛ≤eqqT, kÕ<Ûës¡D ≈£L&çø£, rdæẙ‘·\qT #̊j·T>∑̋ ÒZ̋ ≤.

nfÒ¢ 2e ‘·s¡>∑‹ |üPs¡Ôj˚T´dü]øÏ m‹Ô ≈£L&˚ |ü<äú‹˝À ≈£L&çø£\T, kÕúqe÷]Œ&ç rdæy˚‘·\T, >∑TDø±s¡,
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nfÒ¢ 2e ‘·s¡>∑‹ |üPs¡Ôj˚T´dü]øÏ m‹Ô ≈£L&˚ |ü<äú‹˝À ≈£L&çø£\T, kÕúqe÷]Œ&ç rdæy˚‘·\T, >∑TDø±s¡,

uÛ≤>∑Vü‰s¡ ÁbÕ<∏ä$Tø£ uÛ≤eq\T ne>±Vü≤q #˚düTø√H˚̋ ≤ nuÛ≤´kÕ\T, ø£è‘ê´\T bı+<äT|üsêÃs¡T.
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uÛ≤>∑Vü‰s¡ ÁbÕ<∏ä$Tø£ uÛ≤eq\T ne>±Vü≤q #˚düTø√H˚̋ ≤ nuÛ≤´kÕ\T, ø£è‘ê´\T bı+<äT|üsêÃs¡T.

@ j·T÷ì{ŸqT ÁbÕs¡+_Û+∫Hê Ä j·T÷ì{Ÿ≈£î dü+ã+~Û+∫q ∫Á‘ê\qT |ü]o*+|üCÒj·÷*. <ëìøÏ
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@ j·T÷ì{ŸqT ÁbÕs¡+_Û+∫Hê Ä j·T÷ì{Ÿ≈£î dü+ã+~Û+∫q ∫Á‘ê\qT |ü]o*+|üCÒj·÷*. <ëìøÏ

#Ó+~q |üPs¡«>∑DÏ‘· uÛ≤eq\ô|’ Á|ü•ï+#ê*. ‘·<ë«sê n<Ûë´j·÷ìøÏ #Ó+~q >∑DÏ‘· uÛ≤eq\T |ü]#·j·T+
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#Ó+~q |üPs¡«>∑DÏ‘· uÛ≤eq\ô|’ Á|ü•ï+#ê*. ‘·<ë«sê n<Ûë´j·÷ìøÏ #Ó+~q >∑DÏ‘· uÛ≤eq\T |ü]#·j·T+

#˚j·÷*. á Áø£eT+˝À kÕúìø£+>± \_Û+#˚ sêfi¯ó¢, –+»\T, |ü⁄\¢\T, |üPdü\<ä+&É e+{Ï kÕeTÁ–
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#˚j·÷*. á Áø£eT+˝À kÕúìø£+>± \_Û+#˚ sêfi¯ó¢, –+»\T, |ü⁄\¢\T, |üPdü\<ä+&É e+{Ï kÕeTÁ–

$ìjÓ÷–+#ê*. Bìì |üP]Ô ‘·s¡>∑‹ >∑~ ø£è‘·́ +>± ìs¡«Væ≤+#ê*.
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$ìjÓ÷–+#ê*. Bìì |üP]Ô ‘·s¡>∑‹ >∑~ ø£è‘·́ +>± ìs¡«Væ≤+#ê*.

Ä ‘·<äT|ü] >∑DÏ‘· düeTdǘ \T |ü<ä∆‹Á|üø±s¡+ #˚j·T&É+, ‘ê]ÿø£ Ä˝À#·q, n+#·Hê y˚j·T&É+ e+{Ï
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Ä ‘·<äT|ü] >∑DÏ‘· düeTdǘ \T |ü<ä∆‹Á|üø±s¡+ #˚j·T&É+, ‘ê]ÿø£ Ä˝À#·q, n+#·Hê y˚j·T&É+ e+{Ï

nuÛ≤´kÕ\qT »≥Tº ø£è‘ê´\T>± ìs¡«Væ≤+#ê*. bÕsƒ¡́ |ü⁄düÔø£+˝À ñbÕ<Ûë´j·TTìøÏ #Ó+~q dü÷#·q\T
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nuÛ≤´kÕ\qT »≥Tº ø£è‘ê´\T>± ìs¡«Væ≤+#ê*. bÕsƒ¡́ |ü⁄düÔø£+˝À ñbÕ<Ûë´j·TTìøÏ #Ó+~q dü÷#·q\T

≈£L&Ü bı+<äT|üsêÃs¡T. Ä dü÷#·q\ Á|üø±s¡+ |æ\¢\qT Á|ü•ï+#·&É+, #·]Ã+#·&É+, ∫Á‘ê\T |ü]o*+|ü#̊j·T&É+,
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≈£L&Ü bı+<äT|üsêÃs¡T. Ä dü÷#·q\ Á|üø±s¡+ |æ\¢\qT Á|ü•ï+#·&É+, #·]Ã+#·&É+, ∫Á‘ê\T |ü]o*+|ü#̊j·T&É+,

…̋øÏÿ+#·&É+, qyÓ÷<äT#˚j·T&É+ e+{Ï ø£è‘ê´\T ìs¡«Væ≤+#ê*.
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…̋øÏÿ+#·&É+, qyÓ÷<äT#˚j·T&É+ e+{Ï ø£è‘ê´\T ìs¡«Væ≤+#ê*.

nfÒ¢ |æ\¢̋ Ò nuÛ≤´dü ø£è‘ê´\qT, düeTdǘ \qT kÕ~Û+#·&ÜìøÏ yÓTT<ä≥ ne>±Vü≤q ø£*Œ+∫ |æ\¢\T kı+‘·+>±
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nfÒ¢ |æ\¢̋ Ò nuÛ≤´dü ø£è‘ê´\qT, düeTdǘ \qT kÕ~Û+#·&ÜìøÏ yÓTT<ä≥ ne>±Vü≤q ø£*Œ+∫ |æ\¢\T kı+‘·+>±

#˚ùd˝≤ Áb˛‘·‡Væ≤+#ê*. Ç+<äTø√dü+ dü÷#·q\qT ne>±Vü≤q |üsêÃ*.
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#˚ùd˝≤ Áb˛‘·‡Væ≤+#ê*. Ç+<äTø√dü+ dü÷#·q\qT ne>±Vü≤q |üsêÃ*.
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|æ\¢\T nH̊«wüD, |ü]o\q, |ü]XÀ<Ûäq, ìsê∆s¡D #̊düTø=ì >∑DÏ‘·uÛ≤eq\T |üP]Ô>± ne>±Vü≤q #̊düTø=H̊˝≤,
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|æ\¢\T nH̊«wüD, |ü]o\q, |ü]XÀ<Ûäq, ìsê∆s¡D #̊düTø=ì >∑DÏ‘·uÛ≤eq\T |üP]Ô>± ne>±Vü≤q #̊düTø=H̊˝≤,

á C≤„Hêìï $ìjÓ÷–+#·Tø√&ÜìøÏ M\T>± bÕsƒ¡́  |ü⁄düÔø±\T s¡÷bı+~+#ês¡T.SCERT, T
ELA

NGANA

á C≤„Hêìï $ìjÓ÷–+#·Tø√&ÜìøÏ M\T>± bÕsƒ¡́  |ü⁄düÔø±\T s¡÷bı+~+#ês¡T.
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Syllabus – Expected Outcomes
Unit – 1: Revision - 1

- Numbers from 1 to 20
- Counting different things like animals, birds, trees and writing their number
- Saying the sequence of numbers of things and people and writing them
- Saying the number before, after and between the given numbrs upto 20
- Arranging numbers upto 20 in ascending and descending orders and matching them

Unit – 2: Revision - 2

- Counting the things intens and ones. Saying how many tens and ones there are in them
- Writing numbers upto 100 in the expanded form.
- Writing numbers upto 100 in ascending and descending order and matching with things
- Identifying the small and big numbers among the given number writing them.
- Solving certain problems orally
- Identifying numbers small and big relationship among
- Solving puzzles based on certain conditions (More, Less)

Unit – 3 and 4: Comparing three-digit numbers

- Counting and saying the numbers as hundreds, tens and ones upto 1000 and writing them
below

- Saying the place value and face value of digits in a number and writing
- Writing the 3-digit number in the expand form and writing the number when its expanded

form is given
- Saying how many Rs.100's, Rs.10's and Re.1's there are for a given three- digit number
- Writing numbers below 1000 in the correct sequence and also in ascending and descending

orders
- Writing the numbers before, after and between given numbers below 1000
- Writing the given number (1000) in words and writing the number when it if given in words.
- Forming numbers using the three digits given and saying between
- Using  >, <, = symbols to show smaller than about two numbers.

Unit – 5 and 6: Addition of numbers

- Adding two digit numbers-both in expanded and short forms
- Adding numbers less than 50 orally
- Adding two numbers using the 'carry over' method.

Unit – 7 and 8: Subtraction of numbers

- Subtraction of two digit number-both in expanded and  short forms.
- Subtracting numbers upto 50 orally
- Subtracting two numbers using the 'borrowing' method.

Unit – 9 and  10: Multiplication

- Understanding that multiplication is nothing but successive addition of the same number
- Saying the product of numbers related to numbers in columns and rows
- Writing multiplication tables (1 to 9) by using the method of successive addition
- Writing the product of multiplying a two-digit number by a single-digit number.
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- Identifying the small and big numbers among the given number writing them.
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- Identifying the small and big numbers among the given number writing them.

- Counting and saying the numbers as hundreds, tens and ones upto 1000 and writing them
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- Counting and saying the numbers as hundreds, tens and ones upto 1000 and writing them

- Saying the place value and face value of digits in a number and writing
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- Saying the place value and face value of digits in a number and writing
- Writing the 3-digit number in the expand form and writing the number when its expanded
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- Writing the 3-digit number in the expand form and writing the number when its expanded

- Saying how many Rs.100's, Rs.10's and Re.1's there are for a given three- digit number
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- Saying how many Rs.100's, Rs.10's and Re.1's there are for a given three- digit number
- Writing numbers below 1000 in the correct sequence and also in ascending and descending
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- Writing numbers below 1000 in the correct sequence and also in ascending and descending

- Writing the numbers before, after and between given numbers below 1000
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- Writing the numbers before, after and between given numbers below 1000
- Writing the given number (1000) in words and writing the number when it if given in words.
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- Writing the given number (1000) in words and writing the number when it if given in words.
- Forming numbers using the three digits given and saying between
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- Forming numbers using the three digits given and saying between
- Using  >, <, = symbols to show smaller than about two numbers.

SCERT, T
ELA

NGANA

- Using  >, <, = symbols to show smaller than about two numbers.

Unit – 5 and 6: Addition of numbers
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Unit – 5 and 6: Addition of numbers

- Adding two digit numbers-both in expanded and short forms
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- Adding two digit numbers-both in expanded and short forms
- Adding numbers less than 50 orally
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- Adding numbers less than 50 orally
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- Adding two numbers using the 'carry over' method.
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- Adding two numbers using the 'carry over' method.

Unit – 7 and 8: Subtraction of numbers
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Unit – 7 and 8: Subtraction of numbers

- Subtraction of two digit number-both in expanded and  short forms.SCERT, T
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- Subtraction of two digit number-both in expanded and  short forms.
- Subtracting numbers upto 50 orallySCERT, T
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- Subtracting numbers upto 50 orally
- Subtracting two numbers using the 'borrowing' method.SCERT, T
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- Subtracting two numbers using the 'borrowing' method.
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` $$<Ûä edüTÔe⁄\T, »+‘·Te⁄\T, |ü≈£åî\T, #Ó≥T¢ e+{Ï yê{Ïì …̋øÏÿ+∫ dü+K´qT sêj·T>∑\>∑&É+.

` es¡Tdü̋ À e⁄qï edüTÔe⁄\T, eTqTwüß\T yÓTT<ä̋ …’q yê{ÏøÏ dü+ã+~Û+∫q Áø£eTdü+K´\qT #Ó|üŒ>∑\>∑&É+, sêj·T>∑\>∑&É+.

` 20 es¡≈£î dü+K´\˝À Ç∫Ãq dü+K´\≈£î eTT+<äT, eT<Ûä́ , ‘·s¡Tyê‘· ñ+&˚ dü+K´\qT #Ó|üŒ>∑\>∑&É+.

` 20 es¡≈£î >∑\ dü+K´\˝À Ç∫Ãq  dü+K´\qT Äs√Vü≤D, nes√Vü≤D Áø£eT+˝À sêj·T>∑\>∑&É+.

 

` Çe«ã&çq edüTÔe⁄\qT |ü<äT\˝À, ˇø£≥¢̋ À …̋øÏÿ+#·>∑\>∑&É+, n+<äT˝À |ü<äT …̋H√ï, ˇø£≥T¢ bH√ï #Ó|üŒ>∑\>∑&É+.

sêj·T>∑\>∑&É+.

` 100 ˝À|ü⁄ dü+K´\≈£î $düÔs¡D s¡÷|ü+˝À sêj·T>∑\>∑&É+.

` 100 ˝À|ü⁄ dü+K´\qT Äs√Vü≤D, nes√Vü≤D Áø£eT+˝À sêj·T>∑\>∑&É+.

` Ç∫Ãq dü+K´\˝À ∫qï, ô|<ä› dü+K´\qT >∑T]Ô+#·&É+, sêj·T>∑\>∑&É+.

` eTÚœø£+>± düeTdǘ \qT #˚j·T>∑\>∑&É+.

` Ç∫Ãq dü+K´\qT ô|<ä›~, ∫qï~ >∑Ts¡TÔ\‘√ dü÷∫+#·>∑\>∑&É+.

` Çe«ã&çq ìj·Te÷\T (b≈£îÿe, ‘·≈£îÿe) qqTdü]+∫ |üõ˝Ÿ‡ #˚j·T>∑\>∑&É+ .

` 1000 ˝À|ü⁄ edüTÔe⁄\qT $&ç$&ç>± e+<ä\T, |ü<äT\T, ˇø£≥¢̋ À …̋øÏÿ+∫ #Ó|üŒ>∑\>∑&É+, sêj·T>∑\>∑&É+.

` Ç∫Ãq eT÷&É+¬ø\ dü+K´˝Àì n+¬ø\ kÕúq$\Te, düVü≤» $\Te\T #Ó|üŒ>∑\>∑&É+, sêj·T>∑\>∑&É+.

` Ç∫Ãq eT÷&É+¬ø\ dü+K´qT $düÔs¡Ds¡÷|ü+˝À sêj·T>∑\>∑&É+, $düÔs¡D s¡÷bÕìøÏ dü+K´qT #Ó|üŒ>∑\>∑&É+

(dü+øÏå|üÔs¡÷|ü+).

` Ç∫Ãq eT÷&É+¬ø\ dü+K´≈£î bìï 100 s¡÷., 10 s¡÷., 1 s¡÷. (HêD…+) ñ+&É>∑\y√ #Ó|üŒ>∑\>∑&É+.

` 1000 ˝À|ü⁄ dü+K´\qT es¡Tdü Áø£eT+˝À sêj·T&É+, Äs√Vü≤D, nes√Vü≤D Áø£eT+˝À sêj·T>∑\>∑&É+.

` 1000 ˝À|ü⁄ dü+K´\≈£î eTT+<äT, yÓqTø£ eT<Ûä́  dü+K´\qT sêj·T>∑\>∑&É+.

` 1000 ˝À|ü⁄ Ç∫Ãq dü+K´\qT nø£åsê\˝À sêj·T>∑\>∑&É+. nø£åsê\˝À e⁄qïyê{Ïì n+¬ø\˝À sêj·T>∑\>∑&É+.

` Çe«ã&çq eT÷&ÉT n+¬ø\‘√ M …̋’qìï eT÷&É+¬ø\ dü+K´\qT sêj·T>∑\>∑&É+. n$ @j˚T e+<ä\ eT<Ûä́  ñ

+{≤jÓ÷ #Ó|üŒ>∑\>∑&É+.

` b≈£îÿe, ‘·≈£îÿe, düe÷q+ \qT >, <,  >∑Ts¡TÔ\‘√ #·÷|æ+#·>∑\>∑&É+.

` ¬s+&É+¬ø\ dü+K´\qT, ¬s+&ç+{Ïì, $düÔs¡D s¡÷|ü+˝Àq÷, dü+øÏå|üÔs¡÷|ü+˝Àq÷ ≈£L&É>∑\>∑&É+.

` 50 ˝À|ü⁄ ¬s+&É+¬ø\ dü+K´\qT eTÚœø£+>± ≈£L&É>∑\>∑&É+.

` ¬s+&É+¬ø\ dü+K´\ es¡≈£î kÕúqe÷]Œ&ç ≈£L&çø£\T #˚j·T>∑\>∑&É+.

` ¬s+&É+¬ø\ dü+K´\qT, ¬s+&ç+{Ïì, $düÔs¡D s¡÷|ü+˝Àq÷, dü+øÏå|üÔs¡÷|ü+˝Àq÷ rdæy˚j·T>∑\>∑&É+.

` 50 ˝À|ü⁄ ¬s+&É+¬ø\ dü+K´\qT eTÚœø£+>± rdæy˚j·T>∑\>∑&É+..

` ¬s+&É+¬ø\ dü+K´\ es¡≈£î kÕúqe÷]Œ&ç rdæy˚‘·\T #˚j·T>∑\>∑&É+.

` Äes¡Ôq dü+ø£\qy˚T >∑TDø±s¡eTì >∑T]Ô+#·&É+. >∑TDø±s¡eTT >∑Ts¡TÔ qT ª µ >∑T]Ô+#·>∑\>∑&É+.

` n&ÉT¶es¡Tdü\T, ì\Te⁄ es¡Tdü̋ À¢ ñqï edüTÔe⁄\≈£î dü+ã+~Û+∫q dü+K´\qT >∑TDÏ+∫ #Ó|üŒ>∑\>∑&É+.
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NATIONAL ANTHEM
- Rabindranath Tagore

Jana-gana-mana-adhinayaka, jaya he

Bharata-bhagya-vidhata.

Punjab-Sindh-Gujarat-Maratha

Dravida-Utkala-Banga

Vindhya-Himachala-Yamuna-Ganga

Uchchhala-jaladhi-taranga.

Tava shubha name jage,

Tava shubha asisa mage,

Gahe tava jaya gatha,

Jana-gana-mangala-dayaka jaya he

Bharata-bhagya-vidhata.

Jaya he! jaya he! jaya he!

Jaya jaya jaya, jaya he!!

PLEDGE
- Pydimarri Venkata Subba Rao

“India is my country. All Indians are my brothers and sisters.

I love my country, and I am proud of its rich and varied heritage. I
shall always strive to be worthy of it.

I shall give my parents, teachers and all elders respect, and treat
everyone with courtesy. I shall be kind to animals.

To my country and my people, I pledge my devotion. In their
well-being and prosperity alone lies my happiness.”
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PREAMBLE

THE PEOPLE OF INDIA, having solemnly resolved to constitute India into a
SOVEREIGN SOCIALIST SECULAR DEMOCRATIC REPUBLIC and to
secure to all its citizens:

JUSTICE, social, economic and political;

LIBERTY of thought, expression, belief, faith and worship;

EQUALITY of status and of opportunity; and to promote among them all

FRATERNITY assuring the dignity of the individual and the unity and integrity of the
Nation;

IN OUR CONSTITUENT ASSEMBLY this twenty-sixth day of November, 1949, do

HEREBY ADOPT, ENACT AND GIVE TO OURSELVES THIS CONSTITUTION.

Subs. by the constitution [Forty-second Amendment] Act, 1976, Sec.2, for “Sovereign
Democratic Republic” (w.e.f. 3.1.1977)

Subs. by the constitution [Forty-second Amendment] Act, 1976, Sec.2, for “Unity of the Nation”
(w.e.f. 3.1.1977)
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1. Look at the following picture, count the different things in it and write
their number.

1 Numbers from 1 to 20

Get your pupils to observe the above picture.  Get them to count each
category of things.  Let them write the correct numbers in the boxes.

1. How many huts are there?

2. How many children are there?

3. How many cows are there in the picture?

4. How many mangoes can you see on the tree?

5. How many parrots are there on the mango tree?

6. Which are more in number, parrots or mangoes?

SCERT, T
ELA

NGANA

1. How many huts are there?

SCERT, T
ELA

NGANA

1. How many huts are there?

2. How many children are there?

SCERT, T
ELA

NGANA

2. How many children are there?

3. How many cows are there in the picture?SCERT, T
ELA

NGANA

3. How many cows are there in the picture?

4. How many mangoes can you see on the tree?SCERT, T
ELA

NGANA

4. How many mangoes can you see on the tree?SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA
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1. mìï >∑T&çôd\T ñHêïsTT?

2. m+‘· eT+~ |æ\¢\T ñHêïs¡T?

3. ∫Á‘·+˝À ñqï Äe⁄\T mìï?

4. e÷$T&ç #Ó≥Tº≈£î mìï ø±j·T\T ñHêïsTT?

5. e÷$T&ç #Ó≥Tºô|’ mìï sêeT∫\Tø£\T ñHêïsTT?

6. ∫\Tø£\T m≈£îÿyê? e÷$T&çø±j·T\T m≈£îÿyê?

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

1. mìï >∑T&çôd\T ñHêïsTT?

SCERT, T
ELA

NGANA

1. mìï >∑T&çôd\T ñHêïsTT?

2. m+‘· eT+~ |æ\¢\T ñHêïs¡T?

SCERT, T
ELA

NGANA

2. m+‘· eT+~ |æ\¢\T ñHêïs¡T?

3. ∫Á‘·+˝À ñqï Äe⁄\T mìï?SCERT, T
ELA

NGANA

3. ∫Á‘·+˝À ñqï Äe⁄\T mìï?

4. e÷$T&ç #Ó≥Tº≈£î mìï ø±j·T\T ñHêïsTT?SCERT, T
ELA

NGANA

4. e÷$T&ç #Ó≥Tº≈£î mìï ø±j·T\T ñHêïsTT?

5. e÷$T&ç #Ó≥Tºô|’ mìï sêeT∫\Tø£\T ñHêïsTT?
SCERT, T

ELA
NGANA

5. e÷$T&ç #Ó≥Tºô|’ mìï sêeT∫\Tø£\T ñHêïsTT?
SCERT, T

ELA
NGANA



4Free Distribution by T.S.Government  2022-23

Get your pupils to observe the pictures.  Help them to understand the task
and answer each question.  Create the understanding of ordinal numbers.

Ranga John Latha Basha Rama Uma

What is the ordinal number of Seetha ?      First

What is the ordinal number of Latha ?

What is the ordinal number of Hari ?

What is the ordinal number of Uma ?

What is the ordinal number of Giri ?

What is the ordinal number of Rama ?

What is the ordinal number of Shiva ?

What is the ordinal number of Usha ?

2. Look at the picture given below.  Answer the questions.

1. Who is the third student? .................................

2. Who is the fifth student? ..................................

3. What is the ordinal number of Basha? ....................

 4. What is the ordinal number of Uma? ........................

Who is the second student? JohnExample:
..................................

3. Look at the picture given below.  Write the ordinal number of the student
shown.

Example:

SCERT, T
ELA

NGANA
.................................

SCERT, T
ELA

NGANA
.................................

..................................

SCERT, T
ELA

NGANA
..................................

3. What is the ordinal number of Basha?

SCERT, T
ELA

NGANA
3. What is the ordinal number of Basha? ....................

SCERT, T
ELA

NGANA
 ....................

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

What is the ordinal number of Seetha ?

SCERT, T
ELA

NGANA

What is the ordinal number of Seetha ?

What is the ordinal number of Latha ?

SCERT, T
ELA

NGANA

What is the ordinal number of Latha ?

What is the ordinal number of Hari ?SCERT, T
ELA

NGANA

What is the ordinal number of Hari ?

What is the ordinal number of Uma ?SCERT, T
ELA

NGANA

What is the ordinal number of Uma ?

 4. What is the ordinal number of Uma? 

SCERT, T
ELA

NGANA

 4. What is the ordinal number of Uma? ........................

SCERT, T
ELA

NGANA

........................

..................................

SCERT, T
ELA

NGANA..................................

3. Look at the picture given below.  Write the ordinal number of the student

SCERT, T
ELA

NGANA

3. Look at the picture given below.  Write the ordinal number of the student

Example:

SCERT, T
ELA

NGANA

Example:
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 mqïe $<ë´]ú?

 mqïe $<ë´]ú?

 mqïe $<ë´]ú?

 mqïe $<ë´]ú?

 mqïe $<ë´]ú?

 mqïe $<ë´]ú?

 mqïe $<ë´]ú?

 mqïe $<ë´]ú?

3 e $<ë´]ú mes¡T? ..................................

5 e  $<ë´]ú mes¡T? ..................................

u≤wü mqïe $<ë´]ú? ..................................

ñeT mqïe $<ë´]ú? ..................................

2 e $<ë´]ú mes¡T? C≤Héñ<ë:` ..................................

ñ<ë:` 1e

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

 mqïe $<ë´]ú?

SCERT, T
ELA

NGANA

 mqïe $<ë´]ú?

SCERT, T
ELA

NGANA

 mqïe $<ë´]ú?SCERT, T
ELA

NGANA

 mqïe $<ë´]ú?

.....................

SCERT, T
ELA

NGANA
.....................

.....................

SCERT, T
ELA

NGANA
.....................

..........................

SCERT, T
ELA

NGANA
..........................

...........................

SCERT, T
ELA

NGANA

...........................

SCERT, T
ELA

NGANA
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Get your pupils to observe the above pictures.  Help them to observe the
method in which the numbers are written in an order.  Create the
understanding of numbers that come before, between and after.

1. How many animals are there in the above pictures?

2. How many vehicles can you see?

3. In which box is the hen?

4. How many of the above items do you see in your school?

5. How many pictures are there between the comb and the key?

6. What is the number of the box before the slate?

7. Between which boxes can you see the lock ?  and

8. What is the number of the box next to the monkey?

9. What is the number of the box between those that have a book
         and the bicycle?

4. Look at the pictures. Read the following items and write their number in the
boxes.

2 31 4 5

7 86 9 10

12 1311 14 15

17 1816 19 20

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA
11 14 15

SCERT, T
ELA

NGANA
11 14 15

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

1. How many animals are there in the above pictures?

SCERT, T
ELA

NGANA

1. How many animals are there in the above pictures?

2. How many vehicles can you see?

SCERT, T
ELA

NGANA

2. How many vehicles can you see?

3. In which box is the hen?

SCERT, T
ELA

NGANA

3. In which box is the hen?

4. How many of the above items do you see in your school?

SCERT, T
ELA

NGANA

4. How many of the above items do you see in your school?

5. How many pictures are there between the comb and the key?

SCERT, T
ELA

NGANA

5. How many pictures are there between the comb and the key?

6. What is the number of the box before the slate?

SCERT, T
ELA

NGANA

6. What is the number of the box before the slate?

7. Between which boxes can you see the lock ?SCERT, T
ELA

NGANA

7. Between which boxes can you see the lock ?

8. What is the number of the box next to the monkey?SCERT, T
ELA

NGANA

8. What is the number of the box next to the monkey?

16 19 20

SCERT, T
ELA

NGANA

16 19 20
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1. »+‘·Te⁄\T mìï ñHêïsTT?

2. yêVü≤Hê\T mìï ñHêïsTT?

3. ø√&ç @ dü+K´ >∑\ >∑&ç̋ À e⁄+~?

4. MT bÕsƒ¡XÊ\˝À >∑\ edüTÔe⁄\ u§eTà\T ô|’ yê{Ï̋ À mìï ñHêïsTT?

5. <äTyÓ«q, ‘êfi¯+ #Ó$ eT<Ûä́  ñqï u§eTà\T mìï?

6. |ü\ø£ eTT+<äT >∑&ç dü+K´ m+‘·?

7. ‘êfi¯+ >∑&ç @ dü+K´\ >∑&ÉT\ eT<Ûä́  ñ+~?

8. ø√‹ >∑&ç ‘·sê«‘· >∑&ç dü+K´ m+‘·?

9. |ü⁄düÔø£+ >∑&çøÏ, ôd’øÏ̋ Ÿ >∑&çøÏ eT<Ûä́  >∑&ç dü+K´ m+‘·?

2 31 4 5

7 86 9 10

12 1311 14 15

17 1816 19 20

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

2. yêVü≤Hê\T mìï ñHêïsTT?

SCERT, T
ELA

NGANA

2. yêVü≤Hê\T mìï ñHêïsTT?

3. ø√&ç @ dü+K´ >∑\ >∑&ç̋ À e⁄+~?

SCERT, T
ELA

NGANA

3. ø√&ç @ dü+K´ >∑\ >∑&ç̋ À e⁄+~?

4. MT bÕsƒ¡XÊ\˝À >∑\ edüTÔe⁄\ u§eTà\T ô|’ yê{Ï̋ À mìï ñHêïsTT?

SCERT, T
ELA

NGANA

4. MT bÕsƒ¡XÊ\˝À >∑\ edüTÔe⁄\ u§eTà\T ô|’ yê{Ï̋ À mìï ñHêïsTT?

5. <äTyÓ«q, ‘êfi¯+ #Ó$ eT<Ûä́  ñqï u§eTà\T mìï?

SCERT, T
ELA

NGANA

5. <äTyÓ«q, ‘êfi¯+ #Ó$ eT<Ûä́  ñqï u§eTà\T mìï?

6. |ü\ø£ eTT+<äT >∑&ç dü+K´ m+‘·?

SCERT, T
ELA

NGANA

6. |ü\ø£ eTT+<äT >∑&ç dü+K´ m+‘·?

7. ‘êfi¯+ >∑&ç @ dü+K´\ >∑&ÉT\ eT<Ûä́  ñ+~?SCERT, T
ELA

NGANA

7. ‘êfi¯+ >∑&ç @ dü+K´\ >∑&ÉT\ eT<Ûä́  ñ+~?

8. ø√‹ >∑&ç ‘·sê«‘· >∑&ç dü+K´ m+‘·?SCERT, T
ELA

NGANA

8. ø√‹ >∑&ç ‘·sê«‘· >∑&ç dü+K´ m+‘·?

11 14 15

SCERT, T
ELA

NGANA
11 14 15

16 19 20

SCERT, T
ELA

NGANA

16 19 20
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Exercise:

2. Write the correct number. 3. Draw a around each number
between 10 and 20.  Draw a
around the number less than 10.

Example:

Get your pupils to understand and solve the exercise from questions 1 to 11.

1. Count the pictures. Circle  the correct number.

5 6

7 8 9

14 15 16

7 6 5

12 11 10

10 9 8

1 2 5

6 8

11

16 20

14

2

1 6

3

8

5

7 10 17

15
16

11

7

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

2. Write the correct number.

SCERT, T
ELA

NGANA

2. Write the correct number.

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

16

SCERT, T
ELA

NGANA

16

12 11 10

SCERT, T
ELA

NGANA
12 11 10

1 2 5

SCERT, T
ELA

NGANA

1 2 5

6 8

SCERT, T
ELA

NGANA

6 8

11SCERT, T
ELA

NGANA

11
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5 6

7 8 9

14 15 16

7 6 5

12 11 10

10 9 8

1 2 5

6 8

11

16 20

14

2

1 6

3

8

5

7 10 17

15
16

11

7

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

16

SCERT, T
ELA

NGANA

16

12 11 10

SCERT, T
ELA

NGANA
12 11 10

1 2 5

SCERT, T
ELA

NGANA

1 2 5

6 8

SCERT, T
ELA

NGANA

6 8

11SCERT, T
ELA

NGANA

11
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4. Write the number that comes before
the given numbers.

5. Write the number that comes
between the given numbers.

6. Write the number that comes after the
given numbers.

7. Write the number that comes before
and after the given number.

8. Identify the bigger number and draw a around it.

15 6

10

12

8

15

Example:- 5 7

7

20

17

10

6 7

9 10

14 15

18 19

3 5

10 12

18 20

9 11

7 8

10 11

13 14

15

17

19

Get your pupils to understand the instructions.  Let them solve each sum
by themselves.

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA
7. Write the number that comes 

SCERT, T
ELA

NGANA
7. Write the number that comes 

and

SCERT, T
ELA

NGANA

and

SCERT, T
ELA

NGANA

after

SCERT, T
ELA

NGANA

after the given number.

SCERT, T
ELA

NGANA

 the given number.after the given number.after

SCERT, T
ELA

NGANA

after the given number.after the given number.

SCERT, T
ELA

NGANA

 the given number.

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

8. Identify the bigger number and draw a 

SCERT, T
ELA

NGANA

8. Identify the bigger number and draw a 

Example:-SCERT, T
ELA

NGANA

Example:-SCERT, T
ELA

NGANA18 20

SCERT, T
ELA

NGANA18 20

9 11

SCERT, T
ELA

NGANA
9 11

13 14

SCERT, T
ELA

NGANA

13 14
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15 6

10

12

8

15

5 7

7

20

17

10

6 7

9 10

14 15

18 19

3 5

10 12

18 20

9 11

7 8

10 11

13 14

15

17

19

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA18 20

SCERT, T
ELA

NGANA18 20

9 11

SCERT, T
ELA

NGANA
9 11

13 14

SCERT, T
ELA

NGANA

13 14
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Example:- 5, 3, 6, 4, 11

From smallest to biggest. :  3 4 5 6 11

From biggest to smallest. : 11 6 5 4  3

10.   Write the biggest and smallest number.

9. Write smallest to biggest and biggest to smallest number in the given boxes.

Biggest Number

4 16 10 5

(A) 15, 3, 12, 16, 5, 18
From smallest to biggest :

From biggest to smallest :

(B) 6, 0, 8, 3, 5, 2

(C) 12, 18, 10, 14, 19, 17

(D) 2, 17, 13, 14, 8, 5
From smallest to biggest :

From biggest to smallest :

From smallest to biggest :

From biggest to smallest :

From smallest to biggest :

From biggest to smallest :

Example:-

11 18 17 9

20 10 5 15

3 7 0 9

16 4

Get your pupils to understand the instruction and let them solve the
sums by themselves.

1.

2.

3.

Smallest Number

SCERT, T
ELA

NGANAFrom smallest to biggest

SCERT, T
ELA

NGANAFrom smallest to biggest :

SCERT, T
ELA

NGANA :From smallest to biggest :From smallest to biggest

SCERT, T
ELA

NGANAFrom smallest to biggest :From smallest to biggest

SCERT, T
ELA

NGANA
From biggest to smallest

SCERT, T
ELA

NGANA
From biggest to smallest :

SCERT, T
ELA

NGANA
 :From biggest to smallest :From biggest to smallest

SCERT, T
ELA

NGANA
From biggest to smallest :From biggest to smallest

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

10.   Write the biggest and smallest number.

SCERT, T
ELA

NGANA

10.   Write the biggest and smallest number.

Biggest Number

SCERT, T
ELA

NGANA

Biggest Number

SCERT, T
ELA

NGANA

4 16 10 5

SCERT, T
ELA

NGANA

4 16 10 5

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA
(D) 2, 17, 13, 14, 8, 5

SCERT, T
ELA

NGANA
(D) 2, 17, 13, 14, 8, 5

From smallest to biggest

SCERT, T
ELA

NGANA
From smallest to biggest

From biggest to smallest

SCERT, T
ELA

NGANA

From biggest to smallest

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

11 18 17 9

SCERT, T
ELA

NGANA

11 18 17 9

20 10 5 15SCERT, T
ELA

NGANA

20 10 5 152.SCERT, T
ELA

NGANA

2.
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∫qïdü+K´ qT+&ç ô|<ä›dü+K´ :  3 4 5 6 11

ô|<ä›dü+K´ qT+&ç ∫qïdü+K´ : 11 6 5 4  3

n‹ ô|<ä›dü+K´ n‹ ∫qïdü+K´

4 16 10 5

∫qïdü+U´ qT+&ç ô|<ä›dü+K´ :

ô|<ä›dü+K´ qT+&ç ∫qïdü+K´

∫qïdü+U´ qT+&ç ô|<ä›dü+K´ :

ô|<ä›dü+K´ qT+&ç ∫qïdü+K´

∫qïdü+U´ qT+&ç ô|<ä›dü+K´ :

ô|<ä›dü+K´ qT+&ç ∫qïdü+K´

∫qïdü+U´ qT+&ç ô|<ä›dü+K´ :

ô|<ä›dü+K´ qT+&ç ∫qïdü+K´

ñ<ë:`

11 18 17 9

20 10 5 15

3 7 0 9

16 4

(n)

(Ä)

(Ç)

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

4 16 10 5

SCERT, T
ELA

NGANA

4 16 10 5

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA∫qïdü+U´ qT+&ç ô|<ä›dü+K´ :

SCERT, T
ELA

NGANA∫qïdü+U´ qT+&ç ô|<ä›dü+K´ :

ô|<ä›dü+K´ qT+&ç ∫qïdü+K´

SCERT, T
ELA

NGANA
ô|<ä›dü+K´ qT+&ç ∫qïdü+K´

∫qïdü+U´ qT+&ç ô|<ä›dü+K´ :

SCERT, T
ELA

NGANA
∫qïdü+U´ qT+&ç ô|<ä›dü+K´ :

ô|<ä›dü+K´ qT+&ç ∫qïdü+K´

SCERT, T
ELA

NGANA

ô|<ä›dü+K´ qT+&ç ∫qïdü+K´

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

11 18 17 9

SCERT, T
ELA

NGANA

11 18 17 9

20 10 5 15SCERT, T
ELA

NGANA

20 10 5 15(Ä)SCERT, T
ELA

NGANA

(Ä)
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11. Show the way to the building by joining the numbers in the correct order.

Get your pupils to understand the instruction.  Let them solve the
activity / exercise by themselves.

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA
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SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA
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2 Numbers from 10 to 99
1. Count the bundles of sticks and the loose sticks.

Write the numbers from 10 to 20.

Get your pupils to count the tens and the ones.  Let them write the
number in the boxes.

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA
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SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA



18Free Distribution by T.S.Government  2022-23

3. In the Number Ribbon, write the correct number at each DOT ( )

2. Count the bundles of sticks .  Write the correct numbers.

Get your pupils to count the tens and ones and let them write the
numbers in the blank boxes.

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

3. In the Number Ribbon, write the correct number at each DOT (SCERT, T
ELA

NGANA

3. In the Number Ribbon, write the correct number at each DOT (SCERT, T
ELA
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4. Numbers from 21 to 30

Get your pupils to count the tens and ones and let them write the
numbers in the blank boxes.
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tens ones

tens ones

tens ones

tens ones

tens ones

tens ones

tens ones

tens ones

tens ones

tens ones

tens ones

5. Numbers from 31 to 40.

Get your pupils to count the tens and ones and let them write the
numbers in the blank boxes.
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6. Numbers from 41 to 50.

Get your pupils to count the tens and ones and let them write the correct
numbers in the blank boxes.
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ELA

NGANA

SCERT, T
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tens ones
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7. Numbers from 51 to 60.

Get your pupils to count the tens and ones let them write the correct
numbers in the blank boxes.
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Get your pupils to count the tens and ones and let them write the correct
numbers in the blank boxes.
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8. Numbers from 61 to 70.
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9. Numbers from 71 to 80.

Get your pupils to count the tens and ones and let them write the correct
numbers in the blank boxes.

tens ones

tens ones

tens ones

tens ones

tens ones

tens ones
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10. Numbers from 81 to 90.

Get your pupils to count the tens and ones and let them write the correct
numbers in the blank boxes.
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11. Numbers from 91 to 100.

Get your pupils to count the tens and ones and let them write the correct
numbers in the blank boxes.
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12. Observe the of numbers written in ascending and descending orders.

Then Ravi wrote the numbers as 20, 50, 60, 70.

Then Radha asked Ravi to write the same set of numbers from the biggest
to the smallest.

Ravi wrote like this.

Thus, writing numbers from the smallest to the biggest is known as writing in
ASCENDING  ORDER.

So if you write 20, 60, 50 and 70 from the biggest to the smallest, you get 70, 60,
50, 20

Thus, writing numbers from the biggest to the smallest is known as writing in
DESCENDING  ORDER.

Radha dictated to Ravi some numbers.  They are 20, 60, 50 and 70.  She asked
him to write the numbers from the smallest to the biggest.

Ravi thought in the following way.

The smallest among 20, 60, 50, 70   20

The smallest among  60, 50, 70   50

The smaller of 60 and 70   60

The remaining number   70

70

60

50

20

20

50

60

70

Get your pupils to understand the two orders of writing any given
numbers.

The biggest among 20, 60, 50, 70   70

The biggest among  20, 60, 50   60

The bigger of 20 and 50   50

The remaining number   20SCERT, T
ELA
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Then Ravi wrote the numbers as 20, 50, 60, 70.

Then Radha asked Ravi to write the same set of numbers from the biggest
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Then Radha asked Ravi to write the same set of numbers from the biggest

Ravi wrote like this.
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Ravi wrote like this.

Thus, writing numbers from the smallest to the biggest is known as writing in
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Thus, writing numbers from the smallest to the biggest is known as writing in
ASCENDING  ORDER.
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So if you write 20, 60, 50 and 70 from the biggest to the smallest, you get 70, 60,SCERT, T
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So if you write 20, 60, 50 and 70 from the biggest to the smallest, you get 70, 60,

20
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The biggest among 20, 60, 50, 70   70
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The biggest among 20, 60, 50, 70   70

The biggest among  20, 60, 50   60
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The biggest among  20, 60, 50   60

The bigger of 20 and 50   50
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The bigger of 20 and 50   50

The remaining number   20SCERT, T
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The remaining number   20
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s¡$ 20, 60, 50, 70 \qT ∫qïdü+K´ qT+&ç ô|<ä›dü+K´ es¡≈£î Ç˝≤ sêkÕ&ÉT. 

sê<Ûä ô|’ dü+K´\H˚ ô|<ä›dü+K´ qT+&ç ∫qïdü+K´ es¡≈£î es¡Tdü>± sêj·TeTì s¡$ì n&ç–+~. s¡$ Ç˝≤

sêXÊ&ÉT.

20, 60, 50, 70 \qT ô|<ä›dü+K´ qT+&ç ∫qïdü+K´ es¡≈£î es¡Tdü>± sêj·T>± 70, 60, 50, 20.

sê<Ûä, s¡$øÏ ø=ìï dü+K´\T #Ó|æŒ+~. n$  M{Ïì ∫qïdü+K´ qT+&ç ô|<ä›dü+K´

es¡≈£î es¡Tdü>± sêj·TeT+~.

s¡$ ∫qïdü+K´ qT+&ç ô|<ä›dü+K´qT sêj·T&ÜìøÏ

øÏ+~ $<Ûä+>± Ä˝À∫+#ê&ÉT.

20, 60, 50, 70 \˝À ∫qï~. 20

60, 50, 70 \˝À ∫qï~. 50

60, 70 \˝À ∫qï~. 60

∫es¡>± $T–*q~. 70

20, 60, 50, 70 \˝À ô|<ä›~. 70

20, 60, 50 \˝À ô|<ä›~. 60

20, 50 \˝À ô|<ä›~. 50

∫es¡>± $T–*q~. 20

70

60

50

20

20

50

60

70
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s¡$ 20, 60, 50, 70 \qT ∫qïdü+K´ qT+&ç ô|<ä›dü+K´ es¡≈£î Ç˝≤ sêkÕ&ÉT. 
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sê<Ûä ô|’ dü+K´\H˚ ô|<ä›dü+K´ qT+&ç ∫qïdü+K´ es¡≈£î es¡Tdü>± sêj·TeTì s¡$ì n&ç–+~. s¡$ Ç˝≤
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20, 60, 50, 70 \qT ô|<ä›dü+K´ qT+&ç ∫qïdü+K´ es¡≈£î es¡Tdü>± sêj·T>± 70, 60, 50, 20.
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20, 60, 50, 70 \qT ô|<ä›dü+K´ qT+&ç ∫qïdü+K´ es¡≈£î es¡Tdü>± sêj·T>± 70, 60, 50, 20.

20, 60, 50, 70 \˝À ô|<ä›~. 70
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20, 60, 50, 70 \˝À ô|<ä›~. 70

20, 60, 50 \˝À ô|<ä›~. 60
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20, 60, 50 \˝À ô|<ä›~. 60

20, 50 \˝À ô|<ä›~. 50
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20, 50 \˝À ô|<ä›~. 50

∫es¡>± $T–*q~. 20

SCERT, T
ELA

NGANA

∫es¡>± $T–*q~. 20

20
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Exercise

1. Match the pictures with the numbers.

Get your pupils to understand the instructions given for the problems.
Help them to do them by themselves.

30

50

20

80

40

60

90

Example

70
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30

50

20

80

40

60

90

ñ
<
ëV

ü≤s
¡D

70

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA50

SCERT, T
ELA

NGANA50

SCERT, T
ELA

NGANA



40Free Distribution by T.S.Government  2022-23

2. a) Look at the number.  Write how many b) Fill in the blank boxes with

tens there are in it?   the correct numbers

3. Count the pictures in tens and ones.  Write the correct numbers in the boxes.

Example:-

80 8

30

50

90

20

70

10

50 5

6

7

40

2

3

10

    Number Tens

(d)

(e)

(f)

tens R 1

ones R 9

numberR19

tens R

ones R

numberR

tens R

ones R

numberR

tens R

ones R

numberR

tens R

ones R

numberR

tens R

ones R

numberR

Get your pupils to understand the instructions and let them solve the
sums by themselves.

Ex:-     Number Tens

(a)

(b)

(c) SCERT, T
ELA

NGANA

3. Count the pictures in tens and ones.  Write the correct numbers in the boxes.
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NGANA

3. Count the pictures in tens and ones.  Write the correct numbers in the boxes.

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA7

SCERT, T
ELA

NGANA7

2

SCERT, T
ELA

NGANA
2

10

SCERT, T
ELA

NGANA
10

(d)

SCERT, T
ELA

NGANA

(d) R 1

SCERT, T
ELA

NGANA

 R 1

ones

SCERT, T
ELA

NGANA

ones R 9

SCERT, T
ELA

NGANA

 R 9

number

SCERT, T
ELA

NGANA

numberR19

SCERT, T
ELA

NGANA

R19

tens

SCERT, T
ELA

NGANA

tens

(c) SCERT, T
ELA

NGANA

(c)
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ñ<ë:`

80 8

30

50

90

20

70

10

50 5

6

7

40

2

3

10

dü+K´ |ü<äT\T dü+K´ |ü<äT\Tñ<ë:`

(n)

(Ä)

(Ç)

(á)

(ñ)

(})

|ü<äT\T R 1

ˇø£≥T¢ R 9

dü+U´ R 19

|ü<äT\T R

ˇø£≥T¢ R

dü+U´ R

|ü<äT\T R

ˇø£≥T¢ R

dü+U´ R

|ü<äT\T R

ˇø£≥T¢ R

dü+U´ R

|ü<äT\T R

ˇø£≥T¢ R

dü+U´ R

|ü<äT\T R

ˇø£≥T¢ R

dü+U´ R

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA7

SCERT, T
ELA

NGANA7

10

SCERT, T
ELA

NGANA

10

(Ç)SCERT, T
ELA

NGANA

(Ç)

(á)

SCERT, T
ELA

NGANA

(á)|ü<äT\T R 1

SCERT, T
ELA

NGANA

|ü<äT\T R 1

ˇø£≥T¢ R 9

SCERT, T
ELA

NGANA

ˇø£≥T¢ R 9

dü+U´ R 19

SCERT, T
ELA

NGANA

dü+U´ R 19

|ü<äT\T R

SCERT, T
ELA

NGANA

|ü<äT\T R

SCERT, T
ELA

NGANA
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4. Write the correct numbers in the blank boxes.

5. Write the correct numbers in the blank boxes.

Get your pupils to understand the instructions and let them solve the
sums by themselves.

Ex: 4 tens G 1 ones R 40 G 1 R 41

(a) 3 tens G 4 ones R G 4 R

(b) 7 tens G ones R G 6 R

(c) 8 tens G 7 ones R G R 87

(d) 6 tens G ones R G 8 R 68

(e) 9 tens G 9 ones R G R

1 2 3 4 5 6 7 8 9 10

11 12 14 17 20

25

31 33 38 40

42 46 49

51 55 58 60

61 63 67

72 76 79 80

81 84 88 90

91

SCERT, T
ELA

NGANA

5. Write the correct numbers in the blank boxes.

SCERT, T
ELA

NGANA

5. Write the correct numbers in the blank boxes.

R G R 87

SCERT, T
ELA

NGANAR G R 87

R G 8 R 68

SCERT, T
ELA

NGANA
R G 8 R 68

R G R

SCERT, T
ELA

NGANA
R G R

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

1 2 3 4 5 6 7 8 9 10

SCERT, T
ELA

NGANA

1 2 3 4 5 6 7 8 9 10

11 12 14 17 20

SCERT, T
ELA

NGANA

11 12 14 17 20

25

SCERT, T
ELA

NGANA

25

31 33 38 40
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ELA

NGANA

31 33 38 40

42 46 49
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ELA

NGANA

42 46 49

51 55 58 60
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ELA

NGANA

51 55 58 60

61 63 67
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NGANA

61 63 67
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NGANA
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NGANA
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ñ<ë: 4 |ü<äT\T G 1 ˇø£≥T¢ R 40 G 1 R 41

(n) 3 |ü<äT\T G 4 ˇø£≥T¢ R G 4 R

(Ä) 7 |ü<äT\T G ˇø£≥T¢ R G 6 R

(Ç) 8 |ü<äT\T G 7 ˇø£≥T¢ R G R 87

(á) 6 |ü<äT\T G ˇø£≥T¢ R G 8 R 68

(ñ) 9 |ü<äT\T G 9 ˇø£≥T¢ R G R

1 2 3 4 5 6 7 8 9 10

11 12 14 17 20

25

31 33 38 40

42 46 49

51 55 58 60

61 63 67

72 76 79 80

81 84 88 90

91

SCERT, T
ELA

NGANA(Ç) 8 |ü<äT\T G 7 ˇø£≥T¢ R G R 87

SCERT, T
ELA

NGANA(Ç) 8 |ü<äT\T G 7 ˇø£≥T¢ R G R 87

(á) 6 |ü<äT\T G ˇø£≥T¢ R G 8 R 68

SCERT, T
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NGANA
(á) 6 |ü<äT\T G ˇø£≥T¢ R G 8 R 68

(ñ) 9 |ü<äT\T G 9 ˇø£≥T¢ R G R

SCERT, T
ELA

NGANA
(ñ) 9 |ü<äT\T G 9 ˇø£≥T¢ R G R

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

1 2 3 4 5 6 7 8 9 10
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NGANA

1 2 3 4 5 6 7 8 9 10

11 12 14 17 20
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ELA

NGANA

11 12 14 17 20

25

SCERT, T
ELA

NGANA

25

31 33 38 40
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ELA

NGANA

31 33 38 40

42 46 49
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ELA

NGANA

42 46 49

51 55 58 60
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51 55 58 60

61 63 67

SCERT, T
ELA

NGANA

61 63 67

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA
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7. Put a on the biggest number. 8. Draw a around the smallest
number.

9. Identify between which numbers the given numbers lie with a 

42 40`50 50`60 30`40

50`60 60`70 70`80

54 40`50 50`60 60`70

36 30`40 40`50 50`60

12 10`20 0`10 20`30

Example:-

6. Draw a around the smaller number.

Example:- 30 60 22 32 91 99

75 55 42 22 84 82

43 44 54 64 79 69

39 59 95 75 59 34

40 44 66 64 47 27

62

Get your pupils to understand the instructions and let them solve the
sums by themselves.

(a)

(b)

(c)

(d)

   30 40 50 60

62 52 32 42

44 34 64 54

56 66 46 36

38 48 68 58

31 61 51 41

53 63 33 43

65 35 55 45

47 57 67 37

59 49 39 69

(a)

(b)

(c)

(d)

Ex:-

(a)

(b)

(c)

(d)

Example:-
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31 61 51 41
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31 61 51 4131 61 51 41
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31 61 51 4131 61 51 41
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31 61 51 41

53 63 33 43

SCERT, T
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53 63 33 4353 63 33 43
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53 63 33 43
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9. Identify between which numbers the given numbers lie with a 

SCERT, T
ELA

NGANA

9. Identify between which numbers the given numbers lie with a 

Example:-

SCERT, T
ELA

NGANA

Example:-
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NGANA
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NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA
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NGANA

44 34 64 54

SCERT, T
ELA

NGANA

44 34 64 54

56 66 46 36
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ELA

NGANA

56 66 46 3656 66 46 36
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NGANA

56 66 46 36

38 48 68 58
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ELA

NGANA

38 48 68 5838 48 68 58
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38 48 68 58
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42 40`50 50`60 30`40

50`60 60`70 70`80

54 40`50 50`60 60`70

36 30`40 40`50 50`60

12 10`20 0`10 20`30

30 60 22 32 91 99

75 55 42 22 84 82

43 44 54 64 79 69

39 59 95 75 59 34

40 44 66 64 47 27

62

ñ<ë:

(n)

(Ä)

(Ç)

(á)

30 40 50 60

62 52 32 42

44 34 64 54

56 66 46 36

38 48 68 58

31 61 51 41

53 63 33 43

65 35 55 45

47 57 67 37

59 49 39 69

(n)

(Ä)

(Ç)

(á)

ñ<ë:

(n)

(Ä)

(Ç)

(á)
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NGANA
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NGANA
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NGANA
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NGANA59 34
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NGANA59 34
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NGANA47 27

SCERT, T
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NGANA47 27
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44 34 64 54
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44 34 64 54

56 66 46 36
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56 66 46 3656 66 46 36
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56 66 46 36

38 48 68 58
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38 48 68 5838 48 68 58
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38 48 68 58
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31 61 51 41
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31 61 51 4131 61 51 41
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31 61 51 41

53 63 33 43
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ELA

NGANA

53 63 33 4353 63 33 43
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ELA

NGANA

53 63 33 43

SCERT, T
ELA

NGANA

(n)
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(n)

(Ä)
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ELA

NGANA

(Ä)
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10.  Solve the following (answer orally).

a) Ramesh has Rs. 50.  Sita has Rs. 30.  Who has more money?

..............................................................................................................

..............................................................................................................

b) Pavan got 45 marks in Mathematics, Janaki got 75, Razia got 65 and Vaani got 59.
Say these numbers in ascending order.

..............................................................................................................

..............................................................................................................

c) Say the number in which 5 in ones place and 7 in tens place.

..............................................................................................................

..............................................................................................................

d) Say a problem which you can solve using the equation  20 + 5 = 25.

..............................................................................................................

..............................................................................................................

11. Write 5 numbers wtih 2 digits using
4, 5, 7.

12. Look at the numbers.  Draw
around those which are between
20 and 30.

64 24 17 20 31

26 37 22 58 93

76 21 50 64 27

19 30 29 83 18

Get your pupils to understand the instructions and let them solve the
sums by themselves.

Ex
   Number Tens + Ones

Ex:- 57 50 G 7
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..............................................................................................................
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NGANA..............................................................................................................

c) Say the number in which 5 in ones place and 7 in tens place.
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NGANA
c) Say the number in which 5 in ones place and 7 in tens place.

..............................................................................................................

SCERT, T
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..............................................................................................................

..............................................................................................................

SCERT, T
ELA

NGANA
..............................................................................................................

d) Say a problem which you can solve using the equation  20 + 5 = 25.
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NGANA

d) Say a problem which you can solve using the equation  20 + 5 = 25.

..............................................................................................................

SCERT, T
ELA
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..............................................................................................................

..............................................................................................................
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..............................................................................................................

11. Write 5 numbers wtih 2 digits using
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11. Write 5 numbers wtih 2 digits using
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NGANA
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NGANA
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ELA

NGANA

SCERT, T
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NGANA
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ELA

NGANA
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NGANA
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Number Tens + Ones
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Number Tens + Ones

57 50 G 7
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(n)s¡y˚Twt e<ä› 50 s¡÷bÕj·T\T ñHêïsTT. d”‘· e<ä› 30 s¡÷bÕj·T\T ñHêïsTT. me] e<ä› m≈£îÿe

ñHêïjÓ÷ ‘Ó\Œ+&ç.

..................................................................................................................

...............................................................................................................

(Ä)>∑DÏ‘·+˝À |üeHé≈£î 45 e÷s¡Tÿ\T, C≤qøÏøÏ 75 e÷s¡Tÿ\T, s¡õj·÷≈£î 65 e÷s¡Tÿ\T, yêDÏøÏ 59

e÷s¡Tÿ\T e#êÃsTT. yê] e÷s¡Tÿ\qT Äs√Vü≤D Áø£eT+˝À ‘Ó\Œ+&ç.

..................................................................................................................

...............................................................................................................

(Ç)  5 ˇø£≥T¢, 7 |ü<äT\qT dü÷∫+#˚ dü+K´qT ‘Ó\Œ+&ç.

...............................................................................................................

...............................................................................................................

(á) 20G5 R 25 e#˚Ã≥≥T¢ ˇø£ sê‘· …̋ø£ÿqT ‘Ó\Œ+&ç.

...............................................................................................................

...............................................................................................................

64 24 17 20 31

26 37 22 58 93

76 21 50 64 27

19 30 29 83 18

dü+K´ |ü<äT\T G ˇø£≥T¢

ñ<ë: 57 50 G 7

ñ<ë:
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...............................................................................................................
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...............................................................................................................

...............................................................................................................

SCERT, T
ELA

NGANA

...............................................................................................................

(á) 20G5 R 25 e#˚Ã≥≥T¢ ˇø£ sê‘· …̋ø£ÿqT ‘Ó\Œ+&ç.
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(á) 20G5 R 25 e#˚Ã≥≥T¢ ˇø£ sê‘· …̋ø£ÿqT ‘Ó\Œ+&ç.

...............................................................................................................
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54 75 82

13.  Draw around the numbers where you see 4 in the ones place.

15.  Show the way to the top of the hill.

- Start from the lowest row.

- Reach the big number from the small
one.

- Go upwards or to sidewards but not
downwards.

- Reach the number 99.

- Show as many ways as you can.

Ex:  11, 20, 24, 39, 47,
  54, 87, 94, 99

14.  Play the Rat's tail game.

Extend the rat's tail from the smallest to
the biggest number given in the grid.

53 87 94 68 42

43 79 84 53 59

54 32 83 74 64

81 58 34 57 40

Get your pupils to understand the instructions and let them solve the
sums by themselves.

59 48 32 24

61 45 39 99

63 74 78 92

68 70 80 85

99

63 94

52 87 79

46

37 47 63 79 92

30 39 37 57 69 72

19 24 43 29 63 65

20 10 41 37 29

11 24 35

Ex:-
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15.  Show the way to the top of the hill.
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15.  Show the way to the top of the hill.

- Start from the lowest row.
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- Start from the lowest row.

- Reach the big number from the small
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- Reach the big number from the small

- Go upwards or to sidewards but not
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- Go upwards or to sidewards but not
downwards.
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downwards.

- Reach the number 99.
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- Reach the number 99.

- Show as many ways as you can.SCERT, T
ELA

NGANA

- Show as many ways as you can.
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Ex:  11, 20, 24, 39, 47,SCERT, T
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:  11, 20, 24, 39, 47,SCERT, T
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` øÏ+~ es¡Tdü qT+&ç ÁbÕs¡+_Û+#·+&ç.

` Á|ü‹kÕ] ∫qïdü+K´qT+&ç ô|<ä›dü+K´≈£î

#˚s¡+&ç.

` ô|’øÏ>±ì, |üø£ÿ\≈£î>±ì yÓfi¯¢+&ç. øÏ+<ä≈£î

yÓfi¯¢sê<äT.

` ∫e]øÏ 99ì #˚s¡+&ç

` Ç˝≤ M …̋’qìï <ës¡T\T #·÷|ü+&ç.

ñ<ë: 11, 20, 24, 39, 47,

  54, 87, 94, 99

∫qïdü+K´ qT+&ç ô|<ä›dü+K´≈£î Á|ü‹dü+K´qT

m\Tø£‘√ø£qT bı&ç–dü÷Ô es¡Tdü̋ À ø£\|ü+&ç.

53 87 94 68 42

43 79 84 53 59

54 32 83 74 64

81 58 34 57 40

59 48 32 24

61 45 39 99

63 74 78 92

68 70 80 85

99

63 94

52 87 79

46

37 47 63 79 92

30 39 37 57 69 72

19 24 43 29 63 65

20 10 41 37 29

11 24 35
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3 Numbers with Three Digits
1. Look at the bundles of sticks and the loose sticks.

If you add 1 to 99, you get 100.
The number that comes after 99 is 100.

How many tens are there in 100? How many ones are there in 100?
100 = 10 tens.   100 = 100 ones.

The last number with two digits is 99.  It means the biggest number with two digits is 99.
There are 3 digits in 100.  The first number with three digits is 100.  It means 100 is the

smallest number with three digits.
If you add 1 to the biggest number of two digits, you get the smallest number with three

digits.

How much is 99 + 1?

Get your pupils to count in bundles of sticks and the single stick.  Introduce
the number 100 to them.

G 1tens9

9

10

hundred1 0

ones9

ones10

ones0

ones0

tens

tens

tens

1 t
en
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2. Count in hundreds and write the correct number.

Get your pupils to count in hundreds.  Help them to understand writing
of numbers 100, 200, .......... 900.

1 1 100 100 200

200 100 300

300 400

100 500

600

700 100

800 100 900

hundred hundred

hundreds

hundreds

hundreds

hundreds

hundreds

hundreds

hundreds hundred

hundred

hundred

hundred

hundred

hundred

hundred
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3. Look at the bundles of sticks and the loose sticks.  Read the numbers.

Get your pupils to count in bundles of sticks and the loose sticks in hundreds,
tens, ones and help them to understand how to read the numbers from 101
to 169.

100 G 0 G 1 R 101

100 G 0 G 2 R 102

100 G 0 G 9 R 109

100 G 10 G 0 R 110

100 G 20 G 0 R 120

100 G 40 G 0 R 140

100 G 60 G 9 R 169

1 ten

2 tens

6 tens

1 hundred

1 hundred

1 hundred

1 hundred

1 hundred

1 hundred

1 hundred

1 ones

2 ones

9 ones

9 ones

4 tens
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100 G 0 G 1 R 101

100 G 0 G 2 R 102

100 G 0 G 9 R 109

100 G 10 G 0 R 110

100 G 20 G 0 R 120

100 G 40 G 0 R 140

100 G 60 G 9 R 169
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4. Look at the bundles of sticks and the loose sticks.  Write the numbers in the
blank boxes.

Get your pupils to count in hundreds, tens and ones using bundles of sticks
and the loose sticks. Let them understand how to write the numbers from
101 to 999.

2 hundreds

3 hundreds

4 hundreds

5 hundreds

3 tens

9 ones

6 ones

200 G 30 G 6 R 236

300 G 40 G 9 R

4 tens

5 ones

6 tens

300 G 40 G 9 R

300 G 40 G 9 R 405
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5. Look at the bundles of sticks and the loose sticks.  Write the correct numbers
in the blank boxes.

Get your pupils to count in hundreds, tens and ones using bundles of sticks
and the loose sticks. Let them understand how to write the numbers from
101 to 999.

6 hundreds

7 hundreds

8 hundreds

9 hundreds

300 G 40 G 9 R

300 G 40 G 9 R
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7 tens

5 tens

8 tens

2 tens
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6. Observe the following charts that show the place value and the face value of the
digits in numbers.
Example-1: Observe the place, place value and face value of the digits in 746.

Help your pupils to understand the digits in a number, their place values
and face values as shown above.  Similarly help them to understand the
face value of zero.

Wherever there is 0 in a number, its place value is 0.

Look at the following table.  Write the place and place value of the digit.

Now write the place, place value and face value of the digits in 504.

Number

420

504

Number

Place Value

Face Value

7 4 6

7  I 100 R 700 4 I 10 R 40 6 I 1 R 6

7 4 6

Position hundreds tens ones

8 0 5

8 I 100 R 800 0 I 10 R  0 5 I 1 R 5

8 0 5

hundreds tens ones

5 0 4

hundreds tens ones

I R I R I R

Example-2: Observe the place, place value and face value of the digits in 805.

Number

Place Value

Face Value

Position

Number

Place Value

Face Value
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8 0 5

SCERT, T
ELA

NGANA

8 0 5

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA
e+<ä\T |ü<äT\T

SCERT, T
ELA

NGANA
e+<ä\T |ü<äT\T

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

5 0 4

SCERT, T
ELA

NGANA

5 0 4

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

kÕúq $\Te

SCERT, T
ELA

NGANA

kÕúq $\Te

düVü≤» $\Te

SCERT, T
ELA

NGANA

düVü≤» $\Te

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

e+<ä\T |ü<äT\T

SCERT, T
ELA

NGANA

e+<ä\T |ü<äT\T

SCERT, T
ELA

NGANA
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Observe th following notes and coins. Count in Rs.100, Rs.10 and Re.1.

Rama went to a shop.  She purchased some notebooks.  She has to pay Rs. 123.  She
had 2 one-hundred notes, 9 ten rupee notes and 10 one-rupee coins.  How many notes
and coins should she pay the shopkeeper?

To pay Rs. 345, Rama
must give
3 hundred - rupee notes
4 ten - rupee notes and
5 one - rupee coins.

If she has to pay
Rs. 345, how many
notes and coins must
she give the
shopkeeper ?

To pay Rs. 123, how many
notes and coins should I

give the shopkeeper?

To pay Rs. 123
Rama must give hundred - rupee
1 note
2 ten - rupee notes, and
3 one rupee coins.

Help your pupils to understand the short and expanded forms of numbers as,
shown above.

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

If she has to pay

SCERT, T
ELA

NGANA

If she has to payIf she has to pay

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA
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s¡eT <äTø±D≤ìøÏ yÓ[¢+~. H√{Ÿ |ü⁄düÔø±\T ø=qï~. ø=qï H√{Ÿ |ü⁄düÔø±\≈£î >±qT s¡÷.123 #Ó*¢+#ê*.

s¡eT <ä>∑Zs¡ 100 s¡÷ˆˆ H√≥T¢ 2, 10 s¡÷ˆˆ\ H√≥T¢ 9,1 s¡÷.HêD≤\T 10 e÷Á‘·y˚T ñHêïsTT. 123 s¡÷ˆˆ\T

#Ó*¢+#·{≤ìøÏ, HêD≤\T, H√≥T¢ mHÓïìï Çyê«*?

345 s¡÷ˆˆ\+fÒ

3 e+<ä s¡÷ˆˆ\T H√≥T¢

4 |ü~ s¡÷bÕj·T\T H√≥T¢

5 s¡÷bÕsTT HêD≤\T Çyê«*

ˇø£ y˚fi¯ 345

s¡÷bÕj·T\T

Çyê«\+fÒ HêD≤\T

H√≥T¢ mHÓïìï Çyê«*

s¡÷ˆˆ123 #Ó*¢+#ê\+fÒ

@j˚T H√≥T¢, HêD≤\T mìï Çyê«*.

123 s¡÷ˆˆ\+fÒ

1 e+<ä s¡÷ˆˆ\T H√≥T

2 |ü~ s¡÷ˆˆ\T H√≥T¢

3 ˇø£ s¡÷ˆˆ HêD≤\T Çyê«*

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

ˇø£ y˚fi¯ 345

SCERT, T
ELA

NGANA

ˇø£ y˚fi¯ 345ˇø£ y˚fi¯ 345

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

3 ˇø£ s¡÷ˆˆ HêD≤\T Çyê«*

SCERT, T
ELA

NGANA

3 ˇø£ s¡÷ˆˆ HêD≤\T Çyê«*3 ˇø£ s¡÷ˆˆ HêD≤\T Çyê«*

SCERT, T
ELA

NGANA
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8. Write the numbers in the expanded form.

The expanded form of is ..........

Place value of 6 R

Place value of 5 R

Place value of 0 R

The expanded form of 384 is .........

Place value of 3 R

Place value of 8 R

Place value of 4 R

The expanded form of is

Place value of 7 R

Place value of 0 R

Place value of 9 R

Ex

Place value of 2 R 200

Place value of 5 R 50

Place value of 6 R 6

9. Write the number in the short form.

Ex 1:` 400 G 60 G 5 R 465

4 0 0

06

5

G

G

Ex 2:` 800 G 0 G 5 R 805

8 0 0

00

5

G

G

4 6 5 8 0 5

1.900 G 50 G 6 R ..........

G

G

2. 600 G 30 G 0 R ..........

G

G

Help your pupils to understand how to write numbers in the expanded and
short forms as shown above.

SCERT, T
ELA

NGANAThe expanded form of 

SCERT, T
ELA

NGANAThe expanded form of 

SCERT, T
ELA

NGANAis ..........

SCERT, T
ELA

NGANAis ..........

Place value of 6

SCERT, T
ELA

NGANA
Place value of 6 R

SCERT, T
ELA

NGANA
R

Place value of 5

SCERT, T
ELA

NGANA
Place value of 5 R

SCERT, T
ELA

NGANA
R

Place value of 0

SCERT, T
ELA

NGANA
Place value of 0

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

Ex 2

SCERT, T
ELA

NGANA

Ex 2:` 800 G 0 G 5 R 805

SCERT, T
ELA

NGANA

:` 800 G 0 G 5 R 805

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

5

SCERT, T
ELA

NGANA

5G

SCERT, T
ELA

NGANA

G

4 6 5 8 0 5

SCERT, T
ELA

NGANA

4 6 5 8 0 5

SCERT, T
ELA

NGANA

1.900 G 50 G 6 R ..........

SCERT, T
ELA

NGANA

1.900 G 50 G 6 R ..........

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA
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6 jÓTTø£ÿ kÕúq $\Te R

5 jÓTTø£ÿ kÕúq $\Te R

0 jÓTTø£ÿ kÕúq $\Te R

3 jÓTTø£ÿ kÕúq $\Te R

8 jÓTTø£ÿ kÕúq $\Te R

4 jÓTTø£ÿ kÕúq $\Te R

7 jÓTTø£ÿ kÕúq $\Te R

0 jÓTTø£ÿ kÕúq $\Te R

9 jÓTTø£ÿ kÕúq $\Te R

2 jÓTTø£ÿ kÕúq $\Te R 200

5 jÓTTø£ÿ kÕúq $\Te R 50

6 jÓTTø£ÿ kÕúq $\Te R 6

ñ<ë:` 400 G 60 G 5 R 465

4 0 0

06

5

G

G

ñ<ë:` 800 G 0 G 5 R 805

8 0 0

00

5

G

G

4 6 5 8 0 5

(1) 900 G 50 G 6 R ..........

G

G

(2) 600 G 30 G 0 R ..........

G

G
SCERT, T

ELA
NGANA

SCERT, T
ELA

NGANA
6 jÓTTø£ÿ kÕúq $\Te R

SCERT, T
ELA

NGANA
6 jÓTTø£ÿ kÕúq $\Te R

5 jÓTTø£ÿ kÕúq $\Te R

SCERT, T
ELA

NGANA
5 jÓTTø£ÿ kÕúq $\Te R

0 jÓTTø£ÿ kÕúq $\Te R

SCERT, T
ELA

NGANA
0 jÓTTø£ÿ kÕúq $\Te R

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

ñ<ë:` 800 G 0 G 5 R 805

SCERT, T
ELA

NGANA

ñ<ë:` 800 G 0 G 5 R 805

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

5

SCERT, T
ELA

NGANA

5G

SCERT, T
ELA

NGANA

G

4 6 5 8 0 5

SCERT, T
ELA

NGANA

4 6 5 8 0 5

SCERT, T
ELA

NGANA

(1) 900 G 50 G 6 R ..........

SCERT, T
ELA

NGANA

(1) 900 G 50 G 6 R ..........

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA
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10. Look at the currency notes and coins.  Say how much you get if you add one
to 999

Get your pupils to observe the currency notes and coins.  Introduce the
number 1000 to them.

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA
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SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA
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Get your pupils to observe the currency notes and coins.  Introduce the
number 1000 to them.

If you add 1 to 999, it becomes 1000.
999 G 1 R 1000

How many 100s are there in a thousand? How many 10s are there?
How many ones are there ?
1000 R 10 hundreds, 1000 R 100 tens, 1000 R 1000 ones.
Thousand is a four - digit number.
The last number among three - digit numbers is 999.
The biggest number among three - digit numbers is 999.
The first number among four - digit numbers is 1000.
The smallest number among four - digit numbers is 1000.

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

If you add 1 to 999, it becomes 1000.

SCERT, T
ELA

NGANA

If you add 1 to 999, it becomes 1000.

How many 100s are there in a thousand? How many 10s are there?SCERT, T
ELA

NGANA

How many 100s are there in a thousand? How many 10s are there?
How many ones are there ?SCERT, T

ELA
NGANA

How many ones are there ?SCERT, T
ELA

NGANA

1000 R 10 SCERT, T
ELA

NGANA

1000 R 10 
Thousand is a four - digit number.
SCERT, T

ELA
NGANA

Thousand is a four - digit number.
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999øÏ 1 ø£*|æ‘˚ 1000 ne⁄‘·T+~.

ˇø£ y˚sTT˝À mìï 100 \T ñHêïsTT? mìï 10 \T ñHêïsTT? mìï 1 \T ñHêïsTT?

1000 R 10 e+<ä\T, 1000 R 100 |ü<äT\T, 1000 R 1000 ˇø£≥T¢.

y˚sTT 4 n+¬ø\ dü+K´

eT÷&É+¬ø\ dü+K´\˝À ∫e]~ 999, eT÷&É+¬ø\ dü+K´\˝À ô|<ä›~ 999

Hê\Z+¬ø\ dü+K´\˝À yÓTT<ä{Ï~ 1000, Hê\Z+¬ø\ dü+K´\˝À ∫qï~ 1000

999 G 1 R 1000SCERT, T
ELA

NGANA

999øÏ 1 ø£*|æ‘˚ 1000 ne⁄‘·T+~.

SCERT, T
ELA

NGANA

999øÏ 1 ø£*|æ‘˚ 1000 ne⁄‘·T+~.

ˇø£ y˚sTT˝À mìï 100 \T ñHêïsTT? mìï 10 \T ñHêïsTT? mìï 1 \T ñHêïsTT?SCERT, T
ELA

NGANA

ˇø£ y˚sTT˝À mìï 100 \T ñHêïsTT? mìï 10 \T ñHêïsTT? mìï 1 \T ñHêïsTT?

1000 R 10 e+<ä\T, 1000 R 100 |ü<äT\T, 1000 R 1000 ˇø£≥T¢.SCERT, T
ELA

NGANA

1000 R 10 e+<ä\T, 1000 R 100 |ü<äT\T, 1000 R 1000 ˇø£≥T¢.SCERT, T
ELA

NGANA
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(a)

(b)

Exercise.

Help your pupils to understand the instructions and fill the grids by
themselves.

201 203 205 207 209 210

211 214 217 220

        222 225 228

231 234 236 239

243 245 250

251 260

263 266

271 274 278

282 285 290

291 297

101 102 103 104 105 106 107 108 109 110

111 114 116 117 119 120

121 123 125 126 128

131 132 135 137 138 140

141 144 147 149

151 153 156 158 159

161 164 167 169 170

171 173 176

181 182 186

191 195 197 200

1. Write the correct numbers in the blank boxes.

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

201 203 205 207 209 210

SCERT, T
ELA

NGANA

201 203 205 207 209 210

211 214 217 220

SCERT, T
ELA

NGANA

211 214 217 220

        222 225 228

SCERT, T
ELA

NGANA

        222 225 228

231 234 236 239

SCERT, T
ELA

NGANA

231 234 236 239

243 245 250

SCERT, T
ELA

NGANA

243 245 250

251 260

SCERT, T
ELA

NGANA

251 260

SCERT, T
ELA

NGANA131 132 135 137 138 140

SCERT, T
ELA

NGANA131 132 135 137 138 140

141 144 147 149

SCERT, T
ELA

NGANA141 144 147 149

151 153 156 158 159

SCERT, T
ELA

NGANA
151 153 156 158 159

161 164 167 169 170

SCERT, T
ELA

NGANA
161 164 167 169 170

181 182 186

SCERT, T
ELA

NGANA

181 182 186

191 195 197 200

SCERT, T
ELA

NGANA

191 195 197 200
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(n)

(Ä)
201 203 205 207 209 210

211 214 217 220

222 225 228

231 234 236 239

243 245 250

251 260

263 266

271 274 278

282 285 290

291 297

101 102 103 104 105 106 107 108 109 110

111 114 116 117 119 120

121 123 125 126 128

131 132 135 137 138 140

141 144 147 149

151 153 156 158 159

161 164 167 169 170

171 173 176

181 182 186

191 195 197 200

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA131 132 135 137 138 140

SCERT, T
ELA

NGANA131 132 135 137 138 140

141 144 147 149

SCERT, T
ELA

NGANA141 144 147 149

151 153 156 158 159

SCERT, T
ELA

NGANA
151 153 156 158 159

161 164 167 169 170

SCERT, T
ELA

NGANA
161 164 167 169 170

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

201 203 205 207 209 210

SCERT, T
ELA

NGANA

201 203 205 207 209 210

211 214 217 220

SCERT, T
ELA

NGANA

211 214 217 220

222 225 228

SCERT, T
ELA

NGANA

222 225 228

231 234 236 239

SCERT, T
ELA

NGANA

231 234 236 239

251 260

SCERT, T
ELA

NGANA

251 260

SCERT, T
ELA

NGANA

181 182 186

SCERT, T
ELA

NGANA

181 182 186

191 195 197 200

SCERT, T
ELA

NGANA

191 195 197 200
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(c)

(d)
401 402 403 404 405 406 407 408 409 410

411 420

421 430

440

450

460

470

480

490

500

Help your pupils to to fill the grids by themselves as per the instructions.

301 302 303 304 305 306 307 308 309 310

311 320

321 330

340

350

360

370

380

390

400

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

401 402 403 404 405 406 407 408 409 410

SCERT, T
ELA

NGANA

401 402 403 404 405 406 407 408 409 410

411 420

SCERT, T
ELA

NGANA

411 420

421 430

SCERT, T
ELA

NGANA

421 430

SCERT, T
ELA

NGANA350

SCERT, T
ELA

NGANA350360

SCERT, T
ELA

NGANA360
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(Ç)

(á) 401 402 403 404 405 406 407 408 409 410

411 420

421 430

440

450

460

470

480

490

500

301 302 303 304 305 306 307 308 309 310

311 320

321 330

340

350

360

370

380

390

400

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

401 402 403 404 405 406 407 408 409 410

SCERT, T
ELA

NGANA

401 402 403 404 405 406 407 408 409 410

411 420

SCERT, T
ELA

NGANA

411 420

421 430

SCERT, T
ELA

NGANA

421 430

SCERT, T
ELA

NGANA
350

SCERT, T
ELA

NGANA
350

360

SCERT, T
ELA

NGANA360
370

SCERT, T
ELA

NGANA
370
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Help your pupils to solve the exercises by themselves as per the
instructions.

(e)

(f)
601 602 603 604 605 606 607 608 609 610

611 620

621 630

640

650

660

670

680

690

700

501 502 503 504 505 506 507 508 509 510

511 520

521 530

540

550

560

570

580

590

600

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

601 602 603 604 605 606 607 608 609 610

SCERT, T
ELA

NGANA

601 602 603 604 605 606 607 608 609 610

611 620

SCERT, T
ELA

NGANA

611 620

621 630

SCERT, T
ELA

NGANA

621 630

SCERT, T
ELA

NGANA550

SCERT, T
ELA

NGANA550

560

SCERT, T
ELA

NGANA560

570

SCERT, T
ELA

NGANA
570



75

(ñ)

(})

501 502 503 504 505 506 507 508 509 510

511 520

521 530

540

550

560

570

580

590

600

601 602 603 604 605 606 607 608 609 610

611 620

621 630

640

650

660

670

680

690

700

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA
550

SCERT, T
ELA

NGANA
550

560

SCERT, T
ELA

NGANA560

570

SCERT, T
ELA

NGANA
570

SCERT, T
ELA

NGANA

601 602 603 604 605 606 607 608 609 610

SCERT, T
ELA

NGANA

601 602 603 604 605 606 607 608 609 610

611 620

SCERT, T
ELA

NGANA

611 620

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

621 630

SCERT, T
ELA

NGANA

621 630
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(g)

(h)

Help your pupils to solve the exercises by themselves as per the
instructions.

801 802 803 804 805 806 807 808 809 810

811 820

830

840

850

860

870

880

890

900

701 702 703 704 705 706 707 708 709 710

711 720

721 730

740

750

760

770

780

790

800

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

801 802 803 804 805 806 807 808 809 810

SCERT, T
ELA

NGANA

801 802 803 804 805 806 807 808 809 810

811 820

SCERT, T
ELA

NGANA

811 820

SCERT, T
ELA

NGANA750

SCERT, T
ELA

NGANA750760

SCERT, T
ELA

NGANA760
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(m)

(@) 801 802 803 804 805 806 807 808 809 810

811 820

830

840

850

860

870

880

890

900

701 702 703 704 705 706 707 708 709 710

711 720

721 730

740

750

760

770

780

790

800

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

801 802 803 804 805 806 807 808 809 810

SCERT, T
ELA

NGANA

801 802 803 804 805 806 807 808 809 810

811 820

SCERT, T
ELA

NGANA

811 820

SCERT, T
ELA

NGANA
750

SCERT, T
ELA

NGANA
750

760

SCERT, T
ELA

NGANA760
770

SCERT, T
ELA

NGANA
770
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Help your pupils to understand the instructions to solve the above
problems by themselves.

901 902 903 904 905 906 907 908 909 910

911 920

921 930

940

950

960

970

980

990

1000

(i)

(a) (b)
927 928 157 158

(d)646 648 214

800 749

2. Write the correct numbers in the blank boxes.

(c)

(f)(e)SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA950

SCERT, T
ELA

NGANA950

960

SCERT, T
ELA

NGANA960

970

SCERT, T
ELA

NGANA
970

SCERT, T
ELA

NGANA

927 928 157 158

SCERT, T
ELA

NGANA

927 928 157 158

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

646 648

SCERT, T
ELA

NGANA

646 648

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

2. Write the correct numbers in the blank boxes.

SCERT, T
ELA

NGANA

2. Write the correct numbers in the blank boxes.

(e)SCERT, T
ELA

NGANA

(e)
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901 902 903 904 905 906 907 908 909 910

911 920

921 930

940

950

960

970

980

990

1000

(◊)

(n) (Ä)927 928 157 158

(Ç)
(á)

646 648 214

(ñ)
(})

800 749SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA
950

SCERT, T
ELA

NGANA
950

960

SCERT, T
ELA

NGANA960

970

SCERT, T
ELA

NGANA
970

SCERT, T
ELA

NGANA

(n) (Ä)

SCERT, T
ELA

NGANA

(n) (Ä)927 928 157 158

SCERT, T
ELA

NGANA

927 928 157 158(n) (Ä)927 928 157 158(n) (Ä)

SCERT, T
ELA

NGANA

(n) (Ä)927 928 157 158(n) (Ä)
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4. Write the place and place value of the digit underlined in the number.

Number Place of the digit Underlined Place value

hundreds 200

Help your pupils to understand the instructions to solve the above
problems by themselves.

2 4 9

9 0 9

4 8 7

5 5 5

Example:-

5. Write the number in the expanded form.

(d) 543

496

333

(a)

(b)

(c)

918

807

794

R G G

R G G

R G G

R G G

R G G

R G G

(e)

(f)

3. Observe the following currency notes and coins.  Write the correct numbers
in the blank boxes.
Ex:

 Example:- 617 R 600 10G G 7
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4. Write the place and place value of the digit underlined in the number.
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4. Write the place and place value of the digit underlined in the number.
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Place of the digit Underlined Place value
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Place of the digit Underlined Place value

hundreds
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ELA

NGANA

hundreds
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5 5 5
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5 5 5

5. Write the number in the expanded form.
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5. Write the number in the expanded form.
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(a)
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(b)
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918 R G GSCERT, T
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R G GSCERT, T
ELA

NGANA
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NGANA
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NGANA
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 Example:-
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 Example:- 617 R 600 10
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(á)

(ñ)

(})

ñ<ë: 617 R 600 10G G 7

543

496

333

(n)

(Ä)

(Ç)

918

807

794

R G G

R G G

R G G

R G G

R G G

R G G

e+<ä\T 2002 4 9

9 0 9

4 8 7

5 5 5

ñ<ë:
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NGANA
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NGANA
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e+<ä\T 200
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e+<ä\T 200
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ñ<ë:
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ñ<ë: 617
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617

(n)
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ELA

NGANA

(n)

(Ä)SCERT, T
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(Ä)

918
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918

807SCERT, T
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807

R G
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R G
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NGANA
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Help your pupils to understand the instructions and let them solve the
above problems by themselves.

7. Expand the given numbers and write each one in words.

Ex: 175 R 100 G 70 G 5 one hundred and seventy five

(a) 782 R 700 G 80 G 2

(b) 976 R

(c) 999 R

(d) 407 R

(e) 340 R

Expansion In words

8. Write in digits.

Ex: one hundred and forty three R

(a) two hundred and fifty eight R

(b) three hundred and five R

(c) four hundred and eighty six R

(d) nine hundred and seven R

(e) five hundred and twenty eight R

(f) one hundred and eleven R

(g) eight hundred and ninty eight R

143

6. Write the number in the short form.

Example:- (c) 400G40G4 R  

(a) 700G30G6 R (d) 900G20G4 R  

(b) 900G50G4 R (e) 300G10G4 R  
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one hundred and seventy five
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one hundred and seventy five

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANAIn words
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one hundred and forty three
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one hundred and forty three

(a) two hundred and fifty eight
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(a) two hundred and fifty eight

(b) three hundred and five
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(b) three hundred and five

(c) four hundred and eighty six
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(c) four hundred and eighty six

(d) nine hundred and sevenSCERT, T
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(d) nine hundred and seven

(e) five hundred and twenty eightSCERT, T
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(e) five hundred and twenty eightSCERT, T
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ˇø£ e+<ä q\uÛ…’ eT÷&ÉT R

(n) ¬s+&ÉT e+<ä\ j·÷uÛ…’ mì$T~ R

(Ä) eT÷&ÉT e+<ä\ ◊<äT R

(Ç) Hê\T>∑T e+<ä\ mquÛ…’ Äs¡T R

(á) ‘=$Tà~ e+<ä\ @&ÉT R

(ñ) ◊<äT e+<ä\ Çs¡yÓ’ mì$T~ R

(}) ˇø£ e+<ä |ü<äø=+&ÉT R

(ãTT) mì$T~ e+<ä\ ‘=+uÛ…’ mì$T~ R

143

175 R 100 G 70 G 5 ˇø£ e+<ä &Óu…“Ì ◊<äT

(n) 782 R 700 G 80 G 2

(Ä) 976 R

(Ç) 999 R

(á) 407 R

(ñ) 340 R

(Ç) 400G40G4 R  

(n) 700G30G6 R (á) 900G20G4 R  

(Ä) 900G50G4 R (ñ) 300G10G4 R  
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ˇø£ e+<ä q\uÛ…’ eT÷&ÉT R
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ˇø£ e+<ä q\uÛ…’ eT÷&ÉT R

(n) ¬s+&ÉT e+<ä\ j·÷uÛ…’ mì$T~ R
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(n) ¬s+&ÉT e+<ä\ j·÷uÛ…’ mì$T~ R

(Ä) eT÷&ÉT e+<ä\ ◊<äT R
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(Ç) Hê\T>∑T e+<ä\ mquÛ…’ Äs¡T R
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(ñ) ◊<äT e+<ä\ Çs¡yÓ’ mì$T~ RSCERT, T
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9. Solve the following problems.

1. Write three digit numbers using 4, 6 and 9.

 469,  694, 496,  .............,  .............,  .............,

2. Write three numbers that have 5 in the hundreds place.

 502,  .............,  .............,  .............,  .............,  .............,

3. Write 5 numbers between and That have 5 in its tens place.

 856,  .............,  .............,  .............,  .............,  .............,

4. Identify between which numbers the given numbers lie, put a Look at
     the example.

10. Observe the numbers in each series.  Write the next 5 numbers for each series.
   Say the reason.

(a)  100, 200, 300, .............,  .............,  .............,  .............,  .............,  .............

(b)  110, 120, 130, ............,  .............,  .............,  .............,  .............,  .............

(c)  350, 400, 450, .............,  .............,  .............,  .............,  .............,  .............

(d)  400, 425, 450, ............,  .............,  .............,  .............,  .............,  .............

(e)  900, 800, 700, ............,  .............,  .............,  .............,  .............,  .............

885 800––850 750––800

632 650––700 700––750

304 250––300 300––350 350––400

287 200––300 600––700

654 500––600 400––500 600––700

707 600––700 700––800 800––900

Example:-

600––650

700––800

850––900

Help your pupils to understand the instructions and let them solve the
above problems by themselves.

(a)

(b)

(c)

(d)

(e)
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 856,  .............,  .............,  .............,  .............,  .............,
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4. Identify between which numbers the given numbers lie, put a 
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632 650
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300 300
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300 300––
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350 350350 350
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350 350

300 600
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300 600

654 500
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10. Observe the numbers in each series.  Write the next 5 numbers for each series.
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10. Observe the numbers in each series.  Write the next 5 numbers for each series.
   Say the reason.
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   Say the reason.

100, 200, 300, .............,  .............,  .............,  .............,  .............,  .............
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100, 200, 300, .............,  .............,  .............,  .............,  .............,  .............
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  110, 120, 130, ............,  .............,  .............,  .............,  .............,  .............
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110, 120, 130, ............,  .............,  .............,  .............,  .............,  .............
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  350, 400, 450, .............,  .............,  .............,  .............,  .............,  .............SCERT, T
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350, 400, 450, .............,  .............,  .............,  .............,  .............,  .............
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  400, 425, 450, ............,  .............,  .............,  .............,  .............,  .............SCERT, T
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469,  694, 496,  .............,  .............,  .............,

502,  .............,  .............,  .............,  .............,  .............,

856,  .............,  .............,  .............,  .............,  .............,

(n) 100, 200, 300, .............,  .............,  .............,  .............,  .............,  .............

(Ä) 110, 120, 130, ............,  .............,  .............,  .............,  .............,  .............

(Ç) 350, 400, 450, .............,  .............,  .............,  .............,  .............,  .............

(á) 400, 425, 450, ............,  .............,  .............,  .............,  .............,  .............

(ñ) 900, 800, 700, ............,  .............,  .............,  .............,  .............,  .............

885 800––850 750––800

632 650––700 700––750

304 250––300 300––350 350––400

287 200––300 600––700

654 500––600 400––500 600––700

707 600––700 700––800 800––900

600––650

700––800

850––900

(n)

(Ä)

(Ç)

(á)

(ñ)
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300 300
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 110, 120, 130, ............,  .............,  .............,  .............,  .............,  .............
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Help your pupils to understand the instructions and let them solve the
above problems by themselves.

11. Match the following.

the biggest 2 - digit number 475

the smallest 3 - digit number 424

a number with 7 in the tens place 99

the place value of 5 in 456 hundreds

the place of 7 in 795 367

the number before 425 100

the face value of 8 in 821 8

the short form of 300 + 60 + 7 50

the place of 8 in 698 350

the place value of 0 in 705 ones

the number that indicates 3 hundreds,
 5 tens and 0 ones 0SCERT, T

ELA
NGANA99
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hundreds
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hundreds

the short form of 300 + 60 + 7
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the short form of 300 + 60 + 7

the place of 8 in 698
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the place of 8 in 698

the place value of 0 in 705 ones
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the place value of 0 in 705 ones

the number that indicates 3 hundreds,SCERT, T
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the number that indicates 3 hundreds,
 5 tens and 0 onesSCERT, T
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 5 tens and 0 onesSCERT, T
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¬s+&É+¬ø\ $TøÏÿ* ô|<ä› dü+K´ 475

eT÷&É+¬ø\ dü+K´\˝À ∫qï~ 424

|ü<äT\ kÕúq+˝À ª7µ >∑\ ˇø£ dü+K´ 99

456 ˝À 5 kÕúq $\Te e+<ä\T

795 ˝À 7 kÕúq+ 367

425 ≈£î eTT+<äT dü+K´ 100

821 ˝À 8 jÓTTø£ÿ düVü≤» $\Te 8

300 G 60 G 7 dü+øÏå|üÔs¡÷|ü+ 50

698 ˝À 8 jÓTTø£ÿ kÕúq+ 350

705 ˝À 0 kÕúq $\Te ˇø£≥T¢

3 e+<ä\T, 5 |ü<äT\T, 0 ˇø£≥T¢ dü÷∫+#˚ dü+K´ 0SCERT, T
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12. Play the game:

The teacher must make the above sounds - Snap,  Clap and Tap. The pupils must say the
numbers based on the sound made by the teacher.

To tap means to hit something
to make a sound.

To snap means to make
a sharp noise using your
fingers.

To clap means to hit
your open hands to
make a sound.

Example:-

TAPS CLAPS SNAPS Place Value Number

2 5 8 200  50      8 258

Get your pupils to play this game.  Help them to understand the digits
and their place values.

SNAP R one (1)

CLAP R ten (10)

TAP R hundred (100)

CLAP - SNAP - TAP

In this manner the pupils must say the place value and the numbers as per the sounds
made - Snap, Clap, Tap.  If any pupil makes a mistake, he is out of the game.  The game
continues.  The one who lasts till the end is declared the winner.
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The teacher must make the above sounds - Snap,  Clap and Tap. The pupils must say the
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The teacher must make the above sounds - Snap,  Clap and Tap. The pupils must say the
numbers based on the sound made by the teacher.
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numbers based on the sound made by the teacher.
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TAPS
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TAPS CLAPS
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CLAPS

2 5 8 200  50      8 258
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2 5 8 200  50      8 258

CLAP
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CLAP R 
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 R ten (10)
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ten (10)
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ô|’q #·÷|æq $<Ûä+>± ñbÕ<Ûë´j·TT&ÉT kÕï|t, ø±¢|t, {≤|t X¯u≤›\T #˚j·÷*. M{Ï Ä<Ûës¡+>± |æ\¢\T

dü+K´\T #ÓbÕŒ*.

{≤|t n+fÒ u…+∫ MT<ä ø=≥º&É+.

kÕï|t n+fÒ ∫{Ï¬ø

ø±¢|t n+fÒ #·|üŒ≥T¢

ñ<ë:`

2 5 8 200  50      8 258

kÕï|t R ˇø£{Ï (1)

ø±¢|t R |ü~ (10)

{≤|t R e+<ä (100)

Ç˝≤ kÕï|t, ø±¢|t, {≤|t X¯u≤›\≈£î nqT>∑TD+>± |æ\¢\T kÕúq$\Te\T, dü+K´\T #ÓbÕŒ*. ˇø£y˚fi¯ kÕúq

$\Te\T, dü+K´ ‘·|ü>± #Ó|æ‘˚ ne⁄≥sTTq≥T¢. Ç˝≤ Ä≥qT ø=qkÕ–+#ê*. ∫e]øÏ $T–*q yê]ì

$CÒ‘·>± Á|üø£{Ï+#ê*.
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ô|’q #·÷|æq $<Ûä+>± ñbÕ<Ûë´j·TT&ÉT kÕï|t, ø±¢|t, {≤|t X¯u≤›\T #˚j·÷*. M{Ï Ä<Ûës¡+>± |æ\¢\T
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ô|’q #·÷|æq $<Ûä+>± ñbÕ<Ûë´j·TT&ÉT kÕï|t, ø±¢|t, {≤|t X¯u≤›\T #˚j·÷*. M{Ï Ä<Ûës¡+>± |æ\¢\T
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2 5 8 200  50      8 258
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2 5 8 200  50      8 258

ø±¢|t R |ü~ (10)
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ø±¢|t R |ü~ (10)

Ç˝≤ kÕï|t, ø±¢|t, {≤|t X¯u≤›\≈£î nqT>∑TD+>± |æ\¢\T kÕúq$\Te\T, dü+K´\T #ÓbÕŒ*. ˇø£y˚fi¯ kÕúq
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Ç˝≤ kÕï|t, ø±¢|t, {≤|t X¯u≤›\≈£î nqT>∑TD+>± |æ\¢\T kÕúq$\Te\T, dü+K´\T #ÓbÕŒ*. ˇø£y˚fi¯ kÕúq
SCERT, T

ELA
NGANA

SCERT, T
ELA

NGANA



90Free Distribution by T.S.Government  2022-23

100 10 1

13. Play a game with sticks.

Get your pupils to play this game, as per the instructions.  Help them to
understand digits and their place values.

Play like this one after another. At the end one who gets more points wins the
game.

Example: The sticks picked up

1 long stick     R 100

1 medium stick R 10

1 short stick    R 1

Two pupils must play this game.  Take 9 sticks of long, medium and short sticks (9
sticks each). Have them on your palm, shake them and drop them on the floor.  Pick
each stick without moving the other sticks. Count the value of sticks that was picked
as per the values assigned the sticks given above. Say the total value. If, while picking
sticks, other sticks are moved, the second player gets the chance.  In this manner the
two pupils play alternately.  The one who gets a bigger number scores a point.

Big sticks Medium sticks Short sticks The number
formed

4 6 5 400 G 60 G 5 R 465
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NGANATwo pupils must play this game.  Take 9 sticks of long, medium and short sticks (9
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NGANATwo pupils must play this game.  Take 9 sticks of long, medium and short sticks (9
sticks each). Have them on your palm, shake them and drop them on the floor.  Pick
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sticks each). Have them on your palm, shake them and drop them on the floor.  Pick
each stick without moving the other sticks. Count the value of sticks that was picked
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each stick without moving the other sticks. Count the value of sticks that was picked
as per the values assigned the sticks given above. Say the total value. If, while picking
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as per the values assigned the sticks given above. Say the total value. If, while picking
sticks, other sticks are moved, the second player gets the chance.  In this manner the
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sticks, other sticks are moved, the second player gets the chance.  In this manner the
two pupils play alternately.  The one who gets a bigger number scores a point.
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two pupils play alternately.  The one who gets a bigger number scores a point.
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Medium sticks Short sticks
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Medium sticks Short sticks

4 6 5
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4 6 5
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Play like this one after another. At the end one who gets more points wins theSCERT, T
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Play like this one after another. At the end one who gets more points wins the
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100 10 1

ˇø£] ‘·s¡Tyê‘· ̌ ø£s¡T Ä≥qT ø=qkÕ–+#·+&ç. Ç˝≤ 5 ̋ Ò<ë Äs¡TkÕs¡T¢ Ä&É+&ç. ∫e]øÏ bÕsTT+≥T¢

m≈£îÿe e∫Ãqyês¡T ¬>*∫q≥T¢.

ñ<ë: rdæq |ü⁄\¢\T

1 ô|<ä› |ü⁄\¢ R 100

1 eT<Ûä́  |ü⁄\¢ R 10

1 ∫qï |ü⁄\¢ R 1

á Ä≥qT Ç<ä›s¡T Ä&É+&ç. u§eTà˝À #·÷|æq≥T¢ eT÷&ÉT s¡ø±\ bı&Ée⁄\T>∑\ |ü⁄\¢\T 9 #=|üq

rdüTø√+&ç. M{Ïì ¬s+&ÉT ns¡#˚‘·T\˝À ñ+∫ n≥T, Ç≥÷ ø£<äT|ü⁄‘·÷ H˚\ô|’ y˚j·T+&ç. Ç‘·s¡ |ü⁄\¢\T

ø£<ä\≈£î+&Ü ˇø=ÿø£ÿ|ü⁄\¢qT rj·T+&ç. rdæq |ü⁄\¢\qT yê{ÏøÏ∫Ãq $\Te\ Ä<Ûës¡+>± …̋øÏÿ+#·+&ç.

yÓTT‘êÔìï dü÷∫+#˚ dü+K´qT #Ó|üŒ+&ç. ˇø£y˚fi¯ |ü⁄\¢qT rdüTÔqï|ü&ÉT Ç‘·s¡ |ü⁄\¢\T ø£~*‘˚ neø±X¯+

m<äT{Ïyê]øÏ Çe«+&ç. ˇø£] ‘·s¡Tyê‘· ˇø£s¡T Ä&ÉT‘·÷ Á|ü‹ kÕ] ô|<ä›dü+K´ @s¡Œs¡∫qyê]øÏ ˇø£

bÕsTT+{Ïyê«*.

4 6 5 400 G 60 G 5 R 465
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rdüTø√+&ç. M{Ïì ¬s+&ÉT ns¡#˚‘·T\˝À ñ+∫ n≥T, Ç≥÷ ø£<äT|ü⁄‘·÷ H˚\ô|’ y˚j·T+&ç. Ç‘·s¡ |ü⁄\¢\T
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rdüTø√+&ç. M{Ïì ¬s+&ÉT ns¡#˚‘·T\˝À ñ+∫ n≥T, Ç≥÷ ø£<äT|ü⁄‘·÷ H˚\ô|’ y˚j·T+&ç. Ç‘·s¡ |ü⁄\¢\T

ø£<ä\≈£î+&Ü ˇø=ÿø£ÿ|ü⁄\¢qT rj·T+&ç. rdæq |ü⁄\¢\qT yê{ÏøÏ∫Ãq $\Te\ Ä<Ûës¡+>± …̋øÏÿ+#·+&ç.
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ø£<ä\≈£î+&Ü ˇø=ÿø£ÿ|ü⁄\¢qT rj·T+&ç. rdæq |ü⁄\¢\qT yê{ÏøÏ∫Ãq $\Te\ Ä<Ûës¡+>± …̋øÏÿ+#·+&ç.

yÓTT‘êÔìï dü÷∫+#˚ dü+K´qT #Ó|üŒ+&ç. ˇø£y˚fi¯ |ü⁄\¢qT rdüTÔqï|ü&ÉT Ç‘·s¡ |ü⁄\¢\T ø£~*‘˚ neø±X¯+
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yÓTT‘êÔìï dü÷∫+#˚ dü+K´qT #Ó|üŒ+&ç. ˇø£y˚fi¯ |ü⁄\¢qT rdüTÔqï|ü&ÉT Ç‘·s¡ |ü⁄\¢\T ø£~*‘˚ neø±X¯+

m<äT{Ïyê]øÏ Çe«+&ç. ˇø£] ‘·s¡Tyê‘· ˇø£s¡T Ä&ÉT‘·÷ Á|ü‹ kÕ] ô|<ä›dü+K´ @s¡Œs¡∫qyê]øÏ ˇø£
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m<äT{Ïyê]øÏ Çe«+&ç. ˇø£] ‘·s¡Tyê‘· ˇø£s¡T Ä&ÉT‘·÷ Á|ü‹ kÕ] ô|<ä›dü+K´ @s¡Œs¡∫qyê]øÏ ˇø£
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One day Rangamma and Sitamma sold vegetables at the weekly market. They got
the following notes and coins shown under their names. Who earned more ?

1. Look at the notes and coins. Say which are of more value and which are
of less value.

Get your pupils to compare three-digit numbers using notes and coins.
Help them to understand the process of comparison.

Rangamma  Sitamma

Rangamma earned :                          Sitamma earned :

4 Comparing Three-Digit Numbers
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s¡+>∑eTà dü+bÕ~+∫q~ : d”‘·eTà dü+bÕ~+∫q~ :

s¡+>∑eTà , d”‘·eTà dü+‘·̋ À ≈£Ls¡>±j·T\T ne÷às¡T. yê]øÏ øÏ+~ $<Ûä+>± H√≥T¢, HêD≤\T e#êÃsTT.

mes¡T m≈£îÿe dü+bÕ~+#ês¡T?

s¡+>∑eTà  d”‘·eTà
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In 452, there are 4 hundreds In 381, there are 3 hundreds.

Rs. 300 is less than Rs. 400, It means Rangamma earned more.

Rs. 381 is less than Rs.452, that is   381 < 452 or

Rs. 452 is more than Rs.381, that is   452 > 381

On another day, Rangamma and Sitamma sold vegetables and they got the
following notes and coins. How much was earned by each of them?

Get your pupils to compare three-digit numbers using notes and coins.
Help them to understand the process of comparison.

Rangamma earned :                             Sitamma earnd :

It means they earned equally. 216 = 216
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On another day, Rangamma and Sitamma sold vegetables and they got the
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On another day, Rangamma and Sitamma sold vegetables and they got the
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s¡÷.400 ø£Hêï, s¡÷.300 ‘·≈£îÿe.  n+fÒ s¡+>∑eTà m≈£îÿe dü+bÕ~+∫+~.

s¡÷.452 ø£+fÒ s¡÷.381 ∫qï~. nq>± 381 < 452 Ò̋<ë

s¡÷.381 ø£+fÒ s¡÷.452 ô|<ä›~. nq>± 452 > 381

eTs=ø£s√E s¡+>∑eTà, d”‘·eTà ≈£Ls¡>±j·T\T neTà>± øÏ+~ $<Ûä+>± H√≥T¢, HêD≤\T

e#êÃsTT. mes¡T m+‘· dü+bÕ~+∫q≥T¢?

452 ˝À e+<ä\T 4 ñHêïsTT.              381 ˝À e+<ä\T 3 ñHêïsTT.

s¡+>∑eTà dü+bÕ~+∫q~ :  d”‘·eTà dü+bÕ~+∫q~ :

nq>± Ç<ä›s¡T düe÷q+>± dü+bÕ~+#ês¡T. 216 = 216

s¡+>∑eTà  d”‘·eTà
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2. Look at the notes and coins shown below. Say which are more and which are
less.

In 354 and 321 there are equal number of hundreds.
Now let us observe the tens.
In 354 there are 5 tens.
In 321 there are 2 tens.
There are more tens in 354 than 321.
Therefore 354 is bigger.
We say 354 is bigger than 321
We write     354  >  321
In the same manner 321 is less than 354
We write it as   321 <  354

In 3-digit numbers,
if the hundreds are
the same, the one
with more tens is
bigger.

Get your pupils to compare three- digit numbers using notes and coins.
Help them to understand the process of comparison.
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In 354 and 321 there are equal number of hundreds.
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In 354 and 321 there are equal number of hundreds.
Now let us observe the tens.
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Now let us observe the tens.
In 354 there are 5 tens.
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In 354 there are 5 tens.
In 321 there are 2 tens.
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In 321 there are 2 tens.
There are more tens in 354 than 321.SCERT, T
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There are more tens in 354 than 321.
Therefore 354 is bigger.SCERT, T
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Therefore 354 is bigger.
We say 354 is bigger than 321SCERT, T
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We say 354 is bigger than 321SCERT, T
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354, 321 ˝À e+<ä\T düe÷q+>± ñHêïsTT.

Ç|ü&ÉT |ü<äT\qT |ü]o*+#·+&ç.

354 ˝À 5 |ü<äT\THêïsTT. 321 ˝À 2 |ü<äT\THêïsTT.

354 ˝À, 321 ˝À ø£+fÒ |ü<äT\T m≈£îÿe>± ñHêïsTT.

ø±e⁄q 354 ô|<ä› dü+K´.

Bìì 321 ø£Hêï 354 ô|<ä›~ nì #·<äTe⁄‘ê+.

354 > 321

n˝≤π> 354 ø£Hêï 321 ∫qï~ nì #·<äTe⁄‘ê+.

321 < 354
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354, 321 ˝À e+<ä\T düe÷q+>± ñHêïsTT.
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354, 321 ˝À e+<ä\T düe÷q+>± ñHêïsTT.

Ç|ü&ÉT |ü<äT\qT |ü]o*+#·+&ç.
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354 ˝À 5 |ü<äT\THêïsTT. 321 ˝À 2 |ü<äT\THêïsTT.
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354 ˝À 5 |ü<äT\THêïsTT. 321 ˝À 2 |ü<äT\THêïsTT.

354 ˝À, 321 ˝À ø£+fÒ |ü<äT\T m≈£îÿe>± ñHêïsTT.
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354 ˝À, 321 ˝À ø£+fÒ |ü<äT\T m≈£îÿe>± ñHêïsTT.354 ˝À, 321 ˝À ø£+fÒ |ü<äT\T m≈£îÿe>± ñHêïsTT.
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354 ˝À, 321 ˝À ø£+fÒ |ü<äT\T m≈£îÿe>± ñHêïsTT.

ø±e⁄q 354 ô|<ä› dü+K´.
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ø±e⁄q 354 ô|<ä› dü+K´.
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3. Look at the notes and coins shown below. Say which are more and which are
less.

In both 231 and 235, the hundreds and tens are equal.

Now observe the ones.
In 231 there are 1 ones.
In 235 there are 5 ones.
Therfore 235 is bigger.

It means 235 is bigger than 231.  > 

231 is smaller than 235.            < 

In three-digit
numbers, if
hundreds and tens
are equal, the one
with more ones is
the bigger number.

Get your pupils to compare three- digit numbers using notes and coins.
Help them to understand the process of comparison.
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In both 231 and 235, the hundreds and tens are equal.
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In both 231 and 235, the hundreds and tens are equal.

Now observe the ones.
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Now observe the ones.
In 231 there are 1 ones.
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231, 235 ˝À e+<ä\T, |ü<äT\T düe÷q+>± ñHêïsTT.

Ç|ü&ÉT ˇø£≥¢qT |ü]o*+#·+&ç. 231 ˝À 1 ˇø£≥T¢HêïsTT.

235 ˝À 5 ˇø£≥T¢HêïsTT.

231 ˝À ø£+fÒ 235 ˝À ˇø£≥T¢ m≈£îÿe>± ñHêïsTT.

ø±e⁄q 235 ô|<ä› dü+K´.

nq>± 231 ø£Hêï 235 ô|<ä›~.  > 

Ò̋<ë 235 ø£+fÒ 231 ∫qï~.  < 
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231, 235 ˝À e+<ä\T, |ü<äT\T düe÷q+>± ñHêïsTT.
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231, 235 ˝À e+<ä\T, |ü<äT\T düe÷q+>± ñHêïsTT.

Ç|ü&ÉT ˇø£≥¢qT |ü]o*+#·+&ç. 231 ˝À 1 ˇø£≥T¢HêïsTT.
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Ç|ü&ÉT ˇø£≥¢qT |ü]o*+#·+&ç. 231 ˝À 1 ˇø£≥T¢HêïsTT.

235 ˝À 5 ˇø£≥T¢HêïsTT.
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235 ˝À 5 ˇø£≥T¢HêïsTT.
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ø±e⁄q 235 ô|<ä› dü+K´.SCERT, T
ELA

NGANA

ø±e⁄q 235 ô|<ä› dü+K´.SCERT, T
ELA

NGANA
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1. Identify the bigger number and mark
it ‘ ’.

Ex 294, 319

(A) 756, 432

(B) 670, 679

(C) 550, 543

(D) 856, 851

2. Identify the smaller number and
draw   around it.

   Ex    738, 769

(A) 463, 154

(B) 537, 645

(C) 248, 264

(D) 707, 705

3. Write the correct symbol >  < in the blank boxes.

(A)

(B)

(C)

(D)

(E)

(F)

(G)

(H)

4. Write the following sets of numbers in ascending and descending orders.

Exercise

Ex ` 304   >  201— 475  <  616— 254  =  254

620 580

937 975

763 746

864 953

520 520

987 965

736 746

864 864

Numbers Ascending orders Descending order

 Ex:` 367, 212, 684, 801 212 367 684 801 801 684 367 212

(A) 405, 408, 500, 306

(B) 684, 648, 635, 653

(C) 339, 333, 337, 335

(D) 569, 575, 557, 596

Help your pupils to understand the instructions for each problem. Get
them to solve the problems by themselves.

SCERT, T
ELA

NGANA
707, 705

SCERT, T
ELA

NGANA
707, 705

SCERT, T
ELA

NGANA
in the blank boxes.

SCERT, T
ELA

NGANA
in the blank boxes.

 616— 254  

SCERT, T
ELA

NGANA
 616— 254  =

SCERT, T
ELA

NGANA
=  254

SCERT, T
ELA

NGANA
  254

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA
(E

SCERT, T
ELA

NGANA
(E)

SCERT, T
ELA

NGANA
)

(F

SCERT, T
ELA

NGANA

(F)

SCERT, T
ELA

NGANA

)

(G

SCERT, T
ELA

NGANA

(G)

SCERT, T
ELA

NGANA

)

(H

SCERT, T
ELA

NGANA

(H

520 520

SCERT, T
ELA

NGANA
520 520

987 965

SCERT, T
ELA

NGANA

987 965

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

4. Write the following sets of numbers in ascending and descending orders.

SCERT, T
ELA

NGANA

4. Write the following sets of numbers in ascending and descending orders.

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

Numbers

SCERT, T
ELA

NGANA

Numbers

367, 212, 684, 801 212 367 684 801 801 684 367 212

SCERT, T
ELA

NGANA

367, 212, 684, 801 212 367 684 801 801 684 367 212

405, 408, 500, 306

SCERT, T
ELA

NGANA

405, 408, 500, 306

684, 648, 635, 653

SCERT, T
ELA

NGANA

684, 648, 635, 653

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

(A

SCERT, T
ELA

NGANA

(A)

SCERT, T
ELA

NGANA

)

(B

SCERT, T
ELA

NGANA

(B)

SCERT, T
ELA

NGANA

)

(CSCERT, T
ELA

NGANA

(C)SCERT, T
ELA

NGANA

)SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA
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294, 319

(n) 756, 432

(Ä) 670, 679

(Ç) 550, 543

(á) 856, 851

 738, 769

(n) 463, 154

(Ä) 537, 645

(Ç) 248, 264

(á) 707, 705

>  < 

(n)

(Ä)

(Ç)

(á)

ñ<ë:` 304  >  201— 475  <  616— 254  =  254

620 580

937 975

763 746

864 953

dü+U´\T Äs√Vü≤DÁø£eT+ nes√Vü≤DÁø£eT+

ñ<ë:` 367, 212, 684, 801 212 367 684 801 801 684 367 212

(n) 405, 408, 500, 306

(Ä) 684, 648, 635, 653

(Ç) 339, 333, 337, 335

(á) 569, 575, 557, 596

(ñ)

(})

(m)

(@)

520 520

987 965

736 746

864 864

SCERT, T
ELA

NGANA707, 705

SCERT, T
ELA

NGANA707, 705

 616— 254  

SCERT, T
ELA

NGANA
 616— 254  =

SCERT, T
ELA

NGANA
=  254

SCERT, T
ELA

NGANA
  254

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

(})

SCERT, T
ELA

NGANA

(})

(m)

SCERT, T
ELA

NGANA

(m)

(@)

SCERT, T
ELA

NGANA

(@)

520 520

SCERT, T
ELA

NGANA
520 520

987 965

SCERT, T
ELA

NGANA

987 965

736 746

SCERT, T
ELA

NGANA

736 746

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

dü+U´\T

SCERT, T
ELA

NGANA

dü+U´\T

367, 212, 684, 801 212 367 684 801 801 684 367 212

SCERT, T
ELA

NGANA

367, 212, 684, 801 212 367 684 801 801 684 367 212

(n)

SCERT, T
ELA

NGANA

(n) 405, 408, 500, 306

SCERT, T
ELA

NGANA

405, 408, 500, 306

(Ä)SCERT, T
ELA

NGANA

(Ä) 684, 648, 635, 653SCERT, T
ELA

NGANA

684, 648, 635, 653

(Ç)SCERT, T
ELA

NGANA

(Ç)SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA
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 5. Write three-digit numbers using 7, 8 and 9.

The smallest of
these numbers

The biggest is

The ascending order
of these numbers:
The descending
order is:

6. Write the 10 three-digit numbers which have 9 in the tens place.

7. Write 3 two-digit numbers and 3 three-digit numbers using 7, 4 and 6.

The biggest among
these numbers is

The smallest
number is

Ex:  Two - digit numbers  74, 67, 46, ....., ....., .....

     Three - digit numbers  476, 467, 674, ....., ....., .....
Now write numbers correctly in the blank boxes according to the symbol > (or) <
between the boxes.

(A) (C)

789

Get your pupils to understand the instruction for each exercise. Let them
solve the problems by themselves.

74 46>

<

<

<

467 674Ex:  Ex:

(B) (D)> >

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA
6. Write the 10 three-digit numbers which have 9 in the tens place.

SCERT, T
ELA

NGANA
6. Write the 10 three-digit numbers which have 9 in the tens place.

SCERT, T
ELA

NGANA

7. Write 3 two-digit numbers and 3 three-digit numbers using 7, 4 and 6.

SCERT, T
ELA

NGANA

7. Write 3 two-digit numbers and 3 three-digit numbers using 7, 4 and 6.

Ex:  Two - digit numbers  74, 67, 46, ....., ....., .....

SCERT, T
ELA

NGANA

Ex:  Two - digit numbers  74, 67, 46, ....., ....., .....

     Three - digit numbers  476, 467, 674, ....., ....., .....

SCERT, T
ELA

NGANA

     Three - digit numbers  476, 467, 674, ....., ....., .....
Now write numbers correctly in the blank boxes according to the symbol > (or) <

SCERT, T
ELA

NGANA

Now write numbers correctly in the blank boxes according to the symbol > (or) <
between the boxes.

SCERT, T
ELA

NGANA

between the boxes.

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

(ASCERT, T
ELA

NGANA

(A)SCERT, T
ELA

NGANA

)

74 46

SCERT, T
ELA

NGANA

74 46

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA
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M{Ï̋ À ∫qï dü+K´ ô|<ä› dü+K´

ô|’ dü+K´\ Äs√Vü≤D Áø£eT+ :

nes√Vü≤D Áø£eT+ :

M{Ï̋ À ∫qï dü+K´ ô|<ä› dü+K´

ñ<ë: ¬s+&É+¬ø\ dü+K´\T : 74, 67, 46, .......................

eT÷&É+¬ø\ dü+K´\T : 476, 467, 674, .......................

(n) (Ç)

789

74 46>

<

<

<

467 674ñ<ë: ñ<ë:

(Ä) (á)> >

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

M{Ï̋ À ∫qï dü+K´ ô|<ä› dü+K´

SCERT, T
ELA

NGANA

M{Ï̋ À ∫qï dü+K´ ô|<ä› dü+K´

ñ<ë: ¬s+&É+¬ø\ dü+K´\T : 74, 67, 46, .......................

SCERT, T
ELA

NGANA

ñ<ë: ¬s+&É+¬ø\ dü+K´\T : 74, 67, 46, .......................

eT÷&É+¬ø\ dü+K´\T : 476, 467, 674, .......................

SCERT, T
ELA

NGANA

eT÷&É+¬ø\ dü+K´\T : 476, 467, 674, .......................

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

74 46

SCERT, T
ELA

NGANA

74 46

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

(n) (Ç)SCERT, T
ELA

NGANA

(n) (Ç)(n) (Ç)SCERT, T
ELA

NGANA

(n) (Ç)

74 46

SCERT, T
ELA

NGANA

74 46

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

ñ<ë: ñ<ë:

SCERT, T
ELA

NGANA

ñ<ë: ñ<ë:ñ<ë: ñ<ë:

SCERT, T
ELA

NGANA

ñ<ë: ñ<ë:74 46ñ<ë: ñ<ë:74 46

SCERT, T
ELA

NGANA

74 46ñ<ë: ñ<ë:74 46ñ<ë: ñ<ë:

SCERT, T
ELA

NGANA

ñ<ë: ñ<ë:ñ<ë: ñ<ë:

SCERT, T
ELA

NGANA

ñ<ë: ñ<ë:



104Free Distribution by T.S.Government  2022-23

On adding tens
3 G 2 R 5

On adding ones
4 G 5 R 9

How many candles are there?

Sitamma and Ramulamma make candles. One day Sitamma
made 34 and Ramulamma made 25 candles. They wanted to
sell them.
They counted the candles they made as shown below.

We can add the above numbers in a different way also.

Sitamma

Ramulamma

Get your pupils to understand the process of adding numbers. Let them
add numbers as shown above.

Look at the candles. Say what their total is.

3 tens

2 tens

R 30 G 4

R 20 G 5

R 50 G 9 R 59

4 ones

5 ones

9 ones5 tens

T O

3 4

G2 5

5 9

5  Addition of Numbers

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

We can add the above numbers in a different way also.

SCERT, T
ELA

NGANA

We can add the above numbers in a different way also.

2 tens

SCERT, T
ELA

NGANA

2 tens

R 30 G 4

SCERT, T
ELA

NGANA
R 30 G 4

4 ones

SCERT, T
ELA

NGANA
4 ones4 ones

SCERT, T
ELA

NGANA
4 ones

5 tens

SCERT, T
ELA

NGANA

5 tens
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|ü<äT\T ≈£L&É>±

3 G 2 R 5

ˇø£≥T¢ ≈£L&É>±

4 G 5 R 9

d”‘·eTà, sêeTT\eTà\T ø=y=«‘·TÔ\T ‘·j·÷s¡T#˚kÕÔs¡T. ˇø£s√E d”‘·eTà 34, sêeTT\eTà 25 ø=y=«‘·TÔ\T

‘·j·÷s¡T#˚XÊs¡T. Ç<ä›s¡T ø=y=«‘·TÔ\T ø£*|æ ne÷à\ì nqT≈£îHêïs¡T. yÓTT‘·Ô+ mìï ø=y=«‘·TÔ\T ‘·j·÷s¡T#˚kÕs√

‘Ó\TdüTø√e&ÜìøÏ  øÏ+~ $<Ûä+>± …̋øÏÿ+#ês¡T. yês¡T |ü~ ø=y=«‘·TÔ\T ñ+&˚ bÕ ¬́ø≥T¢ #˚XÊs¡T.

ô|’ ≈£L&çø£qT Ç˝≤ ≈£L&Ü #˚j·Te#·TÃ.

d”‘·eTà

sêeTT\eTà

3 |ü<äT\T

2 |ü<äT\T

R 30 G 4

R 20 G 5

R 50 G 9 R 59

4 ˇø£≥T¢

5 ˇø£≥T¢

9 ˇø£≥T¢5 |ü<äT\T

|ü ˇ

3 4

G2 5

5 9

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA
‘·j·÷s¡T#˚XÊs¡T. Ç<ä›s¡T ø=y=«‘·TÔ\T ø£*|æ ne÷à\ì nqT≈£îHêïs¡T. yÓTT‘·Ô+ mìï ø=y=«‘·TÔ\T ‘·j·÷s¡T#˚kÕs√

SCERT, T
ELA

NGANA
‘·j·÷s¡T#˚XÊs¡T. Ç<ä›s¡T ø=y=«‘·TÔ\T ø£*|æ ne÷à\ì nqT≈£îHêïs¡T. yÓTT‘·Ô+ mìï ø=y=«‘·TÔ\T ‘·j·÷s¡T#˚kÕs√

‘Ó\TdüTø√e&ÜìøÏ  øÏ+~ $<Ûä+>± …̋øÏÿ+#ês¡T. yês¡T |ü~ ø=y=«‘·TÔ\T ñ+&˚ bÕ ¬́ø≥T¢ #˚XÊs¡T.

SCERT, T
ELA

NGANA‘Ó\TdüTø√e&ÜìøÏ  øÏ+~ $<Ûä+>± …̋øÏÿ+#ês¡T. yês¡T |ü~ ø=y=«‘·TÔ\T ñ+&˚ bÕ ¬́ø≥T¢ #˚XÊs¡T.

SCERT, T
ELA

NGANA

ô|’ ≈£L&çø£qT Ç˝≤ ≈£L&Ü #˚j·Te#·TÃ.

SCERT, T
ELA

NGANA

ô|’ ≈£L&çø£qT Ç˝≤ ≈£L&Ü #˚j·Te#·TÃ.

2 |ü<äT\T

SCERT, T
ELA

NGANA

2 |ü<äT\T

R 30 G 4

SCERT, T
ELA

NGANA
R 30 G 4

4 ˇø£≥T¢

SCERT, T
ELA

NGANA
4 ˇø£≥T¢

5 |ü<äT\T

SCERT, T
ELA

NGANA

5 |ü<äT\T
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1. Add the following pairs of numbers using bundles of sticks.

Exercise

(A) 5 2

G 2 1

(B) 2 4

G 2 2

(C) 3 0

G 2 4

(D) 5 2

G 2 1

(E) 1 8

G 2 1

(F) 1 6

G 3 3

(G) 3 7

G 5 1

(H) 1 3

G 8 1

(I) 7 1

G 2 6

(J) 3 0

G 2 0

(K) 6 2

G 2 5

(L) 3 4

G 4 3

(M) 1 2

G 2 6

(N) 1 4

G 6 3

(O) 3 5

G 2 1

(P) 2 5

G 4 0

(Q) 5 5

G 4 3

(R) 4 3

G 2 1

(S) 4 0

G 3 8

(T) 6 0

G 2 3

(U) 1 5

G 1 2

(V) 1 2

G 5 3

(W) 6 6

G 1 3

(X) 5 6

G 1 2

Get your pupils to understand the instruction. Let them  solve the problems
by themselves.

SCERT, T
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NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA(H

SCERT, T
ELA

NGANA(H)

SCERT, T
ELA

NGANA) 1 3

SCERT, T
ELA

NGANA1 3

G 8 1

SCERT, T
ELA

NGANA
G 8 1

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA
6 2

SCERT, T
ELA

NGANA
6 2

G 2 5

SCERT, T
ELA

NGANA

G 2 5

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

1 4

SCERT, T
ELA

NGANA

1 4

G 6 3

SCERT, T
ELA

NGANA

G 6 3

SCERT, T
ELA

NGANA

(O

SCERT, T
ELA

NGANA

(O

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

5 5

SCERT, T
ELA

NGANA

5 5

G 4 3

SCERT, T
ELA

NGANA

G 4 3

SCERT, T
ELA

NGANA

(R

SCERT, T
ELA

NGANA

(R)

SCERT, T
ELA

NGANA

)

SCERT, T
ELA

NGANA

(USCERT, T
ELA

NGANA

(U)SCERT, T
ELA

NGANA

)SCERT, T
ELA

NGANA
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(n) 5 2

G 2 1

(Ä) 2 4

G 2 2

(Ç) 3 0

G 2 4

(á) 5 2

G 2 7

(ñ) 1 8

G 2 1

(}) 1 6

     G 3 3

(m) 3 7

       G 5 1

(@) 1 3

G 8 1

(◊) 7 1

G 2 6

(ˇ) 3 0

G 2 0

(z) 6 2

G 2 5

(W) 3 4

G 4 3

(ø£) 1 2

G 2 6

(>∑) 1 4

G 6 3

(#·) 3 5

G 2 1

(») 2 5

G 4 0

(≥) 5 5

G 4 3

(&É) 4 3

G 2 1

(‘·) 4 0

G 3 8

(<ä) 6 0

G 2 3

(q) 1 5

G 1 2

(|ü) 1 2

G 5 3

(ã) 6 6

G 1 3

(eT) 5 6

G 1 2
SCERT, T

ELA
NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA(@)

SCERT, T
ELA

NGANA(@) 1 3

SCERT, T
ELA

NGANA1 3

G 8 1

SCERT, T
ELA

NGANA
G 8 1

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA
6 2

SCERT, T
ELA

NGANA
6 2

G 2 5

SCERT, T
ELA

NGANA

G 2 5

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

1 4

SCERT, T
ELA

NGANA

1 4

G 6 3

SCERT, T
ELA

NGANA

G 6 3

SCERT, T
ELA

NGANA

(#·)

SCERT, T
ELA

NGANA

(#·)

SCERT, T
ELA

NGANA

5 5

SCERT, T
ELA

NGANA

5 5

G 4 3

SCERT, T
ELA

NGANA

G 4 3

SCERT, T
ELA

NGANA

(&É)

SCERT, T
ELA

NGANA

(&É)

SCERT, T
ELA

NGANA

(q)SCERT, T
ELA

NGANA

(q)SCERT, T
ELA

NGANA
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2. Observe the example. Add the given numbers in the same way.

B

54 R   tens   G    ones   R G     R

24 R   tens   G    ones   R G     R

  tens   G    ones   R G     R

G

Get your pupils to understand the instructions and let them solve the above
problems by themselves.

Ex:̀ 23 R     2  tens G      3    ones  R 20 G   3     R   23

32 R     3  tens G      2    ones  R 30 G   2     R   32

R     5  tens G       5  ones ¢ R 50 G   5     R   55

G

A

45 R   tens G    ones  R G     R

24 R   tens G    ones  R G     R

  tens G    ones  R G    R

G

Add the following pairs of numbers..

(A) 46 G 23 (B) 37 G 52 (C) 30 G 66 (D) 45 G 54

(E) 18 G 20 (F) 26 G 32 (G) 54 G 25 (H) 47 G 12

(I) 34 G 32 (J) 68 G 21 (K) 52 G 25 (L) 16 G 71

(M)72 G 10 (N) 84 G 12 (O) 69 G 20 (P) 26 G 62

SCERT, T
ELA

NGANA¢ R 50 G   5     R   55

SCERT, T
ELA

NGANA¢ R 50 G   5     R   55

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA
 R G     R

SCERT, T
ELA

NGANA
 R G     R

 R G     R

SCERT, T
ELA

NGANA
 R G     R

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

   ones

SCERT, T
ELA

NGANA

   ones  R G    R

SCERT, T
ELA

NGANA

 R G    R

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

   ones

SCERT, T
ELA

NGANA

   ones

  tens

SCERT, T
ELA

NGANA

  tens   G

SCERT, T
ELA

NGANA

  G

  tens

SCERT, T
ELA

NGANA

  tens   G

SCERT, T
ELA

NGANA

  G

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

Add the following pairs of numbers..

SCERT, T
ELA

NGANA

Add the following pairs of numbers..

(ASCERT, T
ELA

NGANA

(A) 46 G 23SCERT, T
ELA

NGANA

) 46 G 23

(ESCERT, T
ELA

NGANA

(E)SCERT, T
ELA

NGANA

) 18 G 20SCERT, T
ELA

NGANA

18 G 20
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54 R |ü<äT\T G ˇø£≥T¢ R G R

24 R |ü<äT\T G ˇø£≥T¢ R G R

|ü<äT\T G ˇø£≥T¢ R G R

G

ñ<ë: 23 R  2 |ü<äT\T G 3 ˇø£≥T¢ R 20 G 3 R    23

32 R  3 |ü<äT\T G 2 ˇø£≥T¢ R 30 G 2 R    32

R  5 |ü<äT\T G 5 ˇø£≥T¢ R 50 G 5 R    55

G

45 R |ü<äT\T G ˇø£≥T¢ R G R

24 R |ü<äT\T G ˇø£≥T¢ R G R

|ü<äT\T G ˇø£≥T¢ R G R

G

(n) 46 G 23 (Ä) 37 G 52 (Ç) 30 G 66 (á) 45 G 54

(ñ) 18 G 20 (}) 26 G 32 (m) 54 G 25 (@) 47 G 12

(◊) 34 G 32 (ˇ) 68 G 21 (z) 52 G 25 (W) 16 G 71

(ø£) 72 G 10 (>∑) 84 G 12 (#·) 69 G 20 (») 26 G 62

SCERT, T
ELA

NGANAˇø£≥T¢ R 50 G 5 R    55

SCERT, T
ELA

NGANAˇø£≥T¢ R 50 G 5 R    55

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA
ˇø£≥T¢ R G R

SCERT, T
ELA

NGANA
ˇø£≥T¢ R G R

ˇø£≥T¢ R G R

SCERT, T
ELA

NGANA
ˇø£≥T¢ R G R

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

ˇø£≥T¢ R G R

SCERT, T
ELA

NGANA

ˇø£≥T¢ R G R

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

ˇø£≥T¢ R G R

SCERT, T
ELA

NGANA

ˇø£≥T¢ R G R

24 R |ü<äT\T G

SCERT, T
ELA

NGANA

24 R |ü<äT\T G

|ü<äT\T G

SCERT, T
ELA

NGANA

|ü<äT\T G

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

(n)

SCERT, T
ELA

NGANA

(n) 46 G 23

SCERT, T
ELA

NGANA

46 G 23

(ñ)SCERT, T
ELA

NGANA

(ñ) 18 G 20SCERT, T
ELA

NGANA

18 G 20

(◊)
SCERT, T

ELA
NGANA

(◊)
SCERT, T

ELA
NGANA
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Add the numbers given on the left. Draw       around the total of them.

Add the numbers shown below and write their total.

Add the numbers in the columns and rows. Write the totals as shown in the
example

Example 42 G 26

75 G 24

22 G 6

51 G 17

43 G 6

25 G 31

62 68 88

99 89 79

28 48 38

78 68 88

49 59 69

66 46 56

A) Add 10 B) Add 14

20

25

36

48

30

G10

32

40

53

65

46

G14

G 21 32 24 34

13

14

15

Get your pupils to understand the instructions for the above problems.
Let them solve them by themselves.

...........................

...........................

...........................

...........................

...........................

...........................

...........................

...........................

...........................

...........................

...........................

...........................

 Ex:` 13 G 21 R 34

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

Add the numbers in the columns and rows. Write the totals as shown in the

SCERT, T
ELA

NGANA

Add the numbers in the columns and rows. Write the totals as shown in the

66 46 56

SCERT, T
ELA

NGANA66 46 56

Add 10 B

SCERT, T
ELA

NGANA
Add 10 B) 

SCERT, T
ELA

NGANA
) Add 14

SCERT, T
ELA

NGANA
Add 14

32

SCERT, T
ELA

NGANA

32

40

SCERT, T
ELA

NGANA

40

SCERT, T
ELA

NGANA

G 21 32 24 34

SCERT, T
ELA

NGANA

G 21 32 24 34

13

SCERT, T
ELA

NGANA

13

SCERT, T
ELA

NGANA

14SCERT, T
ELA

NGANA

14SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA
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42 G 26

75 G 24

22 G 6

51 G 17

43 G 6

25 G 31

62 68 88

99 89 79

28 48 38

78 68 88

49 59 69

66 46 56

(n) 10 qT ≈£L&É+&ç. (Ä) 14 qT ≈£L&É+&ç.

20

25

36

48

30

G10

32

40

53

65

46

G14

...........................

...........................

...........................

...........................

...........................

...........................

G 21 32 24 34

13

14

15

...........................

...........................

...........................

...........................

...........................

...........................

ñ<ë: 13 G 21 R 34

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA66 46 56

SCERT, T
ELA

NGANA66 46 56

(n) 10 qT ≈£L&É+&ç. (Ä) 14 qT ≈£L&É+&ç.

SCERT, T
ELA

NGANA
(n) 10 qT ≈£L&É+&ç. (Ä) 14 qT ≈£L&É+&ç.

32

SCERT, T
ELA

NGANA

32

40

SCERT, T
ELA

NGANA

40

G 21 32 24 34

SCERT, T
ELA

NGANA

G 21 32 24 34

13

SCERT, T
ELA

NGANA

13

SCERT, T
ELA

NGANA

14SCERT, T
ELA

NGANA

14SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA
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Observe how Uma and Suma added the numbers, orally.

You also add the following numbers as shown above.

(A (B

Uma Suma

39 39

30  G  9 35 G 4

20  G  5 10  G  4 25 10  G  4

25 G 14 25 G 14

Example

Get your pupils to understand the instruction and let them solve problems
by themselves.

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

You also add the following numbers as shown above.

SCERT, T
ELA

NGANA

You also add the following numbers as shown above.

39 39

SCERT, T
ELA

NGANA
39 3939 39

SCERT, T
ELA

NGANA
39 39

30  G  9 35 G 4

SCERT, T
ELA

NGANA
30  G  9 35 G 4

10  G  4

SCERT, T
ELA

NGANA10  G  410  G  4

SCERT, T
ELA

NGANA10  G  4

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA
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39 39

30  G  9 35 G 4

20  G  5 10  G  4 25 10  G  4

25 G 14 25 G 14

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA
39 39

SCERT, T
ELA

NGANA
39 39

30  G  9 35 G 4

SCERT, T
ELA

NGANA
30  G  9 35 G 4

10  G  4

SCERT, T
ELA

NGANA10  G  4

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA
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* Ten pupils can play this game.

* Make 50 paper slips with numbers 1 to 50 on them. Put them in a box.

* Each pupil picks up 2 slips. Add the two numbers on the slips.

* The pupil whose total is least is out of the game.

* The other pupils pick up two slips each and continue the game.

* The pupil who remains till the end is the winner.

Play the game.

Get your pupils to play the game as per the instructions. Let them
understand adding numbers orally.  Let them also identity errors made by
others.

Look at the following chart. There are 4 pairs of numbers in each row. The total
of one of those pair is different. Identify and draw around it. Observe the
example.

Ex

A)

    B)

    C)

    D)

43 G 3— 33 G 13— 23 G 23— 33 G 14

26 G 12— 21 G 17— 24 G 34— 18 G 20

52 G 7— 57 G 2— 51 G 6— 50 G 9

50 G 10— 50 G 20— 30 G 30— 40 G 20

16 G 33— 15 G 34— 23 G 36— 17 G 32

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA52 G 7— 57 G 2— 51 G 6— 50 G 9

SCERT, T
ELA

NGANA52 G 7— 57 G 2— 51 G 6— 50 G 9

50 G 10— 50 G 20— 30 G 30— 40 G 20

SCERT, T
ELA

NGANA
50 G 10— 50 G 20— 30 G 30— 40 G 20

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

Ten pupils can play this game.

SCERT, T
ELA

NGANA

Ten pupils can play this game.

*

SCERT, T
ELA

NGANA

* Make 50 paper slips with numbers 1 to 50 on them. Put them in a box.

SCERT, T
ELA

NGANA

Make 50 paper slips with numbers 1 to 50 on them. Put them in a box.

*

SCERT, T
ELA

NGANA

* Each pupil picks up 2 slips. Add the two numbers on the slips.

SCERT, T
ELA

NGANA

Each pupil picks up 2 slips. Add the two numbers on the slips.

*SCERT, T
ELA

NGANA

*SCERT, T
ELA

NGANA
16 G 33— 15 G 34— 23 G 36— 17 G 32

SCERT, T
ELA

NGANA
16 G 33— 15 G 34— 23 G 36— 17 G 32
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ká Ä≥qT 10 eT+~ es¡≈£î Ä&É+&ç.

k 1 qT+&ç 50 es¡≈£î dü+K´\T >∑\ N{°\T ‘·j·÷s¡T#˚dæ #·T{Ïº ˇø£ &Éu≤“˝À y˚j·T+&ç.

k ˇø=ÿø£ÿ $<ë´]ú π̌økÕ] ¬s+&ÉT N{°\T rj·T+&ç. ¬s+&ç+{Ï yÓTT‘·Ô+ ≈£L&É+&ç.

k mes¡T rdæq N{°̋ À¢ì dü+K´\ yÓTT‘·Ô+ ‘·≈£îÿeH√ yês¡T W≥sTTq≥T¢.

k $T>∑‘êyês¡T eT∞¢ N{°\T rj·T+&ç. Ä≥qT ø=qkÕ–+#·+&ç.

k Ä≥˝À ∫e] es¡≈£î $T–*q $<ë´]ú ¬>*∫q≥T¢.

(n)

(Ä)

(Ç)

(á)

43 G 3— 33 G 13— 23 G 23— 33 G 14

26 G 12— 21 G 17— 24 G 34— 18 G 20

52 G 7— 57 G 2— 51 G 6— 50 G 9

50 G 10— 50 G 20— 30 G 30— 40 G 20

16 G 33— 15 G 34— 23 G 36— 17 G 32

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

á Ä≥qT 10 eT+~ es¡≈£î Ä&É+&ç.

SCERT, T
ELA

NGANA

á Ä≥qT 10 eT+~ es¡≈£î Ä&É+&ç.

k

SCERT, T
ELA

NGANA

k 1 qT+&ç 50 es¡≈£î dü+K´\T >∑\ N{°\T ‘·j·÷s¡T#˚dæ #·T{Ïº ˇø£ &Éu≤“˝À y˚j·T+&ç.

SCERT, T
ELA

NGANA

1 qT+&ç 50 es¡≈£î dü+K´\T >∑\ N{°\T ‘·j·÷s¡T#˚dæ #·T{Ïº ˇø£ &Éu≤“˝À y˚j·T+&ç.

k

SCERT, T
ELA

NGANA

k ˇø=ÿø£ÿ $<ë´]ú π̌økÕ] ¬s+&ÉT N{°\T rj·T+&ç. ¬s+&ç+{Ï yÓTT‘·Ô+ ≈£L&É+&ç.

SCERT, T
ELA

NGANA

ˇø=ÿø£ÿ $<ë´]ú π̌økÕ] ¬s+&ÉT N{°\T rj·T+&ç. ¬s+&ç+{Ï yÓTT‘·Ô+ ≈£L&É+&ç.

kSCERT, T
ELA

NGANA

kSCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA50 G 10— 50 G 20— 30 G 30— 40 G 20

SCERT, T
ELA

NGANA50 G 10— 50 G 20— 30 G 30— 40 G 20

16 G 33— 15 G 34— 23 G 36— 17 G 32

SCERT, T
ELA

NGANA
16 G 33— 15 G 34— 23 G 36— 17 G 32
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Ramu has Rs. 28. Ranga has Rs. 15. Let us find out how much they have together.

R 3 tens G 10 ones G 3 ones

R 3 tens G 1 ten G 3 ones

R      4 tens G  3 ones R 40 G 3 R 43

We can solve the above problem in this way also.

   28 R 2 tens G 8 ones

G 15 R 1 ten G 5 ones

R 3 tens G 13 ones

Get your pupils to use notes and coins or bundles of sticks and loose sticks
to add numbers when regrouping/carry over is done. Let them solve the
problems on the next page.

Say how much they have together.

Ten ones are equal to
one ten, aren’t they?

 6 Addition of Numbers (with Regrouping/Carry over)

20 +  8

10 +  5

222228 =

+15 =

Let us solve the above problem using bundles and loose sticks.

30 + 13

30 + 10 + 3

= 40 + 3  =  43

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

R 3 SCERT, T
ELA

NGANA

R 3 

R 3 SCERT, T
ELA

NGANA

R 3 

We can solve the above problem in this way also.

SCERT, T
ELA

NGANA

We can solve the above problem in this way also.

   28 R 2 

SCERT, T
ELA

NGANA

   28 R 2 tens

SCERT, T
ELA

NGANA

tens G 8

SCERT, T
ELA

NGANA

G 8

G 15 R 1 

SCERT, T
ELA

NGANA

G 15 R 1 ten

SCERT, T
ELA

NGANA

ten

R 3 

SCERT, T
ELA

NGANA

R 3 tens

SCERT, T
ELA

NGANA

tens

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA20 

SCERT, T
ELA

NGANA20 +  8

SCERT, T
ELA

NGANA+  8

10 +  5

SCERT, T
ELA

NGANA
10 +  5
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sêeTT e<ä› ` 28, s¡+>∑ì e<ä› ` 15 ñHêïsTT. yê] e<ä› >∑\ yÓTT‘·Ô+ s¡÷bÕj·T …̋H√ï ‘Ó\TdüT≈£î+<ë+.

R 3 |ü<äT\T G 10 ˇø£≥T¢ G 3 ˇø£≥T¢

R 3 |ü<äT\T G 1 |ü~ G 3 ˇø£≥T¢

R      4 |ü<äT\T G  3 ˇø£≥T¢ R 40 G 3 R 43

   28 R 2 |ü<äT\T G 8 ˇø£≥T¢

G 15 R 1 |ü~ G 5 ˇø£≥T¢

R 3 |ü<äT\T G 13 ˇø£≥T¢

|ü~ ˇø£≥T¢ n+fÒ ˇø£

|ü~øÏ düe÷q+ ø£<ë!

30 + 13

30 + 10 + 3

= 40 + 3  =  43

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

R 3 |ü<äT\T G 10SCERT, T
ELA

NGANA

R 3 |ü<äT\T G 10SCERT, T
ELA

NGANA

   28 R 2 |ü<äT\T G 8

SCERT, T
ELA

NGANA

   28 R 2 |ü<äT\T G 8

G 15 R 1 |ü~ G 5 ˇø£≥T¢

SCERT, T
ELA

NGANA

G 15 R 1 |ü~ G 5 ˇø£≥T¢

R 3 |ü<äT\T G 13

SCERT, T
ELA

NGANA

R 3 |ü<äT\T G 13

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA



118Free Distribution by T.S.Government  2022-23

Observe how the two numbers are added.

Get your pupils to understand addition of digits in ones place and those
in tens place. Let them solve all the problems by themselves.

T O
1

3 9

G 4 3

8 2

T O

4 5

G 4 9

T O

6 3

G 2 8

Example

Answer:

(A)

(D)(C)

Ten  Ones

T O

7 9

G 1 8

T O

2 7

G 5 6

T O

5 9

G 3 2

(B)

(E)

 T  O T  O  T  O

T O
1

2 8

G 1 5

4 3

When we add ones
8 ones  G 5 ones R 13 ones
13 ones R 1 ten   G 3 ones

When we add tens
2 tens G 1 ten R  3 tens
3 tens G 1 ten R  4 tens

SCERT, T
ELA

NGANA

T O

SCERT, T
ELA

NGANA

T O

4 5

SCERT, T
ELA

NGANA

4 5

G 4 9

SCERT, T
ELA

NGANA

G 4 9

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

T O

SCERT, T
ELA

NGANA

T O

7 9

SCERT, T
ELA

NGANA

7 9

G 1 8SCERT, T
ELA

NGANA

G 1 8SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANAWhen we add ones

SCERT, T
ELA

NGANAWhen we add ones
ones

SCERT, T
ELA

NGANA
ones R 13 

SCERT, T
ELA

NGANA
 R 13 ones

SCERT, T
ELA

NGANA
ones

 R 1 

SCERT, T
ELA

NGANA
 R 1 ten

SCERT, T
ELA

NGANA
ten   G 3 

SCERT, T
ELA

NGANA
   G 3 ones

SCERT, T
ELA

NGANA
ones
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|ü ˇ

1

3 9

G 4 3

8 2

|ü ˇ

4 5

G 4 9

|ü ˇ

6 3

G 2 8

»yêãT

n)

á)Ç) |ü ˇ

7 9

G 1 8

|ü ˇ

2 7

G 5 6

|ü ˇ

5 9

G 3 2

Ä)

ñ)

|ü ˇ

1

2 8

G 1 5

4 3

ˇø£≥¢qT ≈£L&É>±

8 ˇø£≥T¢ G 5 ˇø£≥T¢ R 13 ˇø£≥T¢

13 ˇø£≥T¢ R 1 |ü~ G 3 ˇø£≥T¢

|ü<äT\qT ≈£L&É>±

2 |ü<äT\T G 1 |ü~ R  3 |ü<äT\T

3 |ü<äT\T G 1 |ü~ R  4 |ü<äT\T

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

|ü ˇ

SCERT, T
ELA

NGANA

|ü ˇ

4 5

SCERT, T
ELA

NGANA

4 5

G 4 9

SCERT, T
ELA

NGANA

G 4 9

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

|ü ˇ

SCERT, T
ELA

NGANA

|ü ˇ

7 9

SCERT, T
ELA

NGANA

7 9

G 1 8SCERT, T
ELA

NGANA

G 1 8SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA
8 ˇø£≥T¢ G 5 ˇø£≥T¢ R 13 ˇø£≥T¢

SCERT, T
ELA

NGANA
8 ˇø£≥T¢ G 5 ˇø£≥T¢ R 13 ˇø£≥T¢

13 ˇø£≥T¢ R 1 |ü~ G 3 ˇø£≥T¢

SCERT, T
ELA

NGANA
13 ˇø£≥T¢ R 1 |ü~ G 3 ˇø£≥T¢
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Fill in the blank boxes with the correct numbers.

Exercise

Get your pupils to understand the instructions for problems 1 to 9. Let
them solve the problems by themselves.

48 R tens G       ones

 28 R tens G       ones

tens G       ones

(A How much is 

ten G       ones

G

(B How much is 

    T      O

4 8

G2 8

24 R tens G        ones

 49 R tens G        ones

tens G        ones

ten G        ones

G

T O

2 4

G4 9SCERT, T
ELA

NGANA
      ones

SCERT, T
ELA

NGANA
      ones

SCERT, T
ELA

NGANA
      ones

SCERT, T
ELA

NGANA
      ones

G

SCERT, T
ELA
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48 R |ü<äT\T G ˇø£≥T¢

 28 R |ü<äT\T G ˇø£≥T¢

|ü<äT\T G ˇø£≥T¢

|ü<äT\T G ˇø£≥T¢

G

4 8

G2 8

24 R |ü<äT\T G ˇø£≥T¢

 49 R |ü<äT\T G ˇø£≥T¢

|ü<äT\T G ˇø£≥T¢

|ü<äT\T G ˇø£≥T¢

G

2 4

G4 9SCERT, T
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|ü<äT\T G ˇø£≥T¢
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|ü<äT\T G ˇø£≥T¢
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Add the numbers using bundles of sticks and loose sticks.

Add the following numbers.

(a) 37 G 28 R (b) 58 G 24 R

(c) 24 G 6 R (d) 9 G 76 R

(e) 46 G 27 R (f) 17 G 73 R

(g) 56 G 14 R (h) 49 G 26 R

(a) 4 3

G2 8

(c) 5 6

G2 9

(d) 7 4

G 9

(b) 3 6

G4 7

Solve the problem orally.

 Ex  There are 68 guava and 24 sweet lime trees in a garden. What is the total number of
trees in that garden?

Guava trees R 68

Sweet lime trees R 24

Total trees R 92

l In a cricket match Laxman made 47 runs and Dravid made 26 runs. How many runs did
they make together?

Runs Laxman made R 47

Runs Dravid made R 26

They both made R

Get your pupils to understand the instructions for each problem. Let
them solve the problems by themselves.

(e) 4 5

G2 6

(g) 2 7

G4 9

(h) 5 3

G3 7

(f) 5 4

G3 6

(i) 6 1

G2 9

(k) 7 3

G1 9

(l) 2 9

G4 5

(j) 2 7

G5 3
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)
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NGANA

) 58 G 24 R
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58 G 24 R

(d
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(d)
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) 9 G 76 R
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NGANA

9 G 76 R
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(f
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(f)
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)(f)(f
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(f)(f 17 G 73 R
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17 G 73 R

SCERT, T
ELA

NGANA

(h
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(h

Solve the problem orally.
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Solve the problem orally.

There are 68 guava and 24 sweet lime trees in a garden. What is the total number of

SCERT, T
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NGANA

There are 68 guava and 24 sweet lime trees in a garden. What is the total number of
trees in that garden?
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trees in that garden?
Guava trees
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Guava trees
Sweet lime trees

SCERT, T
ELA

NGANA

Sweet lime trees
Total trees
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Total trees

In a cricket match Laxman made 47 runs and Dravid made 26 runs. How many runs did

SCERT, T
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NGANA

In a cricket match Laxman made 47 runs and Dravid made 26 runs. How many runs did
they make together?SCERT, T

ELA
NGANA

they make together?

G3 7
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G3 7
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G1 9
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ELA

NGANA
G1 9
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NGANA(l
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NGANA(l)
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NGANA) 2 9
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(n) 37 G 28 R (Ä) 58 G 24 R

(Ç) 24 G 6 R (á) 9 G 76 R

(ñ) 46 G 27 R (})17 G 73 R

(m) 56 G 14 R (@) 49 G 26 R

(n) 4 3

G2 8

(Ç) 5 6

G2 9

(á) 7 4

       G 9

(Ä) 3 6

       G 7

 ˇø£ ‘√≥˝À 68 C≤eT#Ó≥T¢, 24 ã‘êÔsTT #Ó≥T¢ ø£\e⁄. yÓTT‘·Ô+ #Ó≥T¢ mìï?

C≤eT #Ó≥T¢ R 68

ã‘êÔsTT #Ó≥T¢ R 24

yÓTT‘·Ô+ #Ó≥T¢ R 92

l ˇø£ ÁøÏ¬ø{Ÿ e÷´#Y̋ À \ø£ÎDY 47 |üs¡T>∑T\T, Á<ë$&é 26 |üs¡T>∑T\T #˚XÊs¡T. Ç<ä›s¡T #˚dæq yÓTT‘·Ô+

|üs¡T>∑T\T mìï?

\ø£åàDY #˚dæq |üs¡T>∑T\T R 47

Á<ë$&é #˚dæq |üs¡T>∑T\T R 26

Ç<ä›s¡T #˚dæq yÓTT‘·Ô+ |üs¡T>∑T\T R

(ñ) 4 5

G2 6

(m) 2 7

G4 9

(@) 5 3

G3 7

(}) 5 4

       G     8

(◊) 6 1

G2 9

(z) 7 3

G1 9

(W) 2 9

G4 5

(ˇ) 2 7

G5 3
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(Ä)
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(Ä) 58 G 24 R
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58 G 24 R

(á)
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(á) 9 G 76 R
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9 G 76 R
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(})
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(})17 G 73 R
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17 G 73 R
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 ˇø£ ‘√≥˝À 68 C≤eT#Ó≥T¢, 24 ã‘êÔsTT #Ó≥T¢ ø£\e⁄. yÓTT‘·Ô+ #Ó≥T¢ mìï?
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 ˇø£ ‘√≥˝À 68 C≤eT#Ó≥T¢, 24 ã‘êÔsTT #Ó≥T¢ ø£\e⁄. yÓTT‘·Ô+ #Ó≥T¢ mìï?

C≤eT #Ó≥T¢ R 68
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C≤eT #Ó≥T¢ R 68

ã‘êÔsTT #Ó≥T¢ R 24

SCERT, T
ELA

NGANA

ã‘êÔsTT #Ó≥T¢ R 24

yÓTT‘·Ô+ #Ó≥T¢ R 92

SCERT, T
ELA

NGANA

yÓTT‘·Ô+ #Ó≥T¢ R 92

ˇø£ ÁøÏ¬ø{Ÿ e÷´#Y̋ À \ø£ÎDY 47 |üs¡T>∑T\T, Á<ë$&é 26 |üs¡T>∑T\T #˚XÊs¡T. Ç<ä›s¡T #˚dæq yÓTT‘·Ô+

SCERT, T
ELA

NGANA

ˇø£ ÁøÏ¬ø{Ÿ e÷´#Y̋ À \ø£ÎDY 47 |üs¡T>∑T\T, Á<ë$&é 26 |üs¡T>∑T\T #˚XÊs¡T. Ç<ä›s¡T #˚dæq yÓTT‘·Ô+
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Observe the grid given below. Find out the numbers which add up to 36. Write
those pairs as shown in the example.

.............................................

.............................................

.............................................

.............................................

22 18 10 19

17 15 21 32

12 39 18 33

26 14 34 31

Get your pupils to understand the instructions for each problem. Let
them solve the problems by themselves.

Example  19 G 17 R 36

Observe the fisrt three numbers on each line. Write the next three numbers in
the series.

Ex 2, 4, 6, 8, 10, 12

(A) 5, 10, 15, .............,  .............,  .............

(B) 3, 5, 7, .............,  .............,  .............

(C) 20, 30, 40, .............,  .............,  .............

.............................................

.............................................

.............................................

.............................................

........ ........ ........
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.............................................
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.............................................

Observe the fisrt three numbers on each line. Write the next three numbers in
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Observe the fisrt three numbers on each line. Write the next three numbers in
the series.
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the series.

2, 4, 6, 8, 10, 12
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2, 4, 6, 8, 10, 12

.............................................
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.............................................

.............................................
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.............................................
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) 5, 10, 15, .............,
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5, 10, 15, .............,
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.............................................

.............................................

.............................................

.............................................

22 18 10 19

17 15 21 32

12 39 18 33

26 14 34 31

 19 G 17 R 36

2, 4, 6, 8, 10, 12

(n) 5, 10, 15, .............,  .............,  .............

(Ä) 3, 5, 7, .............,  .............,  .............

(Ç) 20, 30, 40, .............,  .............,  .............

.............................................

.............................................

.............................................

.............................................

........ ........ ........
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.............................................
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.............................................
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Observe the pairs of numbers in each row. The sum of one pair is different.

Identify and draw around it.

Ex 27 G 46 16 G 67 26 G 57 36 G 47

(A) 18 G 19 20 G 17 20 G 19 15 G 22

(B) 27 G 35 30 G 12 40 G 22 38 G 24

(C) 47 G 35 58 G 24 40 G 48 68 G 14

Look at the numbers in the first column. Add each pair. Mark the range in which
their sum will lie       .

Observe how Soni added two numbers. Correct the error / mistake. if any. Write
the correct answer in the brackets (        ).

 Ex

30 - 40 40 - 50 50 - 60 60 - 70

34 G 12

45 G 20

27 G 11

36 G 27

28 G 25

48

G24

612

( )

53

G22

85

( )

60

G30

80

( )

39

G17

416

( )

76

G15

61

( )

Get your pupils to understand the instruction for each problem. Let them
solve problems by themselves.

(A)

(B)

(C)

     (D)

  (A)  (B)  (C)  (D)  (E)
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NGANA
Look at the numbers in the first column. Add each pair. Mark the range in which

SCERT, T
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NGANA
Look at the numbers in the first column. Add each pair. Mark the range in which

Observe how Soni added two numbers. Correct the error / mistake. if any. Write

SCERT, T
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NGANA

Observe how Soni added two numbers. Correct the error / mistake. if any. Write
the correct answer in the brackets (        ).
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the correct answer in the brackets (        ).

30 - 40 40 - 50 50 - 60 60 - 70
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30 - 40 40 - 50 50 - 60 60 - 70

48
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48
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  (A
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  (A)
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)  (A)  (A
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  (A)  (A  (B
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27 G 46 16 G 67 26 G 57 36 G 47

(n) 18 G 19 20 G 17 20 G 19 15 G 22

(Ä) 27 G 35 30 G 12 40 G 22 38 G 24

(Ç) 47 G 35 58 G 24 40 G 48 68 G 14

30 - 40 40 - 50 50 - 60 60 - 70

34 G 12

45 G 20

27 G 11

36 G 27

28 G 25

48

G24

612

( )

53

G22

85

( )

60

G30

80

( )

39

G17

416

( )

76

G15

61

( )

(n)

(Ä)

(Ç)

(á)

(n) (Ä) (Ç) (á) (ñ)
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30 - 40 40 - 50 50 - 60 60 - 70
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We can show this process like this.

Look at the notes and coins. How much remains?

4   5

` 2 3

2 2

Get your pupils to understand the concept of subtracton. Let them use notes
and coins. Introduce the symbol ‘   ’ (minus) to them.

The symbol for
subtraction is  ‘`’

7  Subtraction

I have Rs. 45

I must pay Rs. 23

How much
remains?
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4 5

` 2 3

2 2

rdæy˚‘·≈£î >∑Ts¡TÔ 

Hê <ä>∑Zs¡

45 s¡÷.\T ñHêïsTT.

H˚qT 23 s¡÷bÕj·T\T

Çyê«*.m˝≤?

$T–*q$ m+‘·?
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 Ex

Exercise

Get your pupils to understand the instruction for each problem. Let them
solve the problems by themselves.

Subtract numbers using the method of expansion of numbers.

45 R 4 G 5 R 40 G 5

 23 R 2 G 3 R 20 G 3

22 R 2 G 2 R 20 G 2

tens ones

`

T O

4 5

` 2 3

2 2

or  45 ` 23 R 22

This

 means

T O

3 9

` 8

G

G

G

R

R

R

(B)

T O

8 5

` 4 3

G

G

G

R

R

R

(C)

T O

9 5

` 9 1

G

G

G

R

R

R

(E)

T O

6 5

` 3 5

G

G

G

R

R

R

(D)

T O

5 8

` 3 2

G

G

G

R

R

R

(F)

T O

6 5

` 3 0

G

G

G

R

R

R

(A)
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 45 ` 23 R 22
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45 R 4 G 5 R 40 G 5

 23 R 2 G 3 R 20 G 3

22 R 2 G 2 R 20 G 2

|ü<äT\T ˇø£≥T¢

`

|ü ˇ

4 5

` 2 3

2 2

Ò̋<ë 45 ` 23 R 22

n+fÒ

|ü ˇ

3 9

` 8

G

G

G

R

R

R

(Ä)

|ü ˇ

8 5

` 4 3

G

G

G

R

R

R

(Ç)

|ü ˇ

9 5

` 9 1

G

G

G

R

R

R

(ñ)

|ü ˇ

6 5

` 3 5

G

G

G

R

R

R

(á)

|ü ˇ

5 8

` 3 2

G

G

G

R

R

R

(})

|ü ˇ

6 5

` 3 0

G

G

G

R

R

R

(n)
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SCERT, T
ELA

NGANA
` 2 3
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2 2
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NGANA2 22 2
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45 ` 23 R 22
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G
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GR
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R

R
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Subtract the number in the top row from that in the first column.

- 60 50 40 30

80

70

Subtract the numbers given.

Ex:54 ` 31 R 35 ` 23 R

65 ` 24 R 76 ` 30 R

49 ` 5 R 75 ` 15 R

83 ` 23 R 66 ` 61 R

23

Subtract the numbers using the bundles of sticks and loose sticks.

4 8

`2 6

5 9

`2 4

6 8

`2 0

9 9

`6 9

2 9

 ` 5

3 7

`1 5

4 9

` 4

5 8

` 1  0

7 9

`6 9

3 9

 ` 3

Get your pupils to understand the instruction for each problem. Let them
solve the problems by themselves.

.................................

.................................

.................................

.................................

6 9

`2 6

7 4

` 3  4

8 5

`3 0

6 6

`2 3

9 7

 ` 4 1

(a) (b) (c) (d) (e)

(f) (g) (h) (i) (j)

(k) (l) (m) (n) (o)

.................................

.................................

.................................

.................................

(a)

(b) (c)

(d) (e)

(f) (g)

30

Ex:` 90 ` 60  R 30

90SCERT, T
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NGANA

Subtract the number in the top row from that in the first column.
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Subtract the number in the top row from that in the first column.
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- 60 50 40 30
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- 60 50 40 30

80SCERT, T
ELA

NGANA

80

35 ` 23 R
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35 ` 23 R

SCERT, T
ELA

NGANA

76 ` 30 R
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76 ` 30 R
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75 ` 15 R
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75 ` 15 R
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3 9
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 ` 3
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 ` 3
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(c
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(c)
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)

(e
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(e)
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)(e)(e
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- 60 50 40 30

90

80

70

ñ<ë: 54 ` 31 R 35 ` 23 R

65 ` 24 R 76 ` 30 R

49 ` 5 R 75 ` 15 R

83 ` 23 R 66 ` 61 R

23

4 8

`2 6

5 9

`2 4

6 8

`2 0

9 9

`6 9

2 9

 ` 5

3 7

`1 5

4 9

` 4

5 8

`  1 0

7 9

`6 9

3 9

 ` 3

................................

.................................

.................................

.................................

30

6 9

`2 6

7 4

` 3  4

8 5

`3 0

6 6

`2 3

9 7

 ` 4 1

(n) (Ä) (Ç) (á) (ñ)

(}) (m) (@) (◊) (̌ )

(z) (W) (ø£) (>∑) (#·)

.................................

.................................

.................................

.................................

(n)

(Ä) (Ç)

(á) (ñ)

(}) (m)

ñ<ë: 90 ` 60  R 30
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35 ` 23 R
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35 ` 23 R
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76 ` 30 R
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76 ` 30 R
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75 ` 15 R
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75 ` 15 R
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3 9
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3 9

 ` 3
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(Ç)

(á) (ñ)

SCERT, T
ELA

NGANA

(á) (ñ)

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

- 60 50 40 30
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- 60 50 40 30
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90

80
SCERT, T

ELA
NGANA

80
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Look at the picture. Subtract the numbers from 80 and write.

Write subtraction problems such that the difference is 10.

Example: 20 ` 10 R 10

(a) ............................. (b) .............................

(c) ........................... (d) ...........................

Write the correct symbol ( +  or  - ) in the blank boxes.

Observe the examples. Fill in the blank boxes with the correct numbers.

35 12 R 23

47 13 R 60

88 22 R 66

50-50

-30

-60

-20

-10

-40

60 ` 23 37R

` ` `` `

RR R

17 ` 12 5R

43 ` 11 32R

Get your pupils to understand the instruction for each problem. Let them
solve the problems by themselves.

19 ` R

` ` `` `

RR R

1 ` 0R

` 3 15R

Example: 4a.

.................................

.................................

.................................

.................................

.................................

.................................

Ex:` 80 ` 30  R 50
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Write subtraction problems such that the difference is 10.
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Write subtraction problems such that the difference is 10.

) .............................
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) ............................. (b

SCERT, T
ELA

NGANA

(b) .............................
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) .............................

) ...........................
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) ........................... (d
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(d) ...........................
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) ...........................

Observe the examples. Fill in the blank boxes with the correct numbers.
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Observe the examples. Fill in the blank boxes with the correct numbers.
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ñ<ë : 20 ` 10 R 10

(n) ............................. (Ä) .............................

(Ç) ........................... (á) ...........................

35 12 R 23

47 13 R 60

88 22 R 66

50-50

-30

-60

-20

-10

-40

60 ` 23 37R

` ` `` `

RR R

17 ` 12 5R

43 ` 11 32R

19 ` R

` ` `` `

RR R

1 ` 0R

` 3 15R

ñ<ë : 4n.

.................................

.................................

.................................

.................................

.................................

.................................

ñ<ë: 80 ` 30  R 50

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

(n) ............................. (Ä) .............................
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60 ` 23 37

` `
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` ``̀ ``
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`̀ ``
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17 ` 12 5

ñ<ë :
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Get your pupils to understand the instruction for each problem. Let them
solve the problems by themselves.

(a) 30 ` 0  R

(b) 95 `  R  80

(c) 12 `  5  R

(d) 75 ` 75  R

(e) 25 `  R  25

(f) 60 `  5  R

Fill in the blank boxes with the correct numbers.

(A)
3 6

  ` 1

2 3

(B)
4 7

  ` 2

2 5

(C) (D)

7 5

  ` 2

5 0

6 8

  ` 3

0

Fill in the blank boxes with the correct numbers.

Subtract the numbers in the first column of the following grid. Then identify
where your answer lies. Observe the example.

Ex
20 - 30 30 - 40 40 - 50 50 -60

39 ` 14

66 ` 33

98 ` 50

57 ` 12

65 ` 14
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75 ` 75  R

SCERT, T
ELA

NGANA

(e
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Fill in the blank boxes with the correct numbers.
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n. 30 ` 0  R

Ä. 95 `  R 80

Ç. 12 `  5  R

á. 75 ` 75  R

ñ. 25 `  R 25

}. 60 `  5  R

(n)
3 6

  ` 1

2 3

(Ä)
4 7

  ` 2

2 5

(Ç) (á)

7 5

  ` 2

5 0

6 8

  ` 3

0

20 - 30 30 - 40 40 - 50 50 -60

39 ` 14

66 ` 33

98 ` 50

57 ` 12

65 ` 14
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75 ` 75  R
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75 ` 75  R
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60 `  5  R

SCERT, T
ELA

NGANA

60 `  5  R

SCERT, T
ELA

NGANA

}.

SCERT, T
ELA

NGANA

}.
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Fill in the blank boxes with the correct numbers.

Ex: 47 ` 30— 37 ` 20— 67 ` 50— 87 ` 40

a) 36 ` 21— 67 ` 52— 46 ` 32— 26 ` 11

b) 59 ` 42— 77 ` 16— 47 ` 30— 38 ` 21

c) 48 ` 15— 77 ` 44— 68 ` 35— 76 ` 53

36 - 20 R

G G G

17 - 12 R

R R R

- R

Get your pupils to understand the instruction for each problem. Let them
solve the problems on their own.

Observe the series of numbers. Write the next two numbers in each row.

Example: 10,  8,   6  ,   4  ,   2  ,

a) 9,  7,  5, , 

b) 12,  9,  6, , 

c) 30, 25, 20, , 

Observe the subtractions  in each row. One of the answers

is different.  Identify and circle it 
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47 ` 30— 37 ` 20— 67 ` 50— 87 ` 40
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Observe the series of numbers. Write the next two numbers in each row.
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Observe the series of numbers. Write the next two numbers in each row.

Example

SCERT, T
ELA

NGANA

Example: 

SCERT, T
ELA

NGANA

: 10,  8,   6  , 
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a
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a) 

SCERT, T
ELA

NGANA

) 9,  7,  5, 

SCERT, T
ELA

NGANA

9,  7,  5, 

SCERT, T
ELA

NGANA

bSCERT, T
ELA

NGANA

b) SCERT, T
ELA

NGANA

) 12,  9,  6, SCERT, T
ELA

NGANA

12,  9,  6, SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA
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ñ<ë: 47 ` 30— 37 ` 20— 67 ` 50— 87 ` 40

(n) 36 ` 21— 67 ` 52— 46 ` 32— 26 ` 11

(Ä) 59 ` 42— 77 ` 16— 47 ` 30— 38 ` 21

(Ç) 48 ` 15— 77 ` 44— 68 ` 35— 76 ` 53

36 - 20 R

G G G

17 - 12 R

R R R

- R

ñ<ë: 10,  8,   6  ,   4  ,   2  ,

(n) 9,  7,  5, , 

(Ä) 12,  9,  6, , 

(Ç) 30, 25, 20, , 
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  4  , 

(n) 
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Lata went to a shop
with Rs. 45. She
bought things for Rs.
27. She gave the
shopkeeper Rs. 45
she had. He gave her

Rs. 8. She doubted whether he gave her
the correct amount. She calculated as
below. You observe her calculation.

Observe the note and coins . Say how much is 45 - 27.

Get your pupils to understand the process of regrouping before subtracting
certain numbers. Let them use notes and coins for subtraction of numbers
with two digits.

T O

4 5

` 2 7

8  Subtraction of Numbers
(Using Regrouping )

We cannot
subtract 7 ones

from 5ones.
Then how to

do that?

T O

4 5

` 2 7

It is possible if
we change one
 ten as 10 ones.

One ten = ten ones.SCERT, T
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\‘· s ¡ T .45 rd ü Tø=ì

<äTø±D≤ìøÏ yÓ[¢+~. s¡T.27

\≈£î düs¡T≈£î\T ø=qï~.

<äTø±D<ës¡T&çøÏ s¡T.45 \T

Ç∫Ã+~. n‘·qT s¡T.8\T

yÓqøÏÿ Ç#êÃ&ÉT. <äTø±D<ës¡T&ÉT dü]>±Z Ç#êÃ&Ü?

nì \‘·≈£î nqTe÷q+ e∫Ã+~. Ç˝≤ …̋ø£ÿ #˚dæ

#·÷dæ+~. MTs¡÷ |ü]o*+#·+&ç.

|ü ˇ

4 5

` 2 7

|ü ˇ

4 5

` 2 7

5 ˇø£≥T¢ qT+&ç

7 ˇø£≥T¢ rdæ

Çe« Ò̋+!

m˝≤?

ˇø£ |ü~ì ˇø£≥T¢>±

e÷]Ã‘˚ dü]!

1 |ü~ n+fÒ
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Get your pupils to understand the process of subtraction by exchange of
places using notes and coins.

T O

4 5

` 2 7

When one ten is
changed into ones,

3 tens remain.
Now if we add 10
ones and 5 ones,

T O

4 5

` 2 7

If 27 ( 2 tens
and 7 ones ) are

subtracted
from 45.

One ten
and 8 ones

remain. That is
18 remains.

T O

4 5

` 2 7

1 8
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|ü ˇ

4 5

` 2 7

1 8

|ü ˇ

4 5

` 2 7

|ü ˇ

4 5

` 2 7

4 |ü<äT\˝À 1 |ü~ì,

ˇø£≥T¢>± e÷s¡Ã>±

3 |ü<äT\T $T–˝≤sTT.

Ç|ü&ÉT 10 ˇø£≥T¢,

5 ˇø£≥T¢ ø£*|æq

15 ˇø£≥T¢ ne⁄‘êsTT.

45˝À qT+&ç

27 nq>±

2 |ü<äT\T

7 ˇø£≥T¢ rdæy˚ùdÔ

1 |ü~,

8 ˇø£≥T¢

$T–˝≤sTT.

n+fÒ

18 $T–*+~.
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T O
4 5

` 2 7

1 8

We can do it in a different way also.

k  5 ones are less than 7 ones
k If we change 1 ten out of 4

tens into ones, and add to 5,
we get 15.

k  15 ones  - 7 ones  =  8 ones

k If one of the 4 tens changed
into ones, we have 3 tens.

k 3 tens -2 tens  =  one ten.

or
1 ten  =  10 ones

40 G 5

20G7R27

10G8R18

T O

T O

3 15

 4 5

` 2 7

1 8

Get your pupils to understand the process of borrowing before subtracting
certain numbers. Let them use notes and coins for subtracton of numbers
with two digits.
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|ü ˇ

4 5

` 2 7

1 8

k 5 ̌ ø£≥T¢, nH̊~ 7 ̌ ø£≥¢ø£Hêï ∫qï~

k 4 |ü<äT\˝À 1 |ü~ì ˇø£≥T¢>±

e÷]ùdÔ 15 ˇø£≥T¢ ne⁄‘êsTT.

k 15 ˇø£≥T¢ ` 7 ˇø£≥T¢ R 8 ˇø£≥T¢

k 4 |ü<äT\ qT+&ç 1 |ü~ì ˇø£≥T¢>±

e÷s¡Ã&É+e\¢ 3 |ü<äT\T $T–˝≤sTT.

k 3 |ü<äT\T ` 2 |ü<äT\T R  1 |ü~.

˝Ò<ë

1 |ü~ R 10 ˇø£≥T¢

|ü ˇ

3 15

 4 5

` 2 7

1 840 G 5
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3. Play this game.

L Two pupils can play this game.
L Make a dice with 0 to 5 on its faces and another

with 4 to 9 on its faces.
L Throw them both at a time.
L Write two numbers formed with the two digits

you see on the two dice. For example, if the digits
on the dice are 4 and 5. The numbers you write
are 45 and 54.

L Subtract the smaller number from the bigger one.
Ex: 54 ` 45 R 09

L The second pupil also does like this
L The pupil whose result of subtraction is more gets

one point.
L The pupils do this five times.
L The pupil who scores more is the winner.

Get your pupils to identify the difference between consecutive numbers in
a series. Let them write the next numbers. Let them play the game described
above.

Observe the series of numbers. Say what you understood.

50, 45, 40, , , 

If you observe the dots, they are decreasing at the rate of 5. Therefore we can write the
next three numbers in the above series.

50, 45, 40, 35, 30, 25

In the same manner write the next three numbers in the following series.

a) 50,   48, 46, , , 

b) 80,   75, 70, , , 

50 45 40
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with 4 to 9 on its faces.
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Throw them both at a time.
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Write two numbers formed with the two digits
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you see on the two dice. For example, if the digits
on the dice are 4 and 5. The numbers you write
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on the dice are 4 and 5. The numbers you write
are 45 and 54.
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Subtract the smaller number from the bigger one.

SCERT, T
ELA

NGANA

Subtract the smaller number from the bigger one.
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L á Ä≥qT Ç<ä›s¡T Ä&É+&ç.

L 0 qT+&ç 5 es¡≈£î n+¬ø\T >∑\ bÕ∫ø£ ˇø£{Ï 4 qT+&ç 9

es¡≈£î n+¬ø\T >∑\ bÕ∫ø£ eTs=ø£{Ï rdüTø√+&ç.

L ¬s+&ÉT bÕ∫ø£\qT ø£*|æ π̌økÕ] y˚j·T+&ç.

L bÕ∫ø£\ô|’ |ü&çq n+¬ø\‘√ @s¡Œ&˚ ¬s+&É+¬ø\ dü+K´\qT

¬s+&ç+{Ïì Áyêj·T+&ç.

ñ<ë:`bÕ∫ø£\ô|’ |ü&çq n+¬ø\T 4, 5.

yê{Ï‘√ @s¡Œ&çq dü+K´\T ` 45, 54

L Ä dü+K´\˝À ô|<ä›dü+K´ qT+&ç ∫qïdü+K´qT rdæy˚j·T+&ç.

ñ<ë:` 54 ` 45 R 09

L Ç˝≤ ¬s+&√ $<ë´]ú ≈£L&Ü bÕ∫ø£\qT y˚dæ ‘˚&ÜqT

#Ó|üŒeTq+&ç.

L ‘˚&Ü me]~ m≈£îÿe>± ñ+fÒ yê]øÏ ˇø£ bÕsTT+{Ÿ.

L Ç˝≤ Ç<ä›s¡T ◊<˚dæ kÕs¡T¢ Ä&Ü*.

L m≈£îÿe bÕsTT+≥T¢ e∫Ãq yês¡T ¬>*∫q≥T¢.

50, 45, 40, , , 

ô|’ #·Tø£ÿ\qT |ü]o*+#·>± es¡dü>± 5 #·Tø£ÿ\ #=|üq ‘·>∑TZ‘·THêïsTT.

ø±e⁄q 50, 45, 40, 35, 30, 25

ô|’̋ ≤π> øÏ+~ yê{Ïì #˚j·T+&ç.

n) 50, 48, 46, , , 

Ä) 80, 75, 70, , , 

50 45 40
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(a) 75 ` 29 R (b) 87 ` 58 R (c) 83 ` 59 R (d) 61 ` 25 R

(e) 84 ` 39 R (f) 73 ` 26 R (g) 62 ` 38 R (h) 55 ` 27 R

Subtract the numbers given below.

(a) 3 4

`1 8

(b) 8 2

`5 7

(c) 6 4

`3 9

(e) 4 8

`3 9

(f) 6 5

`4 8

(g) 7 6

`5 8

(h) 5 0

`2 8

(i) 6 0

`4 2

(j) 7 0

`3 9

Exercise

Get your pupils to understand the instruction for each problem in the
exercise. Let them solve the problems 1 to 7 by themselves.

Observe the grid shown below. Identify pairs of numbers whose difference is
25. Write subtractions on the lines given.

(d) 9 2

`4 6

50 49 5

40 15 30

24 10 25

Ex: 50 ` 25 R 25

(k) 9 1

`2 3

(l) 6 4

`2 5

Do the subtractions.

SCERT, T
ELA

NGANA

87 ` 58 R

SCERT, T
ELA

NGANA

87 ` 58 R (c

SCERT, T
ELA

NGANA

(c)

SCERT, T
ELA

NGANA

) 83 ` 59 R

SCERT, T
ELA

NGANA
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25. Write subtractions on the lines given.
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(n) 75 ` 29 R (Ä) 87 ` 58 R (Ç) 83 ` 59 R (á) 61 ` 25 R

(ñ) 84 ` 39 R (}) 73 ` 26 R (m) 62 ` 38 R (@) 55 ` 27 R

(n) 3 4

`1 8

(Ä) 8 2

`5 7

(Ç) 6 4

   ` 9

(ñ) 4 8

`3 9

(}) 6 5

`4 8

(m) 7 6

   ` 8

(@) 5 0

`2 8

(◊) 6 0

`4 2

(ˇ) 7 0

   ` 9

(á) 9 2

`4 6

50 49 5

40 15 30

24 10 25

ñ<ë: 50 ` 25 R 25

(z) 9 1

`2 3

(W) 6 4

`2 5
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Subtract the numbers in the first column. Mark the range with in which
your answer lies, in each case. One example is given.

Subtract each pair of numbers given below. Mark with  whose answer is
different. One example is given.

Ex:` 32 ` 18— 30 ` 16— 54 ` 40— 84 ` 54

(a) 76 ` 29— 50 ` 15— 68 ` 33— 71 ` 36

(b) 55 ` 35— 60 ` 40— 36 ` 16— 68 ` 58

Look at the subtraction done by Madhavi. If there are mistakes, write the correct
answer in the brackets (        ).
(a) 5 4

`3 8

2 4

   ( )

(b) 6 8

`2 9

4 9

   ( )

(c) 3 0

`1 4

2 4

   ( )

(d) 7 6

`5 8

1 8

   ( )

(e) 8 4

`7 9

10 5

   ( )

30 –– 40 40 –– 50 50 –– 60 60 –– 70

76 ` 28

50 ` 19

82 ` 23

73 ` 15

64 ` 17

Example:`

Get your pupils to understand the instructon for each problem. Let them
solve the problems by themselves.

(a) 60, 50, 40, , , 

(b) 85, 80, 75, , , 

(c) 54, 45, 36, , , 

Write the next three numbers in each series.
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your answer lies, in each case. One example is given.
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ñ<ë:` 32 ` 18— 30 ` 16— 54 ` 40— 84 ` 54

(n) 76 ` 29— 50 ` 15— 68 ` 33— 71 ` 36

(Ä) 55 ` 35— 60 ` 40— 36 ` 16— 68 ` 58

n) 5 4

`3 8

2 4

   ( )

Ä) 6 8

`2 9

4 9

   ( )

Ç) 3 0

`1 4

2 4

   ( )

á) 7 6

`5 8

1 8

   ( )

ñ) 8 4

`7 9

10 5

   ( )

30 ––  40 40  ––  50 50 ––  60 60 –– 70

76- 28

50 - 19

82 - 23

73 - 15

64 - 17

ñ<ë:`

(n) 60, 50, 40, , , 

(Ä) 85, 80, 75, , , 

(Ç) 54, 45, 36, , , 
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 85, 80, 75,
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Look at the following picture. Observe the rows of trees. Say how many

rows are there?

Teacher: Ravi, how many rows of  trees are there?
Ravi : Two rows.
Teacher: Ravi, how many trees are there in each row? What is their total number?
Ravi : There are 6 trees in each row. Their total is  6 G 6 R 12

It means there are 6 trees in each of the two rows.
We can write it as 2 I 6 R 12.

It means adding 6 two times.
Teacher: Rahim, how many columns of trees are there?
Rahim : Six columns.
Teacher: Rahim, how many trees are there in each column? What is their total number?
Rahim : There are two trees in each column. Their total is 2 G 2 G 2 G 2 G 2 G 2 R 12.

It means there are two trees in six columns.
We write it as 6 I 2 = 12.
It means adding 2 six times.
Adding a number again and again is called repeated addition.
2 I 6 R 12— 6 I 2 R 12

Here we have used a symbol I. It is called the symbol for multiplication.

Multiplication is repeated addition. Ex: 3 + 3 + 3 + 3 = 4 I 3 = 12

Get your pupils to identify the concept of multiplicaton using the rows of
trees and the number of trees in each row shown in the above picture.
Introduce the symbol of multiplication to your pupils.

6 G 6 R 12

2 I 6 R 12

2 G 2 G 2 G 2 G 2 G 2 R 12

6 I 2 R 12

9  Multiplication of Numbers - 1
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Ravi, how many trees are there in each row? What is their total number?

SCERT, T
ELA

NGANA

Ravi, how many trees are there in each row? What is their total number?
There are 6 trees in each row. Their total is 
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There are 6 trees in each row. Their total is 
It means there are 6 trees in each of the two rows.
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It means there are 6 trees in each of the two rows.
2 I 6 R 12.
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2 I 6 R 12.

It means adding 6 two times.
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It means adding 6 two times.
Rahim, how many 
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columns of 
Six columns.
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Six columns.
Rahim, how many trees are there in each column? What is their total number?
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Rahim, how many trees are there in each column? What is their total number?
There are two trees in each column. Their total is 
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There are two trees in each column. Their total is 
It means there are two trees in six columns.
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It means there are two trees in six columns.
We write it as 6 
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We write it as 6 I 2
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It means adding 2 six times.
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It means adding 2 six times.
Adding a number again and again is called repeated addition.SCERT, T
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Adding a number again and again is called repeated addition.
2 I 6 R 12— 6 I 2 R 12SCERT, T

ELA
NGANA

2 I 6 R 12— 6 I 2 R 12

6 G 6 R 12
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{°#·sY : s¡$ ! ã&ç̋ À #Ó≥T¢ mìï n&ÉT¶es¡Tdü̋ À¢ ñHêïsTT.

s¡$ : ¬s+&ÉT n&ÉT¶es¡Tdü\T.

{°#·sY : s¡$! ˇø£ÿ n&ÉT¶es¡Tdü≈£î mìï #Ó≥T¢ ñHêïsTT. yÓTT‘·Ô+ mìï?

s¡$ : es¡Tdü≈£î Äs¡T #Ó≥T¢ ñHêïsTT. yÓTT‘·Ô+ 6 G 6 R 12

nq>± ¬s+&ÉT es¡Tdü̋ À Äπsdæ #Ó≥T¢ ñHêïsTT.

Bìì 2 I 6 R 12 >± sêkÕÔ+. n+fÒ

2 kÕs¡T¢ (e÷s¡T¢) ª6µ qT ≈£L&É&É+.

{°#·sY : s¡V”≤+! ã&ç̋ À #Ó≥T¢ mìï ì\Te⁄ es¡Tdü̋ À¢ ñHêïsTT?

s¡V”≤+ : Äs¡T ì\Te⁄ es¡Tdü\T.

{°#·sY : s¡V”≤+! es¡Tdü≈£î mìï #Ó≥T¢ ñHêïsTT. yÓTT‘·Ô+ m+‘·?

s¡V”≤+ : es¡Tdü≈£î ¬s+&ÉT #Ó≥T¢ ñHêïsTT. yÓTT‘·Ô+ #Ó≥T¢ 2 G 2 G 2 G 2 G 2 G 2 R 12.

nq>± Äs¡T es¡Tdü\˝À ¬s+&˚dæ #Ó≥T¢ ñHêïsTT.

Bìì 6 I 2 R 12 >± sêkÕÔ+. n+fÒ

6 kÕs¡T¢ (e÷s¡T¢) ª2µ qT ≈£L&É&É+.

Ç˝≤ ˇø£ dü+K´qT eT∞¢ eT∞¢ ≈£L&É&ÜH˚ï Äes¡Ôq dü+ø£\q+ n+{≤eTT.

2 I 6 R 12— 6 I 2 R 12

>∑&ÉT\˝À yê&çq ªIµ >∑Ts¡TÔqT >∑TDø±s¡|ü⁄ >∑Ts¡TÔ n+{≤s¡T.

ñ<ë: 3 G 3 G 3 G 3 R 4 I 3 R 12

6 G 6 R 12

2 I 6 R 12

2 G 2 G 2 G 2 G 2 G 2 R 12
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s¡$ ! ã&ç̋ À #Ó≥T¢ mìï n&ÉT¶es¡Tdü̋ À¢ ñHêïsTT.
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s¡$ ! ã&ç̋ À #Ó≥T¢ mìï n&ÉT¶es¡Tdü̋ À¢ ñHêïsTT.
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s¡$! ˇø£ÿ n&ÉT¶es¡Tdü≈£î mìï #Ó≥T¢ ñHêïsTT. yÓTT‘·Ô+ mìï?

s¡$ : es¡Tdü≈£î Äs¡T #Ó≥T¢ ñHêïsTT. yÓTT‘·Ô+ 6 G 6 R 12
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s¡$ : es¡Tdü≈£î Äs¡T #Ó≥T¢ ñHêïsTT. yÓTT‘·Ô+ 6 G 6 R 12

nq>± ¬s+&ÉT es¡Tdü̋ À Äπsdæ #Ó≥T¢ ñHêïsTT.
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s¡V”≤+! ã&ç̋ À #Ó≥T¢ mìï ì\Te⁄ es¡Tdü̋ À¢ ñHêïsTT?

SCERT, T
ELA

NGANA

s¡V”≤+! ã&ç̋ À #Ó≥T¢ mìï ì\Te⁄ es¡Tdü̋ À¢ ñHêïsTT?
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6 kÕs¡T¢ (e÷s¡T¢) ª2µ qT ≈£L&É&É+.
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Ç˝≤ ˇø£ dü+K´qT eT∞¢ eT∞¢ ≈£L&É&ÜH˚ï Äes¡Ôq dü+ø£\q+ n+{≤eTT.
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Multplication of numbers:

Look at the pictures of fans. Count the wings. Say how many are there?

Introduce the operation of multiplication to your pupils by counting the
wings of the fans given above. Help them to identify the products.

One fan has 3 wings R 1 I 3

Two fans have 3 G 3 R 6

wings R 2 I 3

Five fans have 3 G 3 G 3 G 3 G 3 R 15 wings  R ...................................

Three fans have 3 G 3 G 3 R 9 wings R 3 I 3

Four fans have 3 G 3 G 3 G 3 R 12 wings R 4 I 3

If you write the above multiplications in a table,

       1 I 3 R 

2 I 3 R 

3 I 3 R 

4 I 3 R 

5 I 3 R 
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Five fans have
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Five fans have 3 G 3 G 3 G 3 G 3 R 15 
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 3 G 3 G 3 G 3 G 3 R 15 

Three fans have 
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 3 G 3 G 3 G 3 R 12 
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 3 G 3 G 3 G 3 R 12 wings
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       1 I 3 R 
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ˇø£ bòÕ´qT≈£î 3 ¬sø£ÿ\T R 1 I 3

2 bòÕ´q¢≈£î 3 G 3 R 6 ¬sø£ÿ\T R 2 I 3

5 bòÕ´q¢≈£î 3 G 3 G 3 G 3 G 3 R 15 ¬sø£ÿ\T  R ...................................

3 bòÕ´q¢≈£î 3 G 3 G 3 R 9 ¬sø£ÿ\T R 3 I 3

4 bòÕ´q¢≈£î 3 G 3 G 3 G 3 R 12 ¬sø£ÿ\T R 4 I 3

ô|’ >∑TDø±sê\qT |ü{Ïºø£̋ À sêdæq

1 I 3 R 

2 I 3 R 

3 I 3 R 

4 I 3 R 

5 I 3 R 

 \qT  n+{≤s¡TSCERT, T
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5 bòÕ´q¢≈£î 3 G 3 G 3 G 3 G 3 R 15 ¬sø£ÿ\T  R ...................................
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5 bòÕ´q¢≈£î 3 G 3 G 3 G 3 G 3 R 15 ¬sø£ÿ\T  R ...................................

3 bòÕ´q¢≈£î 3 G 3 G 3 R 9 ¬sø£ÿ\T R 3 I 3
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4 bòÕ´q¢≈£î 3 G 3 G 3 G 3 R 12 ¬sø£ÿ\T R 4 I 3
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4 bòÕ´q¢≈£î 3 G 3 G 3 G 3 R 12 ¬sø£ÿ\T R 4 I 3

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

ô|’ >∑TDø±sê\qT |ü{Ïºø£̋ À sêdæq

SCERT, T
ELA

NGANA

ô|’ >∑TDø±sê\qT |ü{Ïºø£̋ À sêdæq
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Look at the leaps of a frog shown below. It leaps two feet at a time. With this
information.

Get your pupils to observe the above picture. Let them count the number
of leaps made by the frog. Get them to write the multiplication at each
leap.

Number of leaps The number
reached

Shown as multiplicationDistance covered
in feet

1 2 2 1 I 2 R 2

2 2 G 2 4 2 I 2 R 4

3 2 G 2 G 2 6 3 I 2 R

4 4 I 2 R

5

6

7

8

9

10

First
time

Second
time

Third
time

Fourth
time

Fifth
time

Sixth
time
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1 2 2 1 I 2 R 2
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1 2 2 1 I 2 R 2

2 2 G 2 4 2 I 2 R 4
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2 2 G 2 4 2 I 2 R 42 2 G 2 4 2 I 2 R 4
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2 2 G 2 4 2 I 2 R 4

3 2 G 2 G 2 6 3 I 2 R
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>∑+‘·T\ dü+K´ #˚]q dü+K´ >∑TDø±s¡ s¡÷|ü+yÓTT‘·Ô+ n&ÉT>∑T\T

1 2 2 1 I 2 R 2

2 2 G 2 4 2 I 2 R 4

3 2 G 2 G 2 6 3 I 2 R

4 4 I 2 R

5

6

7

8

9

10

1e kÕ] 2e kÕ] 3e kÕ] 4e kÕ] 5e kÕ] 6e kÕ]
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Count the fingers shown below. Fill in the blank boxes with the correct numbers.

Exercise

Number of fingers on one hand R               5  R  1  I  5   R  5

Number of fingers on two hands R       5  G  5  R  2   I  5  R 10

  Number of fingers on three handsR       G       G      R      I     R

Number of fingers on four hands R    G      G       G      R      I     R

Number of fingers on five handsR      G      G      G      G      R      I     R

Get your pupils to understand the instruction for each problem. Let them
solve the problems 1 to 10 by themselves.
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Number of fingers on one hand
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Number of fingers on two hands
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Number of fingers on two hands

  Number of fingers on three hands
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  Number of fingers on three hands
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ˇø£ #˚‹øÏ y˚fi¯ó¢ R 5 R 1 I 5 R 5

¬s+&ÉT #˚‘·T\≈£î y˚fi¯ó¢ R 5 G 5 R 2 I 5 R 10

eT÷&ÉT #˚‘·T\≈£î y˚fi¯ó¢ R G G R I R

Hê\T>∑T #˚‘·T\≈£î y˚fi¯ó¢ R G G G R I R

◊<äT #˚‘·T\≈£î y˚fi¯ó¢ R G G G G R I R
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SCERT, T
ELA

NGANA

¬s+&ÉT #˚‘·T\≈£î y˚fi¯ó¢ R

SCERT, T
ELA

NGANA

eT÷&ÉT #˚‘·T\≈£î y˚fi¯ó¢ R

SCERT, T
ELA

NGANA

eT÷&ÉT #˚‘·T\≈£î y˚fi¯ó¢ R

Hê\T>∑T #˚‘·T\≈£î y˚fi¯ó¢ RSCERT, T
ELA

NGANA

Hê\T>∑T #˚‘·T\≈£î y˚fi¯ó¢ R
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Show the following additions in the form of multiplications.

Example: 4 G 4 G 4 G 4 G 4 R 5 I 4 R 20

(a) 7 G 7 G 7 G 7 R I R

(b) 3 G 3G 3 G 3 G 3G 3 G 3 R I R

(c) 6 G 6 G 6 G 6 G 6 R I R

(d) 2 G 2 G 2 G 2 G 2 G 2 R I R

Get your pupils to understand the instruction for each problem. Let them
solve the problems by themselves.

Write the following multiplications as repeated additons.

Ex: 7 I 8 R    8   G   8   G   8   G   8   G   8   G   8   G   8

(a) 3 I 4 R

(b) 6 I 5 R

(c) 8 I 3 R

(d) 5 I 2 R

(e) 4 I 6 R

SCERT, T
ELA

NGANA6 G 6 G 6 G 6 G 6 R I R

SCERT, T
ELA

NGANA6 G 6 G 6 G 6 G 6 R I R

2 G 2 G 2 G 2 G 2 G 2 R I R

SCERT, T
ELA

NGANA
2 G 2 G 2 G 2 G 2 G 2 R I R

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

Write the following multiplications as repeated additons.

SCERT, T
ELA

NGANA

Write the following multiplications as repeated additons.

8   G   8   G   8   G   8   G   8   G   8   G   8

SCERT, T
ELA

NGANA

8   G   8   G   8   G   8   G   8   G   8   G   8

SCERT, T
ELA

NGANA

6 I 5 R

SCERT, T
ELA

NGANA

6 I 5 R

SCERT, T
ELA

NGANA

8 I 3 R

SCERT, T
ELA

NGANA

8 I 3 R

SCERT, T
ELA

NGANA

(dSCERT, T
ELA

NGANA

(d)SCERT, T
ELA

NGANA

) 5 I 2 RSCERT, T
ELA

NGANA

5 I 2 RSCERT, T
ELA

NGANA
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ñ<ë: 4 G 4 G 4 G 4 G 4 R 5 I 4 R 20

(n) 7 G 7 G 7 G 7 R I R

(Ä) 3 G 3G 3 G 3 G 3G 3 G 3 R I R

(Ç) 6 G 6 G 6 G 6 G 6 R I R

(á) 2 G 2 G 2 G 2 G 2 G 2 R I R

ñ<ë : 7 I 8 R    8   G   8   G   8   G   8   G   8   G   8   G   8

(n) 3 I 4 R

(Ä) 6 I 5 R

(Ç) 8 I 3 R

(á) 5 I 2 R

(ñ) 4 I 6 R

SCERT, T
ELA

NGANA
6 G 6 G 6 G 6 G 6 R I R

SCERT, T
ELA

NGANA
6 G 6 G 6 G 6 G 6 R I R

2 G 2 G 2 G 2 G 2 G 2 R I R

SCERT, T
ELA

NGANA
2 G 2 G 2 G 2 G 2 G 2 R I R

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

7 I 8 R    8   G   8   G   8   G   8   G   8   G   8   G   8

SCERT, T
ELA

NGANA

7 I 8 R    8   G   8   G   8   G   8   G   8   G   8   G   8

SCERT, T
ELA

NGANA

6 I 5 R

SCERT, T
ELA

NGANA

6 I 5 R

SCERT, T
ELA

NGANA

8 I 3 R

SCERT, T
ELA

NGANA

8 I 3 R

(á)SCERT, T
ELA

NGANA

(á) 5 I 2 RSCERT, T
ELA

NGANA

5 I 2 RSCERT, T
ELA

NGANA
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Count the dots in rows and columns. Fill in the blanks in the table. Write them
in the form of multiplication.

Multiply the number in the first column by those in the top row. Write their
product in the blank box.

Get your pupils to understand the instruction for each problem. Let them
solve all the problems by themselves.

I 4 6 7 8 9

2 8

3

5

Ex:` 2 I 4 R 8

Multiply the numbers given.

(a) 4 I 5 R

(b) 3 I 4 R

(c) 5 I 2 R

(d) 8 I 6 R

in columns Form of
multiplication

Dots

5 3 5 I 3 R 15

5I3 R 3I5 R 15

3 5 ..................

............. ............. ..................

............. ............. ..................

I  R I  R 

in rows

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

Multiply the number in the first column by those in the top row. Write their

SCERT, T
ELA

NGANA

Multiply the number in the first column by those in the top row. Write their
product in the blank box.

SCERT, T
ELA

NGANA

product in the blank box.

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

I 4 6 7 8 9

SCERT, T
ELA

NGANA

I 4 6 7 8 9I 4 6 7 8 9

SCERT, T
ELA

NGANA

I 4 6 7 8 9

2 8

SCERT, T
ELA

NGANA

2 82 8

SCERT, T
ELA

NGANA

2 82 8

SCERT, T
ELA

NGANA

2 8

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA
I

SCERT, T
ELA

NGANA
I

SCERT, T
ELA

NGANA
 R 

SCERT, T
ELA

NGANA
 R  R 

SCERT, T
ELA

NGANA
 R 

SCERT, T
ELA

NGANA
I

SCERT, T
ELA

NGANA
I

SCERT, T
ELA

NGANA
 R 

SCERT, T
ELA

NGANA
 R  R 

SCERT, T
ELA

NGANA
 R 
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ì\Te⁄ es¡Tdü\T n&ÉT¶ es¡Tdü\T >∑TDø±s¡ s¡÷|ü+#·Tø£ÿ\T

5 3 5 I 3 R 15

I 4 6 7 8 9

2 8

3

5

ñ<ë:` 2 I 4 R 8

5I3 R 3I5 R 15

(n) 4 I 5 R

(Ä) 3 I 4 R

(Ç) 5 I 2 R

(á)8 I 6 R

3 5 ..................

............. ............. ..................

............. ............. ..................

I  R I  R 

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

I 4 6 7 8 9

SCERT, T
ELA

NGANA

I 4 6 7 8 9I 4 6 7 8 9

SCERT, T
ELA

NGANA

I 4 6 7 8 9

2 8

SCERT, T
ELA

NGANA

2 82 8

SCERT, T
ELA

NGANA

2 82 8

SCERT, T
ELA

NGANA

2 8

3SCERT, T
ELA

NGANA

3SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA R 

SCERT, T
ELA

NGANA R 

SCERT, T
ELA

NGANAI

SCERT, T
ELA

NGANAI

SCERT, T
ELA

NGANA R 

SCERT, T
ELA

NGANA R 

SCERT, T
ELA

NGANA
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Of the three multiplications given in each row, one has a different answer.

Identify it and draw around it.

Ex: 4 I 3— 6 I 2— 5 I 4

(a) 2 I 8— 4 I 4— 3 I4

(b) 6 I 6— 7 I 6— 9 I 4

(c) 8 I 5— 8 I 3— 6 I 4

Fill in the blank boxes with the correct numbers.

Ex: 3   I   4 R 4   I   3

(a) 5   I   6 R 6   I

(b) 2   I   5 R     I

(c) 1   I R 8   I   7

(d) 3   I R 9   I   3

Get your pupils to understand the instruction for each problem. Let them
solve the problems by themselves.

Match the following.

2 G 2 G 2 G 2 27

9 I 3 6 I 3

2 I 3 12

3 G 3 G 3 G 3 G 3 G 3 5 G 5 G 5

number of wheels of six bicycles 4 I 2

3 I 5 3 I 2

Example

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

2 G 2 G 2 G 2 27

SCERT, T
ELA

NGANA

2 G 2 G 2 G 2 27

9 I 3 6 I 3

SCERT, T
ELA

NGANA

9 I 3 6 I 3

2 I 3 12

SCERT, T
ELA

NGANA

2 I 3 12

3 G 3 G 3 G 3 G 3 G 3 5 G 5 G 5

SCERT, T
ELA

NGANA

3 G 3 G 3 G 3 G 3 G 3 5 G 5 G 5

number of wheels of six bicyclesSCERT, T
ELA

NGANA

number of wheels of six bicyclesSCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA
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ñ<ë: 4 I 3— 6 I 2— 5 I 4

(n) 2 I 8— 4 I 4— 3 I4

(Ä) 6 I 6— 7 I 6— 9 I 4

(Ç) 8 I 5— 8 I 3— 6 I 4

ñ<ë: 3   I   4 R 4   I   3

(n) 5   I   6 R 6   I

(Ä) 2   I   5 R     I

(Ç) 1   I R 8   I   7

(á) 3   I R 9   I   3

2 G 2 G 2 G 2 \≈£î >∑TDø±s¡ s¡÷|ü+ 27

9 I 3 6 I 3

2 I 3 12

3 G 3 G 3 G 3 G 3 G 3 5 G 5 G 5

Äs¡T ôd’øÏfi¢̄≈£î #·Áø±\T 4 I 2

3 I 5 3 I 2

ñ
<
ëV

ü≤s¡D

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

2 G 2 G 2 G 2 \≈£î >∑TDø±s¡ s¡÷|ü+ 27

SCERT, T
ELA

NGANA

2 G 2 G 2 G 2 \≈£î >∑TDø±s¡ s¡÷|ü+ 27

9 I 3 6 I 3

SCERT, T
ELA

NGANA

9 I 3 6 I 3

2 I 3 12

SCERT, T
ELA

NGANA

2 I 3 12

3 G 3 G 3 G 3 G 3 G 3 5 G 5 G 5

SCERT, T
ELA

NGANA

3 G 3 G 3 G 3 G 3 G 3 5 G 5 G 5

Äs¡T ôd’øÏfi¢̄≈£î #·Áø±\T 4 I 2SCERT, T
ELA

NGANA

Äs¡T ôd’øÏfi¢̄≈£î #·Áø±\T 4 I 2SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA
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L Two pupils can play this game.

L Take two dice with numbers 1, 2, 3, 4, 5 and 6 on their faces.

L Throw the dice together on the floor.

L Multiply the numbers on the two faces of the dice. Put a mark on the
chart at the number as shown above.

Ex:̀ numbers on dice: 2 , 5

2 I 5 R 10

L Then the second pupil does this. Put a mark on the chart.

L If the same product comes it is not marked. The other pupil gets the
chance.

L After playing 10 times, one who has more marks on the chart is the
winner.

Play this game.

Get your pupils to play the above game according to the rules given. Let
them practise multiplying simple numbers.

1 2 3 4 5 6

7 8 9 10 11 12

13 14 15 16 17 18

19 20 21 22 23 24

25 26 27 28 29 30

31 32 33 34 35 36 1

2
3

4

5
6

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

Take two dice with numbers 1, 2, 3, 4, 5 and 6 on their faces.

SCERT, T
ELA

NGANA

Take two dice with numbers 1, 2, 3, 4, 5 and 6 on their faces.

Throw the dice together on the floor.

SCERT, T
ELA

NGANA

Throw the dice together on the floor.

Multiply the numbers on the two faces of the dice. Put a mark on the

SCERT, T
ELA

NGANA

Multiply the numbers on the two faces of the dice. Put a mark on the
chart at the number as shown above.

SCERT, T
ELA

NGANA

chart at the number as shown above.

numbers on dice: 2 , 5

SCERT, T
ELA

NGANA

numbers on dice: 2 , 5

2 I 5 R 10

SCERT, T
ELA

NGANA

2 I 5 R 10

L

SCERT, T
ELA

NGANA

L Then the second pupil does this. Put a mark on the chart.

SCERT, T
ELA

NGANA

Then the second pupil does this. Put a mark on the chart.

LSCERT, T
ELA

NGANA

L If the same product comes it is not marked. The other pupil gets theSCERT, T
ELA

NGANA

If the same product comes it is not marked. The other pupil gets the
chance.SCERT, T

ELA
NGANA

chance.SCERT, T
ELA

NGANA
4

SCERT, T
ELA

NGANA
44

5

SCERT, T
ELA

NGANA
55
6

SCERT, T
ELA

NGANA
66

SCERT, T
ELA

NGANA
666

SCERT, T
ELA

NGANA
66

SCERT, T
ELA

NGANA
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L á Ä≥ì Ç<ä›s¡T Ä&É+&ç.

L 1, 2, 3, 4, 5, 6 dü+K´\T >∑\ ¬s+&ÉT bÕ∫ø£\qT rdüTø√+&ç.

L yÓTT<ä≥>± ˇø£s¡T ¬s+&ÉT bÕ∫ø£\qT ø£*|æ π̌økÕ] y˚j·T+&ç.

L |ü&çq bÕ∫ø£\ô|’ dü+K´\ \u≤∆ìï #ês¡Tºô|’ >∑T]Ô+#·+&ç. >∑Ts¡TÔ>± ˇø£ sêsTT ñ+#·+&ç.

ñ<ë:` dü+K´\T 2, 5

2 I 5 R 10

L Ç˝≤π> ̌ ø£] ‘·s¡Tyê‘· ̌ ø£s¡T Ä&É+&ç. |ü&çq dü+K´\ \u≤∆\ Ä<Ûës¡+>± ‘·eT >∑Ts¡TÔ>±

sêsTTì #ês¡Tºô|’ ñ+#·+&ç.

L ˇø£ dü+K´ô|’ >∑Ts¡TÔ ñ+∫q ‘·sê«‘· eTs=ø£kÕ] n<˚ |òü*‘·+ e∫ÃHê Ä dü+K´ô|’ >∑Ts¡TÔ

ñ+#·sê<äT. ¬s+&Ée $<ë´]úøÏ bÕ∫ø£ y˚j·T&ÜìøÏ neø±X¯+ Çyê«*.

L Ç˝≤ |ü~kÕs¡T¢ Ä&É>± me] >∑Ts¡TÔ\T m≈£îÿe #ês¡Tºô|’ ñ+fÒ yês¡T ¬>*∫q≥T¢.

1 2 3 4 5 6

7 8 9 10 11 12

13 14 15 16 17 18

19 20 21 22 23 24

25 26 27 28 29 30

31 32 33 34 35 36 1

2
3

4

5
6

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

1, 2, 3, 4, 5, 6 dü+K´\T >∑\ ¬s+&ÉT bÕ∫ø£\qT rdüTø√+&ç.

SCERT, T
ELA

NGANA

1, 2, 3, 4, 5, 6 dü+K´\T >∑\ ¬s+&ÉT bÕ∫ø£\qT rdüTø√+&ç.

yÓTT<ä≥>± ˇø£s¡T ¬s+&ÉT bÕ∫ø£\qT ø£*|æ π̌økÕ] y˚j·T+&ç.

SCERT, T
ELA

NGANA

yÓTT<ä≥>± ˇø£s¡T ¬s+&ÉT bÕ∫ø£\qT ø£*|æ π̌økÕ] y˚j·T+&ç.

|ü&çq bÕ∫ø£\ô|’ dü+K´\ \u≤∆ìï #ês¡Tºô|’ >∑T]Ô+#·+&ç. >∑Ts¡TÔ>± ˇø£ sêsTT ñ+#·+&ç.

SCERT, T
ELA

NGANA

|ü&çq bÕ∫ø£\ô|’ dü+K´\ \u≤∆ìï #ês¡Tºô|’ >∑T]Ô+#·+&ç. >∑Ts¡TÔ>± ˇø£ sêsTT ñ+#·+&ç.

ñ<ë:` dü+K´\T 2, 5

SCERT, T
ELA

NGANA

ñ<ë:` dü+K´\T 2, 5

2 I 5 R 10

SCERT, T
ELA

NGANA

2 I 5 R 10

Ç˝≤π> ̌ ø£] ‘·s¡Tyê‘· ̌ ø£s¡T Ä&É+&ç. |ü&çq dü+K´\ \u≤∆\ Ä<Ûës¡+>± ‘·eT >∑Ts¡TÔ>±

SCERT, T
ELA

NGANA

Ç˝≤π> ̌ ø£] ‘·s¡Tyê‘· ̌ ø£s¡T Ä&É+&ç. |ü&çq dü+K´\ \u≤∆\ Ä<Ûës¡+>± ‘·eT >∑Ts¡TÔ>±

sêsTTì #ês¡Tºô|’ ñ+#·+&ç.

SCERT, T
ELA

NGANA

sêsTTì #ês¡Tºô|’ ñ+#·+&ç.

LSCERT, T
ELA

NGANA

L ˇø£ dü+K´ô|’ >∑Ts¡TÔ ñ+∫q ‘·sê«‘· eTs=ø£kÕ] n<˚ |òü*‘·+ e∫ÃHê Ä dü+K´ô|’ >∑Ts¡TÔSCERT, T
ELA

NGANA

ˇø£ dü+K´ô|’ >∑Ts¡TÔ ñ+∫q ‘·sê«‘· eTs=ø£kÕ] n<˚ |òü*‘·+ e∫ÃHê Ä dü+K´ô|’ >∑Ts¡TÔ

ñ+#·sê<äT. ¬s+&Ée $<ë´]úøÏ bÕ∫ø£ y˚j·T&ÜìøÏ neø±X¯+ Çyê«*.SCERT, T
ELA

NGANA

ñ+#·sê<äT. ¬s+&Ée $<ë´]úøÏ bÕ∫ø£ y˚j·T&ÜìøÏ neø±X¯+ Çyê«*.SCERT, T
ELA

NGANA
4

SCERT, T
ELA

NGANA
44

6

SCERT, T
ELA

NGANA
66

SCERT, T
ELA

NGANA
666

SCERT, T
ELA

NGANA
66

SCERT, T
ELA

NGANA
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10G10 R  2I10 R 20

2 tens means 20 beads

Each chain has 10 beads, doesn’t it?

Can you say how many beads are there in 2 chains?

In the same manner, can you say how
many beads will be there in 3, 4, 5,
6, 7, 8, 9,  and 10 chains?

Get your pupils to count groups of things and help them to understand
how to write multiplication tables.

Count the beads on the chain.
Say how many are there.

Number
of chains

Sarala counted the beads in the chains and wrote the numbers as shown below.

1

2

3

4

5

6

7

8

9

10

10

10 G 10

10 G 10 G 10

10 G 10 G 10 G 10

10 G 10 G 10 G 10 G 10

10 G 10 G 10 G 10 G 10 G 10

10 G 10 G 10 G 10 G 10 G 10 G 10

10 G 10 G 10 G 10 G 10 G 10 G 10 G 10

10 G 10 G 10 G 10 G 10 G 10 G 10 G 10 G 10

10 G 10 G 10 G 10 G 10 G 10 G 10 G 10 G

10 G 10

1 ten

2 tens

3 tens

4 tens

5 tens

6 tens

7 tens

8 tens

9 tens

10 tens

1 I 10 R 10

2 I 10 R 20

3 I 10 R 30

4 I 10 R 40

5 I 10 R 50

6 I 10 R 60

7 I 10 R 70

8 I 10 R 80

9 I 10 R 90

10 I 10 R 100

10  Multiplication Tables
(1 to 10)

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA
Can you say how many beads are there in 2 chains?

SCERT, T
ELA

NGANA
Can you say how many beads are there in 2 chains?Can you say how many beads are there in 2 chains?

SCERT, T
ELA

NGANA
Can you say how many beads are there in 2 chains?

In the same manner, can you say how

SCERT, T
ELA

NGANA
In the same manner, can you say how

many beads will be there in 3, 4, 5,

SCERT, T
ELA

NGANA

many beads will be there in 3, 4, 5,
6, 7, 8, 9,  and 10 chains?

SCERT, T
ELA

NGANA

6, 7, 8, 9,  and 10 chains?

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

Sarala counted the beads in the chains and wrote the numbers as shown below.

SCERT, T
ELA

NGANA

Sarala counted the beads in the chains and wrote the numbers as shown below.

7 SCERT, T
ELA

NGANA

7

8 SCERT, T
ELA

NGANA

8

10 G 10 G 10

SCERT, T
ELA

NGANA

10 G 10 G 10

10 G 10 G 10 G 10

SCERT, T
ELA

NGANA

10 G 10 G 10 G 10

10 G 10 G 10 G 10 G 10

SCERT, T
ELA

NGANA

10 G 10 G 10 G 10 G 10

10 G 10 G 10 G 10 G 10 G 10

SCERT, T
ELA

NGANA

10 G 10 G 10 G 10 G 10 G 10

10 G 10 G 10 G 10 G 10 G 10 G 10SCERT, T
ELA

NGANA

10 G 10 G 10 G 10 G 10 G 10 G 10

10 G 10 G 10 G 10 G 10 G 10 G 10 G 10SCERT, T
ELA

NGANA

10 G 10 G 10 G 10 G 10 G 10 G 10 G 10
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10G10 R  2I10 R 20

2 |ü<äT\T nq>± 20 |üPdü\THêïsTT.

ˇø=ÿø£ÿ <ä+&É̋ À 10 |üPdü\THêïsTT ø£<ë?

¬s+&ÉT <ä+&É\˝À mìï |üPdü\T+{≤jÓ÷ #Ó|üŒ>∑\yê?

n˝≤π> 3, 4, 5.... 10 <ä+&É\˝À mìï

|üPdü\T+{≤jÓ÷ #Ó|üŒ>∑\yê?.
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2

3

4

5

6

7

8

9

10

10

10 G 10

10 G 10 G 10

10 G 10 G 10 G 10

10 G 10 G 10 G 10 G 10

10 G 10 G 10 G 10 G 10 G 10

10 G 10 G 10 G 10 G 10 G 10 G 10

10 G 10 G 10 G 10 G 10 G 10 G 10 G 10

10 G 10 G 10 G 10 G 10 G 10 G 10 G 10 G 10

10 G 10 G 10 G 10 G 10 G 10 G 10 G 10 G 10 G 10

1 |ü~

2 |ü<äT\T

3 |ü<äT\T

4 |ü<äT\T

5 |ü<äT\T

6 |ü<äT\T

7 |ü<äT\T

8 |ü<äT\T

9 |ü<äT\T

10 |ü<äT\T

1 I 10 R 10

2 I 10 R 20

3 I 10 R 30

4 I 10 R 40

5 I 10 R 50

6 I 10 R 60

7 I 10 R 70

8 I 10 R 80

9 I 10 R 90

10 I 10 R 100

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA
¬s+&ÉT <ä+&É\˝À mìï |üPdü\T+{≤jÓ÷ #Ó|üŒ>∑\yê?

SCERT, T
ELA

NGANA
¬s+&ÉT <ä+&É\˝À mìï |üPdü\T+{≤jÓ÷ #Ó|üŒ>∑\yê?¬s+&ÉT <ä+&É\˝À mìï |üPdü\T+{≤jÓ÷ #Ó|üŒ>∑\yê?

SCERT, T
ELA

NGANA
¬s+&ÉT <ä+&É\˝À mìï |üPdü\T+{≤jÓ÷ #Ó|üŒ>∑\yê?

n˝≤π> 3, 4, 5.... 10 <ä+&É\˝À mìï

SCERT, T
ELA

NGANA
n˝≤π> 3, 4, 5.... 10 <ä+&É\˝À mìï

|üPdü\T+{≤jÓ÷ #Ó|üŒ>∑\yê?.

SCERT, T
ELA

NGANA

|üPdü\T+{≤jÓ÷ #Ó|üŒ>∑\yê?.

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

düs¡fi¯ |üPdü\ <ä+&É̋ Àì |üPdü\qT …̋øÏÿ+∫ Ç˝≤ sêdæ+~.

SCERT, T
ELA

NGANA

düs¡fi¯ |üPdü\ <ä+&É̋ Àì |üPdü\qT …̋øÏÿ+∫ Ç˝≤ sêdæ+~.

7 SCERT, T
ELA

NGANA

7

8 SCERT, T
ELA

NGANA

8

10 G 10 G 10

SCERT, T
ELA

NGANA

10 G 10 G 10

10 G 10 G 10 G 10

SCERT, T
ELA

NGANA

10 G 10 G 10 G 10

10 G 10 G 10 G 10 G 10

SCERT, T
ELA

NGANA

10 G 10 G 10 G 10 G 10

10 G 10 G 10 G 10 G 10 G 10

SCERT, T
ELA

NGANA

10 G 10 G 10 G 10 G 10 G 10

10 G 10 G 10 G 10 G 10 G 10 G 10SCERT, T
ELA

NGANA

10 G 10 G 10 G 10 G 10 G 10 G 10

10 G 10 G 10 G 10 G 10 G 10 G 10 G 10SCERT, T
ELA

NGANA

10 G 10 G 10 G 10 G 10 G 10 G 10 G 10



170Free Distribution by T.S.Government  2022-23

Look at the repeated addition of 5. Write the Multiplication Table of 5.

Look at how the Multiplication Table of 2 is written. In the same  way shade the
boxes and write the Multiplication Table of 3.

Get your pupil to understand the instruction for each table. Let them write
all the tables from 1 to 11 by themselves.

Exercise

3 I 1 R 3

5

5 G 5

5 G 5 G 5

5 G 5 G 5 G 5

5 G 5 G 5 G 5 G 5

5 G 5 G 5 G 5 G 5 G 5

5 G 5 G 5 G 5 G 5 G 5 G 5

5 G 5 G 5 G 5 G 5 G 5 G 5 G 5

5 G 5 G 5 G 5 G 5 G 5 G 5 G 5 G 5

5 G 5 G 5 G 5 G 5 G 5 G 5 G 5 G 5 G 5

1 I 5 R 5

2 I 5 R 10

2 I 1 R 2

2 I 2 R 4

2 I 3 R 6

2 I 4 R 8

2 I 5 R 10

2 I 6 R 12

2 I 7 R 14

2 I 8 R 16

2 I 9 R 18

2 I 10 R 20

One five

Two fives
Three fives

Four fives

Five fives

Six fives

Seven fives

Eight fives

Nine fives

Ten fives

Table 2 Table 3
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Look at how the Multiplication Table of 2 is written. In the same  way shade the
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Look at how the Multiplication Table of 2 is written. In the same  way shade the
boxes and write the Multiplication Table of 3.
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boxes and write the Multiplication Table of 3.

5 G 5 G 5 G 5 G 5 G 5 G 5 G 5 G 5
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3 I 1 R 3

ˇø£ ◊<äT

¬s+&ÉT ◊<äT\T

eT÷&ÉT ◊<äT\T

Hê\T>∑T ◊<äT\T

◊<äT ◊<äT\T

Äs¡T ◊<äT\T

@&ÉT ◊<äT\T

mì$T~ ◊<äT\T

‘=$Tà~ ◊<äT\T

|ü~ ◊<äT\T

5

5 G 5

5 G 5 G 5

5 G 5 G 5 G 5

5 G 5 G 5 G 5 G 5

5 G 5 G 5 G 5 G 5 G 5

5 G 5 G 5 G 5 G 5 G 5 G 5

5 G 5 G 5 G 5 G 5 G 5 G 5 G 5

5 G 5 G 5 G 5 G 5 G 5 G 5 G 5 G 5

5 G 5 G 5 G 5 G 5 G 5 G 5 G 5 G 5 G 5

1 I 5 R 5

2 I 5 R 10

2e mø£ÿ+ 3e mø£ÿ+

2 I 1 R 2

2 I 2 R 4

2 I 3 R 6

2 I 4 R 8

2 I 5 R 10

2 I 6 R 12

2 I 7 R 14

2 I 8 R 16

2 I 9 R 18

2 I 10 R 20
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Write the Multiplication Table of 4.

4 I 1 R 4

4 I 2 R 8

Write the Multiplication Table of 6.

6 I 1 R 6

6 I 2 R 12

Get your pupil to understand the instruction for each table. Let them fill
all the tables by themselves.
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ELA
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Write the Multiplication Table of 6.
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Write the Multiplication Table of 6.
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4 I 1 R 4

4 I 2 R 8

6 I 1 R 6

6 I 2 R 12
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Write the Multiplication Table of 7.

7 I 1 R 7

7 I 2 R 14

Write the Multiplication Table of 9.

9 I 1 R 9

9 I 2 R 18

Get your pupils to understand the instruction for each tables. Let them
by themselves fill the tables.

SCERT, T
ELA

NGANA
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Write the Multiplication Table of 9.

SCERT, T
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Write the Multiplication Table of 9.
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7 I 1 R 7

7 I 2 R 14

9 I 1 R 9

9 I 2 R 18
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Look at the following table. Identify how table 3 has been written. In the same
manner write Table 6.

Table 2 2 4 6 8 10 12 14 16 18 20

   Table 1 1 2 3 4 5 6 7 8 9 10

   Table 3 3 6 9 12 15 18 21 24 27 30

   Table 5 5 10

   Table 1 1 2

   Table 6 6 12

Get your pupils to understand the instruction for each problem. Let them
solve the problems on their own.

Count the flowers shown below. Write their number under each flower-pot.

4

Write the Multiplication Table of ‘0’ (zero)

1   zero 1 I 0 R 0

2   zeros 2 I 0 R 0

3   zeros 3 I 0 R 0

4   zeros .........................

5   zeros .........................

6   zeros .........................

7   zeros .........................

8   zeros .........................

9   zeros .........................

10 zeros .........................

G

G
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Count the flowers shown below. Write their number under each flower-pot.
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Count the flowers shown below. Write their number under each flower-pot.
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Write the Multiplication Table of ‘0’ (zero)
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Write the Multiplication Table of ‘0’ (zero)
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  zeros
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  zeros
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  zeros
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  zeros
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6   zerosSCERT, T
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  zeros
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2 e mø£ÿ+ 2 4 6 8 10 12 14 16 18 20

1 e mø£ÿ+ 1 2 3 4 5 6 7 8 9 10
G

3 e mø£ÿ+ 3 6 9 12 15 18 21 24 27 30

5 e mø£ÿ+ 5 10

1 e mø£ÿ+ 1 2

6 e mø£ÿ+ 6 12

G

4

1 düTHêï 1 I 0 R 0

2 düTHêï\T 2 I 0 R 0

3 düTHêï\T 3 I 0 R 0

4 düTHêï\T .........................

5 düTHêï\T .........................

6 düTHêï\T .........................

7 düTHêï\T .........................

8 düTHêï\T .........................

9 düTHêï\T .........................

10 düTHêï\T .........................
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3 düTHêï\T

SCERT, T
ELA

NGANA
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Complete the Multiplication Grid.

Fill the circle by multiplying the numbers.

Get your pupils to understand the instruction for each problem. Let them
solve the problems on their own.

I 1 2 3 4 5 7 8 9 10

1

2

5

6

7

8

9

10

6

3

4

1

6

28

10

28

45

80

80

54

1 2
3

4
567

9
10

8

1 2
3

4
567

9
10
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Fill the circle by multiplying the numbers.
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Fill the circle by multiplying the numbers.

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

SCERT, T
ELA

NGANA

45

SCERT, T
ELA

NGANA

45



179

1 2
3

4
567

8

9
101 2

3

4
567

8

9
10

I 1 2 3 4 5 7 8 9 10

1

2

5

6

7

8

9

10

6

3

4

1

6

28

10

28

45

80

80

54
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